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HOW  TO  PREPARE  FOR  THE  RESONANCE FARWARD ADMISSION & SCHOLARSHIP TEST (ResoNET) - 2017

 For Class-X appearing / passed students  (Class-X to Class-XI Moving)  :

Study  thoroughly the books of Science (Physics & Chemistry) and Maths of Classes
IX & X. (NCERT & Respective Board)

 For Class-XI appearing / passed students (Class-XI to Class-XII Moving) :

1. Study thoroughly the books of Physics, Chemistry and Maths of Class XI (Respective
Board).

2. Refer to the following books (only Class-XI syllabus) to increase the level of competence:

 For Physics : Concepts of Physics by H.C. Verma Vol. I & II

 For Chemistry : NCERT Books

 For Biology : NCERT Books

 For Class-XII appearing / passed students  (Class-XII to Class-XIII Moving) :

1. Study thoroughly the books of Physics, Chemistry and Maths of Classes XI & XII
(Respective Board).

2. Refer to the following books (Class-XI & Class-XII syllabus) to increase the level of
competence :

 For Physics : Concepts of Physics by H.C. Verma Vol-I & II

 For Chemistry : Physical Chemistry By R.K. Gupta, Organic Chemistry By
Morrison & Boyd, Organic Chemistry By I. L. Finar, Inorganic Chemistry By J.D.
Lee, Objective Chemistry By Dr. P. Bahadur

 For Biology : NCERT Books
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GENERAL INSTRUCTIONS IN THE EXAMINATION HALL
(ijh{kk Hkou ds fy, lkekU; funsZ'k)

1. This booklet is your Question Paper. ¼;g iqfLrdk vkidk iz'u&i=k gS½

2. The Question Paper Code is printed on the top right corner of this sheet. ¼iz'u&i=k dksM bl i`"B

ds Åij nk;sa dksus esa Nik gqvk gS½

3. Blank papers, clip boards, log tables, slide rule, calculators, mobile or any other electronic
gadgets in any form are not allowed to be used. ¼[kkyh dkxt] fDyi cksMZ] y?kqx.kd lkj.kh] LykbM :y]

dSYdqysVj] eksckby ;k vU; fdlh bySDVªWkfud midj.k ds fdlh Hkh :i esa mi;ksx dh vkKk ugha gS½

4. Write your Name & Application Form Number  in the space provided in the bottom of this
booklet. (bl i`"B ds uhps fn;s x;s fjDr LFkku esa viuk uke o vkosnu QkWeZ la[;k vo'; Hkjs a½

5. Before  answering the paper, fill up the required details in the blank space provided in the Objective
Response Sheet (ORS). (iz'u&i=k gy djus ls igys] ORS&'khV esa fn;s x;s fjDr LFkkuks a esa iwNs x;s

fooj.kksa dks Hkjsa½

6. Do not forget to mention your paper code and Application Form Number neatly and clearly in
the blank space provided in the Objective Response Sheet (ORS) / Answer Sheet. ¼mÙkj&iqfLrdk

esa fn;s x;s fjDr LFkku esa vius iz'u&i=k dk dksM o viuk vkosnu QkWeZ la[;k Li"V :i ls Hkjuk uk Hkwysa½

7. No rough sheets will be provided by the invigilators. All the rough work is to be done in the blank
space provided in the question paper.  ¼fujh{kd ds }kjk dksbZ jQ 'khV ugha nh tk;sxhA jQ dk;Z iz'u&i=k

esa fn;s x;s [kkyh LFkku esa gh djuk gS½

8. No query related to question paper of any type is to be put to the invigilator.
¼fujh{kd ls iz'u&i=k ls lEcfU/kr fdlh izdkj dk dksbZ iz'u uk djsas½

Question Paper 
¼i z’ u&i =k½

9. Marks distribution of questions is as follows.  ¼iz'uks a ds izkIrkadks dk fooj.k fuEu izdkj ls gSA½

MA

Correct Wrong Blank 

1 to 36 37 to 72 73 to 144 145 to 180
Only one correct 

(dsoy , d fodYi  l gh)
4 -1 0

Marks to be awardedPart - A
(Chemistry)

Part - B 
(Physics)

Part - D 
(Mental ability) Type Part - C

(Biology)

MF

Correct Wrong Blank 

1 to 45 46 to 90 91 to 180
Only one correct 

(dsoy , d fodYi  l gh)
4 -1 0

Marks to be awardedPart - A 
(Chemistry)

Part - B 
(Physics)

Part - C
(Biology) Type 

MD

Correct Wrong Blank 

1 to 45 46 to 90 91 to 180
Only one correct 

(dsoy , d fodYi  l gh)
4 -1 0

Marks to be awardedPart - A 
(Chemistry)

Part - B 
(Physics)

Part - C
(Biology) Type 



Page - 4

STP1718

 

CLASS - X (CHEMISTRY)
Basic : Cooling by evaporation. Absorption of heat. All things accupy
space, possess mass. Definition of matter ; Elementary idea about
bonding.

Solid, liquid and gas : characteristics-shape, volume, density; change
of state - melting, freezing, evaporation, condensation, sublimation.

Elements, compounds and mixtures :Heterogeneous and
homogeneous mixtures; Colloids and suspension.

Mole concept : Equivalence - that x grams of A is chemically not equal
to x grams of B ; Partical nature, basic units : atoms and molecules ;
Law of constant proportions ; Atomic and molecular
masses;Relationship of mole to mass of the particles and numbers ;
Valency ; Chemical formulae of common compounds.

Atomic structure : Atoms are made up of smaller particles : electrons,
protons, and neutrons. These smaller particles are present in all the
atoms but their numbers vary in different atoms.
Isotopes and isobars.

Gradations in properties : Mendeleev periodic table.

Acids, bases and salts : General properties, examples and uses.
Types of chemical reactions : Combination, decomposition,
displacement, double displacement, precipitation, neutralisation,
oxidation and reduction in terms of gain and loss of oxygen and
hydrogen.

Extractive metallurgy : Properties of common metals ; Brief discussion
of basic metallurgical processes.

Compounds of Carbon : Carbon compounds ; Elementary idea about
bonding ; Saturated hydrocarbons, alcohols, carboxylic acids  (no
preparation, only properties).Soap - cleansing action of soap.

CLASS - X (BIOLOGY)
Nutrition in plants & Animals, Respiration in plants & Animals, Excretion
in plants & Animals, Transportation in plants & Animals, Genetics
(Heredity & Variation), Evolution, Ecology (our environment), Natural
resources, Reproduction in plants & Animals.

CLASS - X (PHYSICS)
Mechanics : Uniform and non-uniform motion along a straight line ;
Concept of distance and displacement, Speed and velocity, accelaration
and relation ship between these ; Distance-time and velcocity - time
graphs.
Newton’s Law of motion ; Relationship between mass, momentum,
force and accelaration ; work done by a force ; Law of conservation
of energy.
Law of gravitation ; acceleration due to gravity.
Electricity and magnetism : Ohm’s law ; Series and parallel combi-
nation of resistances ; Heating effect of current.

Magnetic field near a current carrying straight wire, along the axis of a
circular coil and inside a solenoid ; Force on current carrying conduc-
tor ; Fleming’s left hand rule ; Working of electric motor ; Induced
potential difference and current

Electric generator : Principle and working ; Comparision of AC and
DC ; Domestic electric circuits.

Optics :  Rectilinear propagation of light ; Basic idea of concave mir-
ror and convex lens ; Laws of refraction  ; Dispersion.

CLASS - XI (CHEMISTRY)
Some Basic Concepts of Chemistry : Particulate nature of matter,
laws of chemical combination, Dalton’s atomic theory : concept of
elements, atoms and molecules.
Atomic and molecular masses. Mole concept and molar mass ;
percentage composition and empirical and molecular formula ; chemical
reactions, stoichiometry and calculations based on stoichiometry.
Structure of Atom : Discovery of electron, proton and neutron ;
atomic number, isotopes and isobars.
Thompson’s model and its limitations, Rutherford’s model and its
limitations, concept of shells and sub-shells, dual nature of matter and
light, de Broglie’s relationship, Heisenberg uncertainty principle, concept
of orbitals, quantum numbers, shapes of s, p, and d orbitals, rules for
filling electrons in orbitals - Aufbau principle, Pauli exclusion principle
and Hund’s rule, electronic configuration of atoms, stability of half filled
and completely filleld orbitals.

Classification of Elements and Periodicity in Properties :
Significance of classification, brief history of the development of periodic
table, trends in properties of elements - atomic radii, ionic radii, inert
gas radii, ionization enthalpy, electron gain enthalpy, electronegativity,
valence.

Chemical Bonding and Molecular Structure :
Valence electrons, ionic bond, covalent bond, bond parameters, Lewis
structure, polar character of covalent bond, covalent character of
ionic bond, valence bond theory, resonance, geometry of covalent
molecules, VSEPR theory, concept of hybridization involving s, p and d
orbitals and shapes of some simple molecules,
molecular orbital theory of homonuclear diatomic molecules (qualitative
idea only), hydrogen bond.

States of Matter : Gases and Liquids :
Three states of matter, intermolecular interactions, type of bonding,
melting and boiling points, role of gas laws in elucidating the concept of
the molecule, Boyle’s law, Charles’ law, Gay Lussac’s law, Avogadro’s
law, ideal behavior, empirical derivation of gas equation, Avogadro’s
number ideal gas equation, deviation from ideal behaviour, Liquefac-
tion of gases, critical temperature.
Liquid State - Vapour pressure, viscosity and surface tension
(qualitative idea only, no mathematical derivations)
Thermodynamics :
Concepts of system, types of systems, surroundings, work, heat,
energy, extensive and intensive properties, state functions.
First law of thermodynamics - internal energy and enthalpy, heat ca-
pacity and specific heat, measurement of U and H, Hess’s law of
constant heat summation, enthalpy of bond dissociation,
combustion, formation, atomization sublimation, phase transition, ion-
ization, and dilution.
Introduction of entropy as a state function, free energy change for
spontaneous and non-spontaneous process, equilibrium.

Equilibrium : Equilibrium in physical and chemical processes,
dynamic nature of equilibrium, law of mass action, equilibrium
constant, factors affecting equilibrium - Le Chatelier’s principle ; ionic
equilibrium - ionization of acids and bases, strong and weak electro-
lytes, degree of ionization concept of pH. Hydrolysis of Salts (elemen-
tary idea), buffer solutions, solubility product, common ion effect (with
illustrative examples).

Redox Reactions : Concept of oxidation and reduction, redox reac-
tions,
oxidation number, balancing redox reactions, applications of redox
reaction.

Syllabus of  ResoNET-2017
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Hydrogen : Position of hydrogen in periodic table, occurrence, iso-
topes, preparation, properties and uses of hydrogen ; hydrides - ionic,
covalent and interstitial ; physical and chemical properties of water,
heavy water ; hydrogen peroxide - preparation, reactions and struc-
ture ; hydrogen as a fuel.

s-Block Elements (Alkali and Alkaline Earth Metals) :
Group 1 and Group 2 elements :
General introduction, electronic configuration, occurrence, anomalous
properties of the first element of each group, diagonal relationship,
trends in the variation of properties (such as ionization enthalpy, atomic
and ionic radii), trends in chemical reactivity with oxygen, water, hy-
drogen and halogens ; uses.

Preparation and properties of some important compounds
Sodium carbonate, sodium chloride, sodium hydroxide and sodium
hydrogen carbonate
CaO, CaCO3, and industrial use of lime and limestone, Ca.

General Introduction to p-Block Elements :
Group 13 elements : General introduction, electronic configuration,
occurrence, variation of properties, oxidation states, trends in chemi-
cal reactivity, anomalous properties of first element of the group ;
Boron - physical and chemical properties, some important compounds
; borax,  boric acids, boron hydrides. Aluminium : uses, reactions with
acids and alkalies.
Group 14 elements ; General introduction, electronic configuration,
occurrence, variation of properties, oxidation states, trends in chemi-
cal reactivity, anomalous behaviour of first element. Carbon - catena-
tion, allotropic forms, physical and chemical propeties ; uses of some
important compounds : oxides.
Important compounds of silicon and a few uses : silicon tetrachloride,
silicones, silicates and zeolites.

Principles of qualitative analysis : Determinantion of one anion and
one cation in a given salt
Cations - Pb2 + , Cu2+, As3+, Al3+, Fe3+, Mn2+, Ni2 +, Zn2+, Co2+, Ca2+, Sr2+,

Ba2+, Mg2+, 
4NH

Anions - ,NO,SO,SO,S,CO –
2

–2
4

–2
3

–2–2
3

–
3

–2
42

–3
4

––––
3

–
3 COOCHOC,PO,,Br,Cl,NO,NO 

(Note : Insoluble salts excluded)

Organic chemistry - Some Basic Principles and Techniques
General introduction, methods of purif ication, qualitative and
quantitative analysis, classif ication and IUPAC nomenclature of
organic compounds.
Electronic displacements in a covalent bond : free radicals, carbocations,
carbanions ; electrophiles and nucleophiles, types of organic reactions

Classification of Hydrocarbons : Alkanes : Nomenclature,
isomerism, conformations (ethane only), physical propeties,
chemical reactions including free radical mechanism of
halogenation, combustion and pyrolysis.

Alkenes : Nomenclatures, structure of double bond (ethene),
geometrical isomerism, physical properties, methods of preparation ;
chemical reactions : addition of hydrogen, halogen, water, hydrogen
halides (Markovnikov’s addition and peroxide ef fect),
ozonolysis, oxidation, mechanism of electrophilic addition.
Alkynes : Nomenclature, structure of triple bond (ethyne), physical
properties, methods of preparation, chemical reactions : acidic
character of alkynes, addition reaction of - hydrogen, halogens, hy-
drogen halides and water.

Aromatic hydrocarbons : Introduction, IUPAC nomenclature ;
Benzene : resonance, aromaticity ; chemical properties : mechanism
of electrophilic substitution - nitration sulphonation, halogenation, Friedel
Craft’s alkylation and acylation ; directive influence of functional group
in mono-substituted benzene ; carcinogenicity and toxicity.

CLASS - XI (BIOLOGY)
Zoology:
Living world , Animal kingdom, Structural Organisation in Animals ,
Biomolecules, Digestion & Absorption, Breathing & Exchange of gases
Body Fluids and Circulation, Excretory products and their Elimination,
Locomotion and Movement , Neural control and coordination, Chemical
coordination and Integration

Botany:
Biological Classification–Kingdom – Monera, Protista, Fungi, Virus, Plant
Kingdom– Algae, Bryophytes, Pteridophytes, Gymnosperms, An-
giosperms, Plant Morphology - Root , Stem , leaves, Inflorescence ,
Flower , Fruit,  Seed. Families - Solanaceae, Liliaceae , Fabaceae,
Plant Anatomy - Anatomy of Tissues, Tissue system , Anatomy of Root
, Stem , Leaves, Secondary Growth, Cell Biology — Cell Structure &
Functions , Cell Division, Plant Physiology — Transport in Plants , Min-
eral nutrition , Respiration , Photosynthesis , Plant growth & develop-
ment .

CLASS - XI (PHYSICS)
General : Units and dimensions, dimensional analysis; least count,
significant figures; Methods of measurement and error analysis for
physical quantities pertaining to the following experiments: Experi-
ments based on using Vernier calipers and screw gauge (microme-
ter), Determination of g using simple pendulum, Young’s modulus by
Searle’s method.

Mechanics : Kinematics in one and two dimensions (Cartesian
coordinates only), projectiles; Uniform Circular motion; Relative
velocity.

Newton’s laws of motion; Inertial and uniformly accelerated frames of
reference; Static and  dynamic friction; Kinetic and potential energy;
Work and power; Conservation of linear momentum and mechanical
energy.

Systems of particles; Centre of mass and its motion; Impulse; Elastic
and inelastic collisions.

Law of gravitation; Gravitational potential and field; Acceleration due to
gravity; Motion of planets and satellites in circular orbits; Escape ve-
locity.

Rigid body, moment of inertia, parallel and perpendicular axes
theorems, moment of  inertia of uniform bodies with simple
geometrical shapes; Angular momentum; Torque; Conservation of an-
gular momentum; Dynamics of rigid bodies with f ixed axis of
rotation; Rolling without slipping of rings, cylinders and spheres; Equi-
librium of rigid bodies; Collision of point masses with rigid bodies.

Linear and angular simple harmonic motions.

Hooke’s law, Young’s modulus.

Pressure in a fluid; Pascal’s law; Buoyancy; Surface energy and sur-
face tension, capil lary rise; Viscosity (Poiseuille’s equation
excluded), Stoke’s law; Terminal velocity, Streamline flow, equation of
continuity, Bernoulli’s theorem and its applications.

Waves : W ave motion (plane waves only), longitudinal and
transverse waves, superposition of waves; Progressive and station-
ary waves; Vibration of strings and air columns;Resonance; Beats;
Speed of sound in gases; Doppler effect (in sound).

Thermal physics : Thermal expansion of solids, liquids and gases;
Calorimetry, latent heat; Heat conduction in one dimension; Elementary
concepts of convection and radiation; Newton’s law of cooling; Ideal
gas laws; Specific heats (Cv and Cp for monoatomic and diatomic
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gases); Isothermal and adiabatic processes, bulk modulus of gases;
Equivalence of heat and work; First law of thermodynamics and its
applications (only for ideal gases);  Blackbody radiation: absorptive
and emissive powers; Kirchhoff ’s law; W ien’s displacement law,
Stefan’s law.

CLASS - XII (CHEMISTRY)
Physical Chemistry
General topics : Concept of atoms and molecules; Dalton’s atomic
theory; Mole concept; Chemical formulae; Balanced chemical equations;
Calculations (based on mole concept) involving common oxidation-
reduction, neutralisation, and displacement reactions; Concentration in
terms of mole fraction, molarity, molality and normality.

Gaseous and liquid states : Absolute scale of temperature, ideal
gas equation; Deviation from ideality, van der Waals equation; Kinetic
theory of gases, average, root mean square and most probable
velocities and their relation with temperature; Law of partial pressures;
Vapour pressure; Diffusion of gases.
Atomic structure and chemical bonding :  Bohr model, spectrum
of hydrogen atom, quantum numbers; Wave-particle duality, de Broglie
hypothesis; Uncertainty principle; Qualitative quantum mechanical
picture of hydrogen atom, shapes of s, p and d orbitals; Electronic
configurations of elements (up to atomic number 36); Aufbau principle;
Pauli’s exclusion principle and Hund’s rule; Orbital overlap and covalent
bond; Hybridisation involving s, p and d orbitals only; Orbital energy
diagrams for homonuclear diatomic species;  Hydrogen bond; Polarity
in molecules, dipole moment (qualitative aspects only); VSEPR model
and shapes of molecules (linear, angular, triangular, square planar,
pyramidal, square pyramidal, trigonal bipyramidal, tetrahedral and
octahedral).

Energetics : First law of thermodynamics; Internal energy, work and
heat, pressure-volume work; Enthalpy, Hess’s law; Heat of reaction,
fusion and vapourization; Second law of thermodynamics; Entropy;
Free energy; Criterion of spontaneity.

Chemical equilibrium :  Law of mass action; Equilibrium constant,
Le Chatelier’s principle
(effect of concentration, temperature and pressure); Significance of
G and Go in chemical equilibrium; Solubility product, common ion
effect, pH and buffer solutions;  Acids and bases (Bronsted and Lewis
concepts); Hydrolysis of salts.

Electrochemistry : Electrochemical cells and cell reactions; Standard
electrode potentials; Nernst equation and its relation to DG;
Electrochemical series, emf of galvanic cells; Faraday’s laws of
electrolysis; Electrolytic conductance, specific, equivalent and molar
conductivity, Kohlrausch’s law; Concentration cells.

Chemical kinetics :  Rates of chemical reactions; Order of reactions;
Rate constant; First order reactions; Temperature dependence of rate
constant (Arrhenius equation).

Solid state : Classification of solids, crystalline state, seven crystal
systems (cell parameters a, b, c,  ), close packed structure of solids
(cubic), packing in fcc, bcc and hcp lattices; Nearest neighbours, ionic
radii, simple ionic compounds, point defects.

Solutions : Raoult’s law; Molecular weight determination from lowering
of vapour pressure, elevation of boiling point and depression of freezing
point.

Surface chemistry :  Elementary concepts of adsorption (excluding
adsorption isotherms); Colloids: types, methods of preparation and
general properties; Elementary ideas of emulsions, surfactants and
micelles (only definitions and examples).

Nuclear chemistry :  Radioactivity: isotopes and isobars; Properties
of  rays; Kinetics of radioactive decay (decay series excluded), carbon
dating; Stability of nuclei with respect to proton-neutron ratio; Brief
discussion on fission and fusion reactions.

Inorganic Chemistry

Isolation/preparation and properties of the following non-
metals : Boron, silicon, nitrogen, phosphorus, oxygen, sulphur and
halogens; Properties of allotropes of carbon
(only diamond and graphite), phosphorus and sulphur.

Preparation and properties of the following compounds :
Oxides, peroxides, hydroxides, carbonates, bicarbonates, chlorides
and sulphates of sodium, potassium, magnesium and calcium; Boron:
diborane, boric acid and borax; Aluminium: alumina, aluminium chloride
and alums; Carbon: oxides and oxyacid (carbonic acid); Silicon:
silicones, silicates and silicon carbide;  Nitrogen: oxides, oxyacids and
ammonia; Phosphorus: oxides, oxyacids (phosphorus acid, phosphoric
acid) and phosphine; Oxygen: ozone and hydrogen peroxide; Sulphur:
hydrogen sulphide, oxides, sulphurous acid, sulphuric acid and sodium
thiosulphate; Halogens: hydrohalic acids, oxides and oxyacids of
chlorine, bleaching powder; Xenon fluorides.

Transition elements (3d series) : Definition, general characteristics,
oxidation states and their stabilities, colour (excluding the details of
electronic transitions) and calculation of spin (only magnetic moment),
Coordination compounds: nomenclature of mononuclear coordination
compounds, cis-trans and ionisation isomerisms, hybridization and
geometries of mononuclear coordination compounds (linear, tetrahedral,
square planar and octahedral).

Preparation and properties of the following compounds :
Oxides and chlorides of tin and lead; Oxides, chlorides and sulphates
of Fe2+, Cu2+ and Zn2+; Potassium permanganate, potassium dichromate,
silver oxide, silver nitrate, silver thiosulphate.

Ores and minerals : Commonly occurring ores and minerals of iron,
copper, tin, lead, magnesium, aluminium, zinc and silver.

Extractive metallurgy : Chemical principles and reactions only
(industrial details excluded); Carbon reduction method (iron and tin);
Self reduction method (copper and lead); Electrolytic reduction method
(magnesium and aluminium); Cyanide process (silver and gold).

Principles of qualitative analysis : Groups I to V (only Ag+, Hg2+,
Cu2+, Pb2+, Bi3+, Fe3+, Cr3+,  Al3+, Ca2+, Ba2+, Zn2+, Mn2+ and Mg2+); Nitrate,
halides (excluding fluoride), sulphate and sulphide.

Organic Chemistry

Concepts : Hybridisation of carbon; Sigma and pi-bonds; Shapes of
simple organic molecules; Structural and geometrical isomerism;  Optical
isomerism of compounds containing up to two asymmetric centres,
(R,S and E,Z nomenclature excluded); IUPAC nomenclature of simple
organic compounds (only hydrocarbons, mono-functional and bi-
functional compounds); Conformations of ethane and butane (Newman
projections); Resonance and hyperconjugation; Keto-enol tautomerism;
Determination of empirical and molecular formulae of simple compounds
(only combustion method); Hydrogen bonds: definition and their effects
on physical properties of alcohols and carboxylic acids; Inductive and
resonance effects on acidity and basicity of organic acids and bases;
Polarity and inductive effects in alkyl halides; Reactive intermediates
produced during homolytic and heterolytic bond cleavage;  Formation,
structure and stability of carbocations, carbanions and free radicals.
Preparation, properties and reactions of alkanes : Homologous
series, physical properties of alkanes (melting points, boiling points
and density); Combustion and halogenation of alkanes; Preparation of
alkanes by Wurtz reaction and decarboxylation reactions.



Page - 7

STP1718

 

Preparation, properties and reactions of alkenes and alkynes
: Physical properties of alkenes and alkynes (boiling points, density
and dipole moments); Acidity of alkynes; Acid catalysed hydration of
alkenes and alkynes (excluding the stereochemistry of addition and
elimination); Reactions of alkenes with KMnO4 and ozone; Reduction of
alkenes and alkynes; Preparation of alkenes and alkynes by elimination
reactions; Electrophilic addition reactions of alkenes with X2, HX, HOX
and H2O (X=halogen);  Addition reactions of alkynes; Metal acetylides.
Reactions of Benzene : Structure and aromaticity; Electrophilic
substitution reactions: halogenation, nitration, sulphonation, Friedel-
Crafts alkylation and acylation; Effect of ortho, meta and para directing
groups in monosubstituted benzenes.

Phenols : Acidity, electrophilic substitution reactions (halogenation,
nitration and sulphonation); Reimer-Tieman reaction, Kolbe reaction.

Characteristic reactions of the following (including those
mentioned above):
 Alkyl halides: rearrangement reactions of alkyl carbocation, Grignard
reactions,  nucleophilic substitution reactions;  Alcohols: esterification,
dehydration and oxidation, reaction with sodium, phosphorus halides,
ZnCl2/concentrated HCl, conversion of alcohols into aldehydes and
ketones; Ethers:Preparation by Williamson’s  Synthesis; Aldehydes
and Ketones: oxidation, reduction, oxime and hydrazone formation;
aldol condensation, Perkin reaction; Cannizzaro reaction; haloform
reaction and nucleophilic addition reactions (Grignard addition);
Carboxylic acids: formation of esters, acid chlorides and amides,
ester hydrolysis; Amines: basicity of substituted anilines and aliphatic
amines, preparation from nitro compounds, reaction with nitrous acid,
azo coupling reaction of diazonium salts of aromatic amines, Sandmeyer
and related reactions of diazonium salts; carbylamine reaction;
Haloarenes: nucleophilic aromatic substitution in haloarenes and
substituted haloarenes (excluding Benzyne mechanism and Cine
substitution).

Carbohydrates: Classification; mono- and di-saccharides (glucose
and sucrose); Oxidation, reduction, glycoside formation and hydrolysis
of sucrose.

Amino acids and peptides : General structure (only primary structure
for peptides) and physical properties.

Properties and uses of some important polymers : Natural
rubber, cellulose, nylon, teflon and PVC.

Practical organic chemistry : Detection of elements (N, S, halogens);
Detection and identification of the following functional groups: hydroxyl
(alcoholic and phenolic), carbonyl (aldehyde and ketone), carboxyl,
amino and nitro; Chemical methods of separation of mono-functional
organic compounds from binary mixtures.

CLASS - XII (BIOLOGY)
Zoology:
Animal Reproduction – Human Reproduction, Reproductive Health ,
Evolution , Biology in Human Welfare–Human health and disease, Drug
& Alcohol abuse, Medical Diagnostic technique , Biology in Human
Welfare–Strategies for Enhancement in Food production  ,  Microbes in
human welfare, Living world , Animal kingdom , Structural Organisation
in Animals , Biomolecules, Digestion & Absorption, Breathing & Ex-
change of gases, Body Fluids and Circulation, Excretory products and
their Elimination, Locomotion and Movement , Neural control and coor-
dination, Chemical coordination and Integration.

Botany:
Reproduction  in Flowering plants. Genetics – Heredity and variations.
Genetics – Molecular basis of inheritance, Application Biology– Plant
Breeding, Biotechnology Principles, Processes, applications, Ecology–
Organism & its Environment  , Ecosystem, Ecology–Environmental is-
sues , Biodiversity & Conservation, Biological Classification–Kingdom
– Monera, Protista, Fungi, Virus, Plant Kingdom– Algae, Bryophytes,
Pteridophytes, Gymnosperms, Angiosperms, Plant Morphology - Root ,
Stem , leaves, Inflorescence , Flower , Fruit,  Seed. Families - Solan-
aceae, Liliaceae , Fabaceae,  Plant Anatomy - Anatomy of Tissues,
Tissue system , Anatomy of Root , Stem , Leaves, Secondary Growth
, Cell Biology — Cell Structure & Functions , Cell Division, Plant Physiol-
ogy — Transport in Plants , Mineral nutrition,  Respiration , Photosyn-
thesis , Plant growth & development.

CLASS - XII (PHYSICS)
General : Units and dimensions, dimensional analysis; least count,
significant figures; Methods of measurement and error analysis for
physical quantities pertaining to the following experiments: Experi-
ments based on using Vernier calipers and screw gauge (microme-
ter), Determination of g using simple pendulum, Young’s modulus by
Searle’s method, Specific heat of a liquid using calorimeter, focal length
of a concave mirror and a convex lens using u-v method, Speed of
sound using resonance column, Verification of Ohm’s law using volt-
meter and ammeter, and specific resistance of the material of a wire
using meter bridge and post office box.

Mechanics : Kinematics in one and two dimensions (Cartesian coor-
dinates only), Projectile Motion; Uniform Circular Motion; Relative Ve-
locity.

Newton’s laws of motion; Inertial and uniformly accelerated frames of
reference; Static and  dynamic friction; Kinetic and potential energy;
Work and power; Conservation of linear momentum and mechanical
energy.

Systems of particles; Centre of mass and its motion; Impulse; Elastic
and inelastic collisions.
Law of gravitation; Gravitational potential and field; Acceleration due to
gravity; Motion of planets and satellites in circular orbits; Escape
velocity.

Rigid body, moment of inertia, parallel and perpendicular axes
theorems, moment of inertia of uniform bodies with simple geometrical
shapes; Angular momentum; Torque; Conservation of angular momen-
tum; Dynamics of rigid bodies with fixed axis of rotation; Rolling with-
out slipping of rings, cylinders and spheres; Equilibrium of rigid bodies;
Collision of point masses with rigid bodies.

Linear and angular simple harmonic motions.

Hooke’s law, Young’s modulus.

Pressure in a fluid; Pascal’s law; Buoyancy; Surface energy and sur-
face tension, capillary rise; Viscosity (Poiseuille’s equation excluded),
Stoke’s law; Terminal velocity, Streamline flow, equation of continuity,
Bernoulli’s theorem and its applications.
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Waves : Wave motion (plane waves only), longitudinal and transverse
waves, superposition of waves; Progressive and stationary waves;
Vibration of strings and air columns;Resonance; Beats; Speed of sound
in gases; Doppler effect (in sound).

Thermal physics : Thermal expansion of solids, liquids and gases;
Calorimetry, latent heat; Heat conduction in one dimension; Elementary
concepts of convection and radiation; Newton’s law of cooling; Ideal
gas laws; Specific heats (Cv and Cp for monoatomic and diatomic
gases); Isothermal and adiabatic processes, bulk modulus of gases;
Equivalence of heat and work; First law of thermodynamics and its
applications (only for ideal gases);  Blackbody radiation: absorptive
and emissive powers; Kirchhoff ’s law; W ien’s displacement law,
Stefan’s law.

Electricity and magnetism : Coulomb’s law; Electric field and poten-
tial; Electrical potential energy of a system of point charges and of
electrical dipoles in a uniform electrostatic field; Electric field lines; Flux
of electric field; Gauss’s law and its application in simple cases, such
as, to find field due to infinitely long straight wire, uniformly charged
infinite plane sheet and uniformly charged thin spherical shell.

Capacitance; Parallel plate capacitor with and without dielectrics; Ca-
pacitors in series and parallel; Energy stored in a capacitor.

Electric current; Ohm’s law; Series and parallel arrangements of resis-
tances and cells; Kirchhoff’s laws and simple applications; Heating
effect of current.

Biot–Savart’s law and Ampere’s law; Magnetic field near a current-
carrying straight wire, along the axis of a circular coil and inside a long
straight solenoid; Force on a moving charge and on a current-carrying
wire in a uniform magnetic field.
Magnetic moment of a current loop; Effect of a uniform magnetic field
on a current loop; Moving coil galvano- meter, voltmeter, ammeter and
their conversions.
Electromagnetic induction: Faraday’s law, Lenz’s law; Self and mutual
inductance; RC, LR and LC circuits with d.c. and a.c. sources.

Optics: Rectilinear propagation of light; Reflection and refraction at
plane and spherical surfaces; Total internal reflection; Deviation and
dispersion of light by a prism; Thin lenses; Combinations of mirrors and
thin lenses; Magnification.

Wave nature of light: Huygen’s principle, interference limited to Young’s
double-slit experiment.

Modern physics : Atomic nucleus; Alpha, beta and gamma radia-
tions; Law of radioactive decay;  Decay constant; Half-life and mean
life; Binding energy and its calculation; Fission and fusion processes;
Energy calculation in these processes.

Photoelectric effect; Bohr’s theory of hydrogen-like atoms; Character-
istic and continuous X-rays, Moseley’s law; de Broglie wavelength of
matter waves.
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SAMPLE TEST PAPER -I
(For Class-X Appearing / Passed Students)

Course : SAKSHAM (MA)

Correct Wrong Blank 

1 to 36 37 to 72 73 to 144 145 to 180
Only one correct 

(dsoy ,d fodYi  l gh)
4 -1 0

Marks to be awardedPart - A 
(Chemistry)

Part - B 
(Physics)

Part - D 
(Mental ability) Type Part - C 

(Biology)

PART - A
Atomic masses (ijek.kq Hkkj) : [H = 1, D = 2, Li = 7, C = 12, N = 14, O = 16, F = 19, Na = 23, Mg = 24,
Al = 27, Si = 28, P = 31, S = 32, Cl = 35.5,  K = 39, Ca = 40, Cr = 52,  Mn = 55, Fe = 56, Cu = 63.5,
Zn = 65, As = 75, Br = 80, Ag = 108, I = 127,  Ba = 137, Hg = 200, Pb = 207]

Straight Objective Type
This section contains 36 multiple choice questions. Each question has 4 choices (1), (2), (3) and
(4) for its answer, out of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj

bl [k.M esa 36 cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (1), (2), (3) rFkk (4) gSa] ftuesa ls flQZ ,d lgh gSA

1. Which of the following equation is not  correctly balanced ?

fuEu esa ls dkSulh lehdj.k lgh lUrqfyr ugha gS ?

(1) Cu + 2 Ag+  Cu2+ + 2 Ag (2) Zn + Cu2+  Zn2+ + Cu
(3) Al + 2H+  Al3+ + H2 (4) Br2 + 2 I–  2 Br – + I2

2. In the reaction, Br2 + 2I–  2 Br– + I2 , the oxidizing agent is

vfHkfØ;k Br2 + 2I–  2 Br– + I2 esa vkWDlhdkjd gS

(1) Br2 (2) I – (3) Br – (4) I2 

3. In the reaction 2 H2S + SO2  3 S + 2 H2O

2 H2S + SO2  3 S + 2 H2O vfHkfØ;k esa

(1) H2S has been oxidized (2) SO2 has been oxidized
(3) H2S is the oxidizing agent (4) SO2 is the reducing agent

(1) H2S vkWDlhd`r gksxk (2) SO2 vkWDlhd`r gksxk

(3) H2S vkWDlhdkjh vfHkdeZd gksrk gS (4) SO2 vipk;d vfHkdeZd gksrk gS

4. Which of the following reaction is a redox reaction as well as displacement reaction ?

fuEu esa ls dkSulh vfHkfØ;k jsMkDl vfHkfØ;k ds lkFk&lkFk foLFkkiu vfHkfØ;k gksrh gS ?

(1) 2 HgCl2 + SnCl2  Hg2Cl2 + SnCl4 (2) ZnO + C  Zn + CO

(3) 2 Al  + 6 HCl  2 AlCl3 + 3 H2 (4) H2S + Cl2  2 HCl + S

5. Galvanisation of iron means coating iron with

(1) Chromium (2) Nickel (3) Zinc (4) Tin

vk;ju dk xsYohuhdj.k dk vFkZ fuEu ds lkFk vk;ju dk ysiu gS

(1) Øksfe;e (2) fudy (3) ftad (4) fVu



RESONANCE Page # 10Page # 10

STPXI1718

 

6. Which of the following metal is protected by a layer of its oxide ?

(1) Copper (2) Silver (3) Iron (4) Aluminium

fuEu esa ls dkSulh /kkrq blds vkWDlkbMksa dh ijr }kjk lajf{kr dh tkrh gS \

(1) dkWij (2) flYoj (3) vk;ju (4) ,Y;qfefu;e

7. A solution turns red litums blue, its pH is likely to be

,d foy;u yky fyVel dks uhyk dj nsrk gS rks bldh pH yxHkx gksxh

(1) 1 (2) 4 (3) 5 (4) 10

8. A solution reacts with crushed egg-shells to give a gas that turns lime water milky. The solution contains.

fils gq;s v.M dop ds lkFk ,d foy;u fØ;k djds ,d xSl nsrk gS tks pwus ds ikuh dks nwf/k;k dj nsrh gS foy;u fuEu

;qDr gSA

(1) NaCl (2) HCl (3) LiCl (4) KCl

9. Which one of the following types of medicines is used for treating indigestion ?
(1) Antibiotic (2) Analgesic (3) Antacid (4) Antiseptic

fuEu esa ls dkSulh vkS"k/kh vikpu ds mipkj ds fy;s mi;ksxh gksrh gS ?

(1) izfrtSfod (2) ihM+kgkjh (3) izfrvEy (4) iwfrZjks/kh

10. Which one of the following will turn red litum blue?
(1) Vinegar (2) Baking soda solution
(3) Lemon juice (4) Soft drinks

fuEu esa ls dkSulk ,d yky fyVel dks uhyk dj nsrk gS

(1) fljdk (2) cSfdax lksMk foy;u

(3) uhcw dk jl (4) e`nq is;

11. Lime water is :

pwus dk ikuh gS %

(1) CaO (2) Ca(OH)2 (3) CaCO3 (4) CaCl2

12. Which of the following will not give H+ ions in aqueous solution ?

fuEu esa ls dkSulk tyh; foy;u esa H+ vk;u ugha nsxk \

(1) H2CO3 (2) (COOH)2 (3) C2H5OH (4) CH3COOH

13. Which one of the following is a weak acid ?

fuEu esa ls dkSulk ,d nqcZy vEy gS ?
(1) HCl (2) H2CO3 (3) H2SO4 (4) HNO3

14. Solutions A, B, C and D have pH 5, 7, 9 and 11. The solution with highest basic strength is :

A, B, C rFkk D dh pH 5, 7, 9 rFkk 11 gSA mPprj {kkjh; lkeF;Z okyk foy;u fuEu gS %

(1)  A (2) B (3) C (4) D



RESONANCE Page # 11Page # 11

STPXI1718

 

15. Lemon juice and coffee are
(1) Both acidic (2) Both basic
(3) Lemon juice is acidic, coffee is basic (4) Lemon juice is basic, coffee is acidic.
uhcw dk jl rFkk dkWQh gS %

(1) nksuksa vEyh;A (2) nksuksa {kkjh;A

(3) uhcw dk jl vEyh;] dkWQh {kkjh; gksrh gSA (4) uhcw dk jl {kkjh;] dkWQh vEyh; gksrh gSA

16. The soil for healthy growth of plants should be
(1) Highly acidic (2) Highly alkaline
(3) Neither alkaline not highly acidic (4) Neither acidic nor highly alkaline.
ikS/ks dh LoLFk o`f) ds fy;s feV~Vh gksuh pkfg,

(1) mPp vEyh; (2) mPp {kkjh;

(3) uk rks {kkjh; vkSj uk gh mPp vEyh; (4) uk rks vEyh; vkSj uk gh mPp {kkjh;

17. Which of the following correctly represents the molecular formula of washing soda?
fuEu esa ls dkSulk /kkou lksM+k ds lw=k dk lgh izn'kZu gS \

(1) Na2CO3 (2) Na2CO3.H2O (3) Na2CO3.5H2O (4) Na2CO3.10 H2O

18. Which of the following statement is not correct ?
(1) All metals are solids at room temperature
(2) All metals are good conductor of heat and electricity.
(3) All metals from basic oxides
(4) All metals possess lustre when freshly prepared.
fuEu esa ls dkSulk dFku lgh ugha gS ?

(1) lHkh /kkrq,as dejs ds rki ij Bksl gksrh gSA

(2) lHkh /kkrq,as Å"ek rFkk fo|qr dh vPNh pkyd gksrh gSaA

(3) lHkh /kkrq,as {kkjh; vkWDlkbM cukrh gSA

(4) lHkh /kkrq,sa ped crkrh gS tc rktk cuh gksrh gSA

19. The best conductor of electricity is

(1) Copper (2) Aluminium (3) Silver (4) All are equal

fo|qr dk lcls vPNk pkyd gS %

(1) dkWij (2) ,Y;wfefu;e (3) flYoj (4) lHkh leku gS

20. Which of the following metal will not displace H2
 gas from dilute H2SO4.

(1) Zinc (2) Iron (3) Copper (4) Aluminium

fuEu esa ls dkSulh /kkrq ruq H2SO4 ls H2 xSl dks foLFkkfir ugha djsxh

(1) ftad (2) vk;ju (3) dkWij (4) ,Y;qfefu;e

21. Which of the following is an ore of iron ?

(1) Haematite (2) Galena (3) Bauxite (4) Cinnabar

fuEu esa ls dkSulk yksgs dk v;Ld gS ?

(1) gsesVkbV (2) xsysuk (3) ckDlkbV (4) flusckj
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22. Which of the following metals is protected from oxygen and moisture by immersing in kerosene oil?

(1) potassium (2) magnesium (3) aluminium (4) silver

dsjksflu vkW;y esa Mqcksdj vknzrk o vkWDlhtu ls fuEu esa ls fdl /kkrq dk laj{k.k fd;k tkrk gS \

(1) iksVsf'k;e (2) eSXuhf'k;e (3) ,Y;wfefu;e (4) flYoj

23. For making jewellery, gold is mixed with

ToSyjh fuekZ.k ds fy, fuEu ds lkFk lksus dks feyk;k tkrk gS %

(1) Fe (2) Cu (3) Ag (4) (2) or (3)

24. Rust is hydrated ............ :

(1) aluminium oxide (2) copper oxide (3) iron oxide (4) silica

tax ty;ksftr ........... gksrk gS  %

(1) ,Y;wfefu;e vkWDlkbM (2) dkWij vkWDlkbM (3) vk;ju vkWDlkbM (4) flfydk

25. Which of the following does not conduct electricity

(1) fused NaCl (2) solid NaCl (3) brine solution (4) copper

fuEu esa ls fdlesa fo|qr dk pkyu ugha gksrk gS

(1) laxfyr NaCl (2) Bksl NaCl (3) yo.kty foy;u (4) dkWij

26. Benzene with molecular formula, C6H6 has

(1) 6 single bonds and 6 double bonds (2) 12 single bonds and 3 double bonds

(3) 18 single bonds only (4) 12 double bonds only

v.kqlw=k C6H6 ds lkFk csUthu fuEu j[krk gS

(1) 6 ,dy ca/k rFkk 6 f}ca/k (2) 12 ,dy ca/k rFkk 3 f}ca/k

(3) dsoy 18 ,dy ca/k (4) dsoy 12 f}ca/k

27. The functional group in methanol and methanal respectively are

esFksukWy rFkk eSFksusy esa fØ;kRed lewg Øe'k% gS %

(1) –OH, –CHO (2) –CHO, –OH

(3) –OH, –COOH (4) –CHO, –COOH

28. Carbon forms a large number of organic compounds due to
(1) catenation (2) tendency to form multiple bonds
(3) phenomenon of isomerism (4) All the three above

fuEu ds dkj.k dkcZu] dkcZfud ;kSfxdksa dh ,d yEch J`a[kyk cukrk gS \

(1) J̀a[kyu (2) cgqca/k cukus dh izof̀r

(3) leko;ork dh ifj?kVuk (4) lHkh rhuksa
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29. Which of the following is not an allotropic form of carbon
(1) Fluorine (2) Fullerene (3) Diamond (4) Graphite

fuEu esa ls dkSulk dkcZu dk vij:i ugha gS

(1) ¶yksjhu (2) Qqyjhu (3) ghjk (4) xzsQkbV

30. Graphite is a soft lubricant extremely difficult to melt. The reason for this anomalous behaviour is that
graphite.
(1) Has carbon atoms arranged is large plates of rings of strongly bound carbon atoms with weak interplate
bonds
(2) is a non-crystalline substance
(3) is an allotropic form of carbon
(4) has only single bonds between carbon atoms

xzsQkbV ,d e`nq Lusgd gS ftls eqf'dy ls xyk;k tk ldrk gS bl vlkekU; O;ogkj dk dkj.k ;g gS fd xzsQkbV

(1) dkcZu ijek.kq j[krk gS tks nqcZy vUrjijrh; ca/k ds lkFk izcy :i ls ca/ks dkcZu ijek.kqvksa dh cM+h ijrks ds lkFk O;ofLFkr

gksrk gSA

(2) ,d vfØLVyh; inkFkZ gSA

(3) ,d dkcZu dk vij:i gSA

(4) dkcZu ijek.kqvksa ds e/; dsoy ,dy ca/k j[krk gSA

31. Which of the following represents the correct increasing order of unsaturation?
(1) Alkanes, alkenes, alkynes (2) Alkanes, alkynes, alkenes
(3) Alkenes, alkynes, alkanes (4) Alkynes, alkanes, alkenes

fuEu esa ls dkSulk vlar`Ir ds vkjksgh Øe dk izn'kZu djrk gS ?

(1) ,Ydsu] ,Ydhu] ,Ydkbu (2) ,Ydsu] ,Ydkbu] ,Ydhu

(3) ,Ydhu] ,Ydkbu] ,ydsu (4) ,Ydkbu] ,Ydsu] ,Ydhu

32. Which of the following element has three valence electrons?

fuEu esa ls dkSulk rRo rhu la;ksth bysDVªkWu j[krk gS \

(1) Cs (2) Ca (3) Al (4) S

33. Considering the elements B,Al, Mg and K, the correct order of their metallic character is

B,Al, Mg rFkk K rRoksa ij fopkj dhft, fd buds /kkfRod y{k.k dk lgh Øe gS %

(1) B > Al > Mg > K (2) Al > Mg > B > K (3) Mg > Al > K > B (4) K > Mg > Al > B

34. The highly metallic element will have the configuration of

mPp /kkfRod rRo dk foU;kl gksxk %

(1) 2, 8, 7 (2) 2, 8, 8, 5 (3) 2, 8, 8, 1 (4) 2, 8, 2

35. The correct squence of atomic radii is

ijekf.o; f=kT;k dk lgh vuqØe gS %

(1) Na > Mg > Al > Si (2) Al > Si > Na > Mg (3) Si > Al > Mg > Na (4) Si > Al > Na > Mg
36. Which of the following remains unchanged on descending a group in the periodic table?

(1) Valence electrons (2) Atomic size (3) Density (4) Metallic character

fuEu esa ls dkSulk dkjd vkorZ lkj.kh esa oxZ esa uhps tkus ij vifjofrZr jgrk gS \

(1) la;ksth bysDVªkWu (2) ijekf.od vkdkj (3) ?kuRo (4) /kkfRod y{k.k
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PART–B

Straight Objective Type  (lh/ks oLrqfu"B izdkj)

This section contains 36 multiple choice questions. Each question has 4 choices (1), (2), (3) and (4) for its

answer, out of which ONLY ONE is correct.

bl [k.M esa 36 cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (1), (2), (3) rFkk (4) gSa] ftuesa ls flQZ ,d lgh gSA

37. Current of 4.8 amperes is flowing through a conductor. The number of electrons per second will be

,d pkyd esa  4.8 ,sfEi;j dh /kkjk çokfgr gks jgh gSA pkyd esa ls çfr lSd.M çokfgr gksus okys bysDVªkWuksa dh la[;k gksxh

(1) 19103 (2) 211068.7 

(3) 201068.7  (4) 20103

38. When the length and area of cross-section both are doubled, then its resistance

(1) Will become half (2) Will be doubled

(3) Will remain the same (4) Will become four times

;fn fdlh rkj dh yEckbZ nqxuh dj nh tk;s rFkk bldk vuqizLFk dkV Hkh nqxuk dj fn;k tk;s rks mldk izfrjks/k

(1) vk/kk gks tk;sxk (2) nqxuk gks tk;sxk

(3) ogh jgsxk (4) pkj xquk gks tk;sxk

39. A certain wire has a resistance R . The resistance of another wire identical with the first except having twice

its diameter is

,d rkj dk izfrjks/k R gSA blh izdkj dh ,d vU; rkj ftldk dsoy O;kl nksxquk gS] dk izfrjks/k gksxk

(1) 2 R (2) 0.25 R (3) 4 R (4) 0.5 R

40. The reciprocal of resistance is

(1) Conductance (2) Resistivity

(3) Voltage (4) None of the above

izfrjks/k dk foykse gksrk gS

(1) pkydrk (2) izfrjks/krk

(3) oksYVst (4) mijksä esa ls dksbZ ugha A
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41. The equivalent resistance of the arrangement of resistances shown in adjoining figure between the points A

and B is

A vkSj B fcUnqvksa ds e/; layXu fp=k esa izfrjks/k gksxk

 

A B 

20 16 

8 

16 

6 
9 

18  

(1) 6 ohm (2) 8 ohm (3) 16 ohm (4) 24 ohm

42. Five resistors are connected as shown in the diagram. The equivalent resistance between A and B is

 

A 

10  8  

4  5 

B 9 

C 

D 

(1) 6 ohm (2) 9 ohm (3) 12 ohm (4) 15 ohm

ik¡p izfrjks/k vkjs[k ds vuqlkj tksMs+ x;s gSA A vkSj B ds chp rqY; izfrjks/k dk eku gksxk

 

A 

10  8  

4  5 

B 9 

C 

D 

(1) 6 ohm (2) 9 ohm (3) 12 ohm (4) 15 ohm

43. Which of the following gives the value of magnetic field according to,  Biot-Savart's law'

fuEu esa ls dkSu lk O;atd] ck;ks-lsoVZ ds vuqlkj] pqEcdh; {ks=k ds ifjek.k dks O;Dr djrk gS

(1) 2r
sini 

(2) r
sini

4
0 


 
(3) 2

0

r
sini

4



 

(4) 


 sini
4

0 
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44. A charged particle moving in a magnetic field experiences a resultant force

(1) In the direction of field

(2) In the direction opposite to that field

(3) In the direction perpendicular to both the field and its velocity

(4) None of the above

,d vkosf'kr d.k pqEcdh; {ks=k esa xfr djrs le; ifj.kkeh cy vuqHko djrk gS

(1) {ks=k dh fn'kk esa

(2) {ks=k dh foijhr fn'kk esa

(3) {ks=k dh fn'kk ,oa osx dh fn'kk] nksuksa ds yEcor~

(4) mijksä esa ls dksbZ ugha

45. An electron is travelling horizontally towards east. A magnetic field in vertically downward direction exerts a

force on the electron along

(1) East (2) West

(3) North (4) South

,d bysDVªkWu iwoZ dh fn'kk esa {kSfrt xfr dj jgk gSA Å/okZ/kj uhps dh vksj dk;Zjr ,d pqEcdh; {ks=] bl bysDVªkWu ij fuEu

fn'kk eas cy vkjksfir djsxkA

(1) iwoZ esa (2) if'pe esa

(3) mÙkj esa (4) nf{k.k esa

46. In electromagnetic induction, the induced e.m.f. in a coil is independent of

(1) Change in the flux (2) Time

(3) Resistance of the circuit (4) None of the above

fo|qr pqEcdh; çsj.k esa dq.Myh esa çsfjr fo-ck-cy fuHkZj ugha djrk gS

(1) ¶yDl ifjorZu (2) le;

(3) ifjiFk dk izfrjks/k (4) mijksä esa ls dkbZ ugha

47. The direction of induced e.m.f. during electromagnetic induction is given by

(1) Faraday's law (2) Lenz's law (3) Maxwell's law (4) Ampere's law

fo|qr&pqEcdh; izsj.k dh ?kVuk esa izsfjr fo|qr ckgd cy dh fn'kk fuf'pr djus ds fy,] fu;e gS

(1) QSjkMs dk (2) ysUt dk (3) eSDlosy dk (4) ,sfEi;j dk

48. According to Faraday's law of electromagnetic induction

(1) The direction of induced current is such that it opposes the cause producing it

(2) The magnitude of induced e.m.f. produced in a coil is directly proportional to the rate of

change of magnetic flux

(3) The direction of induced e.m.f. is such that it opposes the cause producing it

(4) None of the above
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QSjkMs ds fo|qr pqEcdh; izsj.k fu;e ds vuqlkj

(1)  izsfjr fo|qr izokg dh fn'kk ,slh gksrh gS] ftlls og ml dkj.k dk fojks/k djs ftlls og mRié gqbZ gSA

(2)  dq.Myh esa mRié izsfjr fo|qr okgd cy mlds lkFk layXu pqEcdh; yDl ds ifjorZu dh nj ds ewY; ds cjkcj

    gksrk gS

(3)  izsfjr fo|qr okgd cy dh fn'kk ,slh gksrh gS ftlls og ml dkj.k dk fojks/k djs ftlls og mRié gqvk gSA

(4)  mijksä esa ls dksbZ ugha

49. A transformer is based on the principle of

(1) Mutual inductance (2) Self  inductance

(3)  Ampere's law (4) Lenz's law

VªkUlQkWeZj vk/kkfjr gS

(1)  vU;ksU; izsj.k ds fl)kar ij (2) Loizsj.k ds fl)kar ij

(3)  ,sfEi;j ds fu;e ij (4) ysUt ds fu;e ij

50. A ray of light is incidenting normally on a plane mirror. The angle of reflection will be

(1) 0º (2) 90º

(3) Will not be reflected (4) None of the above

lery niZ.k ij ,d fdj.k vfHkyEcor~ vkifrr gks jgh gSA ijkorZu dk dks.k gksxk

(1) 0º (2) 90º

(3) ijkofrZr ugha gksxh (4) mijksä esa ls dksbZ ugha

51. A ray of light incidents on a plane mirror at an angle of 300  The deviation produced in the ray is

çdk'k dh ,d fdj.k lery niZ.k ij 300 vkifrr gksrh gSA bl fdj.k esa fopyu gksxk

(1) 30º (2) 60º (3) 90º (4) 120º

52. A diminished virtual image can be formed only in

(1) Plane mirror (2) A concave mirror

(3) A convex mirror (4) Concave-parabolic mirror

,d NksVk dkYifud çfrfcEc fuEu esa ls fdlds }kjk curk gS

(1)  lery niZ.k (2) vory niZ.k

(3) mÙky niZ.k (4) ijoyf;d vory niZ.k

53. A virtual image larger than the object can be obtained by

(1) Concave mirror (2) Convex mirror (3) Plane mirror (4) Concave lens

oLrq ls cM+k vkHkklh çfrfcEc fdlds }kjk çkIr fd;k tk ldrk gS

(1)  vory niZ.k (2) mÙky niZ.k (3) lery niZ.k (4) vory ySl
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54. A concave mirror of focal length f (in air) is immersed in water ( = 4/ 3 ). The focal length of the mirror in water

will be

Qksdl nwjh  f ¼ok;q esa½ okys ,d vory niZ.k dks ty ( = 4/ 3 ) esa Mqcks fn;k tkrk gSA rc ty esa bldh Qksdl nwjh

gksxh

(1) f (2) f
3
4

(3) f
4
3

(4) f
3
7

55. To an observer on the earth the stars appear to twinkle. This can be described by

(1) The fact that stars do not emit light continuously

(2) Frequent absorption of star light by their own atmosphere

(3) Frequent absorption of star light by the earth's atmosphere

(4) The refractive index fluctuations in the earth's atmosphere

i`Foh ij fdlh çs{kd dks rkjs f>yfeykrs çrhr gksrs gSaA blds ckjs esa dgk tk ldrk gS fd

(1) rkjs lrr~ çdk'k mRlftZr ugha djrs gSa

(2) rkjkas ds çdk'k dk muds okrkoj.k }kjk ckj-ckj vo'kks"k.k gksrk gS

(3) rkjksa ds çdk'k dk i`Foh ds okrkoj.k }kjk ckj-ckj vo'kks"k.k gksrk gS

(4) i`Foh ds okrkoj.k ds viorZukad esa mrkj-p<+ko (Fluctuations) gksrk gS

56. Light of different colours propagates through air
(1) With the velocity of air (2) With different velocities
(3) With the velocity of sound (4) Having the equal velocities

fofHkUu o.kksZa dh çdk'k fdj.ksa ok;q esa xeu djrh gSa

(1) ok;q ds osx ls (2) fHkUu-fHkUu osx ls

(3) /ofu osx ls (4) leku osx ls

57. A monochromatic beam of light passes from a denser medium into a rarer medium. As a result
(1) Its velocity increases (2) Its velocity decreases
(3) Its frequency decreases (4) Its wavelength decreases

,d ,do.khZ çdk'k fdj.k iq¡t, l?ku ek/;e ls fojy ek/;e esa xqtjrh gSA ifj.kkeLo:i

(1) bldk osx c<+rk gS (2) bldk osx ?kVrk gS

(3) bldh vko`fÙk ?kVrh gS (4) bldk rjaxnS/;Z ?kVrk gS

58. Which of the following is not a correct statement
(1) The wavelength of red light is greater than the wavelength of green light
(2) The wavelength of blue light is smaller than the wavelength of orange light
(3) The frequency of green light is greater than the frequency of blue light
(4) The frequency of violet light is greater than the frequency of blue light
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fuEu esa ls dkSulk dFku lR; ugha gS

(1) yky çdk'k dk rjaxnS/;Z gjs çdk'k ds rjaxnS/;Z ls vf/kd gksrk gS

(2) uhys çdk'k dk rjaxnS/;Z ukjaxh çdk'k ds rjaxnS/;Z ls NksVk gksrk gS

(3) gjs çdk'k dh vko`fÙk uhys çdk'k dh vko`fÙk ls vf/kd gksrh gS

(4) cSaxuh çdk'k dh vko`fÙk uhys çdk'k dh vko`fÙk ls vf/kd gksrh gS

59. The reason of seeing the Sun a little before the sunrise is

(1) Reflection of the light (2) Refraction of the light

(3) Scattering of the light (4) Dispersion of the light

lw;ksZn; ls Bhd igys lw;Z ds fn[kkbZ nsus dk dkj.k gS

(1) çdk'k dk ijkorZu (2) çdk'k dk viorZu

(3) çdk'k dk çdh.kZu (4) cS.M vo'kks"k.k LisDVªe

60. Dispersion of light is due to

(1)  Wavelength (2) Intensity of light

(3) Density of medium (4) None of these

izdk'k dk fo{ksi.k fuEu ds dkj.k gksrk gSA

(1) rjax&nS/;Z (2) izdk'k dh rhozrk

(3) ek/;e dk ?kuRo (4) buesa ls dksbZ ugha

61. Which of the following colours suffers maximum deviation in a prism

(1) Yellow (2) Blue (3) Green (4) Orange

fuEu esa ls fdl jax ds fy;s fizTe ls vf/kdre fopyu gksrk gSA

(1) ihyk (2) uhyk (3) gjk (4) ukjaxh

62. A car moves for half of its time at 80 km/h and for rest half of time at 40 km/h. Total distance covered is 60

km. What is the average speed of the car

(1) 60 km/h (2) 80 km/h

(3) 120 km/h (4)180 km/h

,d dkj vk/ks le; rd 80 fdeh@?kUVk dh pky ls rFkk 'ks"k vk/ks le; rd 40 fdeh@?kUVk dh pky ls pyrh gS ;fn dqy

r; dh xbZ nwjh 60 fdeh gks rks dkj dh vkSlr pky gksxhA

(1) 60 fdeh@?kUVk (2) 80 fdeh@?kUVk

(3) 120 fdeh@?kUVk (4)180 fdeh@?kUVk
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63. Which of the following four statements is false

(1) A body can have zero velocity and still be accelerated

(2) A body can have a constant velocity and still have a varying speed

(3) A body can have a constant speed and still have a varying velocity

(4) The direction of the velocity of a body can change when its acceleration is constant

fuEu dFkuksa es ls vlR; dFku gS

(1) fdlh fi.M dk osx] Rofjr gksrs gq, Hkh] 'kqU; gks ldrk gS

(2) fdlh fi.M dh pky ifjorZuh; gksrs gq, Hkh] bldk osx fu;r gks ldrk gS

(3) fdlh fi.M dk osx ifjorZuh; gksrs gq, Hkh bldh pky fu;r gks ldrh gS

(4) fdlh fi.M dk Roj.k fu;r gksrs gq, Hkh blds osx dh fn'kk esa ifjorZu gks ldrk gSA

64. Acceleration of a particle changes when

(1) Direction of velocity changes (2) Magnitude of velocity changes

(3) Both of above (4) Speed changes

fdlh d.k dk Roj.k ifjofrZr gksrk gS] ;fn

(1) osx dh fn'kk cnyrh gS (2) osx dk ifjek.k cnyrk gS

(3) nksuksa cnyrs gS (4) pky cnyrh gS

65. A body starts to fall freely under gravity. The distances covered by it in first, second and third second are in

ratio

,d oLrq xq:Roh; izHkko eas LorU=krkiwoZd fxjuk izkjEHk djrh gSA mlds }kjk izFke] f}rh; o r`rh; lSd.M eas r; dh x;h

nwfj;k¡ dk vuqikr gksxkA

(1) 1 : 3 : 5 (2) 1 : 2 : 3

(3) 1 : 4 : 9 (4) 1 : 5 : 6

66. When a body moves with a constant speed along a circle

(1) No work is done on it (2) No acceleration is produced in the body

(3) No force acts on the body (4) Its velocity remains constant

tc ,d oLrq vpj pky ls o`Ùk ds vuqfn'k xeu djrh gS] rc

(1) bl ij dksbZ dk;Z ugh fd;k tkrk (2) blesa dksbZ Roj.k mRi=k ugh gksrk

(3) bl ij dksbZ cy ugh yxrk (4) bldk osx vpj jgrk gS
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67. A particle is moving with a constant speed along a straight line path. A force is not required to

(1) Increase its speed (2) Decrease the momentum

(3) Change the direction (4) Keep it moving with uniform velocity

,d d.k fu;r pky ls ,d ljy js[kh; ekxZ ij xfreku gSA cy dh vko';drk ugh gksxhA

(1) bldh pky c<+kus ds fy, (2) laosx ?kVkus ds fy,

(3) fn'kk ifjofrZr djus ds fy, (4) bls ,d leku osx ls pykus ds fy,

68. A ball of mass 2kg and another of mass 4kg are dropped together from a 60 feet tall building. After a fall of 30

feet each towards earth, their respective kinetic energies will be in the ratio of

2fdxzk nzO;eku dh ,d xasn rFkk 4 fdxzk nzO;eku dh ,d vU; xasn dks 60 QhV Å¡ph bekjr ls ,d lkFk fxjk;k tkrk gSA

i`Foh dh vksj 30 QhV fxjus ds i'pkr~ nksuksa xsanks dh xfrt ÅtkZvksa dk vuqikr gksxk

(1) 1:2 (2) 1 : 4 (3) 1 : 2 (4) 2:1

69. A motor car moving with a uniform speed of 20m/sec comes to stop on the application of brakes after

travelling a distance of 10m Its acceleration is

20m/sec ds ,dleku osx ls xfreku ,d dkj cz s sd yxku s ij 10 ehVj n wjh pydj fojke es a vk tkrh g SA

Roj.k gS

(1) 2sec/m20 (2) 2sec/m20 (3) 2sec/m40 (4) 2sec/m2

70. The time in which a force of 2 N produces a change of momentum of  1mskg4.0   in the body is

og le; ftlesa 2N dk cy fdlh oLrq esa 0.4 fdxzk@eh lSa dk js[kh; laosx mRi=k dj nsrh gS] gksxk

(1) 0.2 s (2) 0.02 s (3) 0.5 s (4) 0.05 s

71. A body of mass 10 kg is dropped to the ground from a height of 10 metres. The work done by the gravitational

force is )sec/m8.9g( 2

(1) - 490 Joules (2) + 490 Joules (3) - 980 Joules (4) + 980 Joules

10 fdxzk nzO;eku dk ,d fi.M i`Foh dh lrg ls 10 ehVj dh Å¡pkbZ ls NksM+k tkrk gSA xq:Roh; cy }kjk fd;k x;k dk;Z

gksxk ¼ g = 9.8m/sec2 ½

(1) - 490 twy (2) + 490 twy (3) - 980 twy (4) + 980 twy

72. If mass of a body is M on the earth surface, then the mass of the same body on the moon surface is

(1) M/6 (2) Zero (3) M (4) None of these

;fn fdlh fi.M dk nzO;eku i`Foh ij M gksa rc pUnzek dh lrg ij bldk nzO;eku gksxkA

(1) M/6 (2) 'kwU; (3) M (4) mijksä esa ls dksbZ ughaA
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PART-C

Straight Objective Type

This section contains 72 multiple choice questions. Each question has choices (1), (2), (3)  and (4) out
of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj

bl [k.M esa 72 cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (1), (2), (3), rFkk (4)  gSa] ftuesa ls flQZ ,d lgh gSA

73. Respiration occurs
(1) Only in non-green cells in light
(2) Only in non-green cells both in light and dark
(3) In all living cells both in light and dark
(4) In all living cells only in light
'olu ik;k tkrk gSA

(1) dsoy mu dksf'kdkvksa eas tks gjh ugha gksrh, izdk'k esa

(2) dsoy mu dksf'kdkvksa esa tks gjh ugha gksrh, izdk'k rFkk vU/ksjs nksuksa esa

(3) lHkh thfor dksf'kdkvksa eas izdk'k vkSj vU/ksjs nksuksa esa

(4) lHkh thfor dksf'kdkvksa esa dsoy izdk'k esa

74. Which of the following is not an insect ?
(1) Ant (2) Mosquito (3) Spider (4) Locusts
fuEu esa ls dkSu ,d dhV ugha gSA

(1) phaVh (2) ePNj (3) edM+h (4) fVM~Mk

75. Which of the following equation can be more  appropriate for photosynthesis

(1) 6CO2 + 6H2O lChlorophyl
Light   C2H12O6 + 6O2

(2)  6CO2 + 12H2O lChlorophyl
Light   C6H12O6 + 6H2O+ 6O2

(3)  12CO2 + 6H2O lChlorophyl
Light   2C6H12O6 + 6O2

(4) None of these

QksVksflUFksfll ds fy, dkSulk lehdj.k lokZf/kd ekU; gS

(1) 6CO2 + 6H2O 
Dyksj ksfQy

i zdk’ k   C2H12O6 + 6O2

(2)  6CO2 + 12H2O 
Dyksj ksfQy

i zdk’ k   C6H12O6 + 6H2O+ 6O2

(3)  12CO2 + 6H2O 
Dyksj ksfQy

i zdk’ k   2C6H12O6 + 6O2

(4) buesa ls dksbZ ugha
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76. Pace maker of the heart is
(1) S.A node (2) A.V. node (3) A.V. septum (4) I.A septum
ân; dk islesdj gSSSSS&
(1) ,l-,- uksM+ (2) ,- oh- uksM+ (3)  ,- oh-  lsIVe (4)  vkbZ-,- lsIVe

77. During night, a person should not sleep under a tree because the tree
(1) Releases O2 during night (2) Does not release CO2 during night
(3) Releases CO2 during night (4) Releases water during guttation.
jkf=k ds le; ,d O;fDr dks o`{k ds uhps ugha lksuk pkfg, D;ksafd o`{k

(1) jkf=k esa le; O2 eqDr djrs gS (2) jkf=k ds le; CO2 eqDr ugha djrs gSa

(3) jkf=k ds le; CO2 eqDr djrs gSA (4) fcUnqL=kko.k ds nkSjku ty eqDr djrs gSA

78. If blood cells are eliminated from the blood, the liquid left is
(1) Serum (2) Plasma (3) Lymph (4) Synovial fluid
;fn jä ls dksf'kdk;sa gVk nh tk;sas rks 'ks"k nzo gksxkA

(1) lhje (2) IykTek (3) fyEQ (4) lkbuksfoy nzo

79. Which one of the following plant can fix nitrogen from air ?
(1) Pea (2) Wheat (3) Rice (4) Maize
fuEufyf[kr esa ls dkSulk ikni okrkoj.k ls ukbVªkstu dks fLFkj dj ldrk gS ?
(1) eVj (2) xsgq¡ (3) pkoy (4) eDdk

80. The membranes enclosing the brain and spinal cord are known as
(1) Meninges (2) Meningitis (3) Nephron (4) Axon

Likbuy dkWMZ o efLr”d dks ?ksjus okyh f>fYy;k¡ dgykrh gSa

(1) esfuUthl (2) esafuUtkbfVl (3) usÝksu (4) ,DlkWu

81. Diatom is the another name of :
(1) Green algae (2) Red algae (3) Brown algae (4) Golden algae
Mk;Ve fdldk uke gSaA

(1) gfjr 'kSoky (2) yky 'kSoky (3) Hkwjs 'kSoky (4) Lof.kZe 'kSoky

82. Which of the following animals is not a mammal ?
(1) Bird (2) Kangaroo (3) Dog (4) Human
fuEu tUrqvksa esa ls dkSu Lru/kkjh ugha gS &

(1) i{kh (2) daxk: (3) dqRrk (4) euq";

83. Soil is composed of :
(1) mineral + water + air
(2) mineral + organic matter + air
(3) mineral + organic matter + air + water
(4) organic matter + water
e`nk fdllsa cuh gksrh gSa %

(1) [kfut yo.k + ty + ok;q
(2) [kfut yo.k + dkcZfud inkFkZ + ok;q
(3) [kfut yo.k + dkcZfud inkFkZ + ok;q + ty

(4) dkcZfud inkFkZ + ty
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84.  Uric acid is the chief nitrogenous component of the excretory products of  :
(1) Frog (2) Man (3) Earth worm (4) Cockroach
;wfjd vEy fdles ukbVªkstu ;qDr eq[; mRlthZ mRikn gS \

(1) esa<+d (2) ekuo (3) dsapqvk (4) frypV~Vk

85. Net gain of ATP molecules per hexose during aerobic respiration is
(1) 12 (2) 18 (3) 30 (4) 36.
ok;oh; 'olu ds nkSjku izR;sd gsDlkst ij ATP v.kqvksa dk 'kq) ykHk gSA

(1) 12 (2) 18 (3) 30 (4) 36.

86. If two parents are not participating in reproduction process then it can be -
(1) Sexual reproduction (2) Vegetative reproduction
(3) Asexual reproduction (4) Both (2) and (3)

;fn ,d tuu  fØ;k ftlesa nks iS=kd Hkkx u ysa rks ;g gks ldrk gSa

(1) ySfxad tuu (2) dkf;d tuu

(3) vySfxad tuu (4) nksuksa (2) rFkk (3) nksuksa

87. Teeth are chiefly made up of
(1) Enamel (2) Dentine (3) Pulp (4) Odontoblasts

nk¡r eq[;r% fdlds cus gksrs gSa

(1) busey ds (2) Ms.Vkbu ds (3) iYi ds (4) vksMksUVksCykLV ds
88. What are parthenocarpic fruits ?

(1)  Fruits enclosed in pods such as pea
(2) Fruits formed without fertilization
(3) Very hard fruits
(4) Fruits with more than one seed at their centre
vfu"ksfpr Qy ls vfHkizk; gS &

(1) Qfy;ksa esa can Qy

(2) fcuk fu"kspu cus Qy

(3) dM+d Qy

(4) os Qy ftuds dsanz esa ,d ls vf/kd cht gksaA

89. Which one of the following is not a living fossil ?
(1) Cycas (2) King crab (3) Sphenodon (4) Archaeopteryx
fuEu esa ls dkSu thfor tho'e ugha gS&

(1) lkbdl (2) fdax Øsc (3) LQhuksMkWu (4) vkfdZ;ksIVsfjDl

90. Compensation point is
(1) Where there is neither photosynthesis nor respiration
(2) When rate of photosynthesis is equal to the rate of respiration
(3) When entire food synthesized into photosynthesis remain utilized
(4) When there is enough water just to meet the requirements of plant
larqyu fcUnq gksrk gS

(1) tgk¡ QksVksflUFksfll o 'olu ugha gksrk

(2) tgk¡ QksVksflUFksfll o 'olu dh nj cjkcj gksrh gS

(3) tgk¡ iwjk Hkkstu tks QksVksflUFksfll esa curk gS] iz;qDr gks tkrk gS

(4) tc ikS/ks esa i;kZIr ty ik;k tkrk gS rkfd og ikS/kks dh vko';drk dh iwfrZ dj lds
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91. Endocrine gland responsible for immunity is
(1) Pineal (2) Thymus (3) Pituitary (4) Adrenal

fuEu esa ls izfrjks/kd {kerk ds fy, dkSulh vUr% L=kkoh xzfUFk gksrh gS

(1) fifu;y (2) Fkkbel (3) ih;w"k (4) ,Mªhuy

92. Biological O2 demand (BOD) measures
(1) industrial pollution (2) dissolved oxygen needed by microbes
(3) Soil pollution (4) air pollution
tSfod vkWDlhtu ekax fuEu esa ls fdls iznf'kZr djrh gS \

(1) vkS|ksfxd iznw"k.k (2) lw{ethoksa ds fy, vko';d ?kqfyr vkWDlhtu

(3) ènk iznw"k.k (4) ck;q iznw"k.k

93. Energy release in both respiration and burning of coal but respiration is a systematic process due to
(1) Control through enzymes (2) Control through hormone
(3) Combustion (4) Respiratory substance.
dks;ys ds ngu rFkk 'olu nksuksa esa mtkZ eqDr gksrh gS ysfdu 'olu ds ,d izfØ;k gksus dk dkj.k gSA

(1) ,UtkbEl )kjk fu;a=k.k (2) gkjeksUl )kjk fu;U=k.k

(3) ngu (4) 'oluh; inkFkZ

94. Anaerobic respiration of sugar forms
(1) Glucose and alcohol (2) Glucose + CO2
(3) Ethyl alcohol + CO2 (4) H2O + CO2

'kdZjk dk vok;oh; 'olu fufeZr djrk gS

(1) Xywdkst rFkk ,YdksgkWy (2) Xywdkst + CO2

(3) bFkkby ,YdksgkWy + CO2 (4) H2O + CO2

95. Two system which exert opposite influence on the same organs or set of organs are
(1) Endocrine and exocrine gland systems (2) Muscular and nervous system
(3) Endocrine and nervous system (4) Sympathetic and parasympathetic systems

fdlh vax ;k vaxksa ij foijhr çHkko çnf’kZr djus okys nks rU= gSa

(1) vUr% ókoh o cfgZókoh xzfUFk rU= (2) is’kh; o rfU=dk rU=

(3) vUr% ókoh o rfU=dk rU= (4) vuqdEih o ijkuqdEih rU=
96. The largest gland of the body is

(1) Heart (2) Liver

(3) spleen (4) Pancreas

'kjhj dh lcls cM+h xzfUFk gSA

(1) gn; (2) ;Ñr

(3) Iyhgk (4) vXuk'k;

97. Acrosome of sperm is formed from
(1) Nucleus of spermatid (2) Centrosome of spermatid
(3) Mitochondria of spermatid (4) Golgi complex of spermatid

'kqØk.kq dk Acrosome fdlls fufeZr gksrk gS

(1) Spermatid ds dsUnzd ls (2) Spermatid ds lsUVªkslkse ls

(3) Spermatid dh Mitochondria ls (4) Spermatid ds Golgi complex ls
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98. Which of the following statement is / are true for an animal cell :
(i) It contains a single large vacuole
(ii) Outer most boundary is plasma membrane
(iii) Nucleus is well developed and lies in center.
(1) (i) and (ii) (2) (ii) and (iii)
(3) none of these (4) all are true
tUrq dksf'kdk ds fy, fuEufyf[kr eas ls dkSulk dFku lR; gS %

(i) blesa ,d cM+h fjfDrdk gksrh gSA

(ii) ckg~; f>Yyh IykTek f>Yyh gSA

(iii) dsUnzd iw.kZ fodlhr ,oa dsUnz esa fLFkr gksrk gSA

(1) (i) rFkk (ii) (2) (ii) rFkk (iii)
(3) mijksä esa ls dksbZ ugha (4) mijksDr lHkh dFku lR; gSA

99. Which of the following is not a genetic disease?
(1) Haemophilia (2) Anaemia
(3) Colourblindness (4) Thalesimia
fuEu esa ls dkSulk vkuaqof'kd jksx ugha gS \

(1) gheksQhfy;k (2) vYijDrrk

(3) o.kkZU/krk (4) FkSysflfe;k

100. Anaerobic respiration is likely to occur in :
(1) Ants (2) Earthworms (3) Echinoderms (4) Tapeworms
lkekU;r% vukDlh 'olu fdlesas gksrk gS&

(1)  phfV;ksa esa (2) dsapq;s esa (3) bdkbuksMeZ esas (4) piVs d`fe;ksas esa

101. In national parks, conservation is provided to
(1) only plant speeds (2) only animal species
(3) both plants and animals (4) complete ecosystem
jk"Vªh; m|kuksa esa laj{k.k iznku fd;k tkrk gS

(1) dsoy ikni tkfr;ksa dks (2) dsoy izk.kh tkfr;ksa dks

(3) ikniksa vkSj izkf.k;ksa nksuksa dks (4) lEiw.kZ ikfjfLFkfrd ra=k dks

102. Which step in blood clotting will not occur in absence of vitamin K ?
(1) Conversion of fibrinogen to fibrin (2) Conversion of prothrombin to thrombin
(3) Synthesis of thromboplastin (4) Synthesis of prothrombin

jä dk FkDdk cuus esa dkSulh fØ;k foVkfeu K dh vuqifLFkr esa ugh gksrh ?

(1) Qkbfczukstu dk Qkbfczu esa ifjorZu (2) izksFkzksfEcu dk FkzksfEcu esa ifjorZu

(3) FkzksEcksIykfLVu dk la'ys"k.k (4) izksFkksfEcu dk la'ys"k.k

103. According to cell theory
(1) Cells are fundamental structural unit of organisms
(2) cells reproduce
(3) cell are living
(4) cells have nuclei
dksf'kdk fl)kUr ds vuqlkj &

(1) dksf'kdk lthoks dh lajpukRed ewyHkwr bdkbZ gSA

(2) dksf'kdk tuu n'kkZrh gSa

(3) dksf'kdk thfor gSA

(4) dksf'kdk dsUnzd j[krh gSA
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104. Sum of constructive processes in body cells is called
(1) catabolism (2) anabolism (3) BMR (4) metabolism

dksf'kdk esa fuekZ.k djus okyh izfØ;k ds ;ksx dks dgrs gSA

(1) vip; fØ;k (2) mip; fØ;k (3) vk/kkjh; mikip;h nj (4) mikip;

105. Heart of mammal is
(1) 1-chambered (2) 3-chambered (3) 2-chambered (4) 4-chambered
Lrfu;ksa dk ân; gS &

(1) 1-dks"Bh; (2) 3-dks"Bh; (3) 2-dks"Bh; (4) 4-dks"Bh;

106. If the apical parts of the negative geotropic roots of mangrove plant are pasted with wax, the  which function
of these roots will be affected ?
(1) Exchange of O2 and CO2 (2) Water absorption
(3) Fixation of plant (4) Photosynthesis
eSxzkso ikni esa ;fn _.̀kkRed xq:RokuqorhZ tM+ksa ds 'kh"kZ Hkkx ij ekse dk ysi yxk fn;k tk; rks bu ewyksa dh dkSu lh fØ;k

izHkkfor gksxh \

(1) O2 o CO2  dk fofue; (2) ty vo'kks"k.k

(3) ikS/kksa dk fLFkjhdj.k (4) izdk'k la'ys"k.k

107. When the right ventricle of heart of man contracts , then blood is pumped into
(1) superior vena cava (2) Dorsal aorta
(3) Pulmonary artery (4) Pulmonary vein.
tc ekuo ân; dh nk;ha ladqfpr gksrh gS] rks :f/kj izokfgr gksrk gS &

(1) vxz egkf'kjk esa (2) i`"B egk/keuh esa
(3) iyeksujh /keuh esa (4) iyeksujh f'kjk esa

108. If all mitochondria are removed from the cell :
(1) nothing happens
(2) energy metabolism of cell gets reduced
(3) the cell cannot reproduce
(4) leaves become white
;fn lHkh ekbVksdkWfUMª;kvksa dh dksf'kdkvksa ls fudky fn;k tk, rks :
(1) dqN ugh gksxk

(2) dksf'kdk dh mikip;h ÅtkZ esa deh gksxhA

(3) dksf'kdk tuu ugh dj ik,xhA

(4) ifÙk;k¡ lQsn gks tk,xh

109. Which of the following lack blood supply
(1) Bone (2) kidney (3) Cartilage (4) heart
fuEu esa ls dkSu jDr izokg jfgr gSA

(1) vfLFk (2) o`Dd  mikfLFk (4) ân;

110. Electron microscope is more advantageous than light microscope because it
(1) requires  no light (2) has higher magnification
(3) gives depth focus (4) uses vacuum.
bysDVªkWu lw{en'khZ, izdkf'kr lw{en'khZ ls vf/kd mi;ksxh gS D;ksafd blesa &

(1) izdk'k dh vko';drk ugha gksrh (2) mPp vko/kZu {kerk gksrh gSA

(3) ;g xgjkbZ rd dsfUnzr djrk gSA (4) fuokZr dk mi;ksx gksrk gSA
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111. The ATPase enzyme present on oxysomes of mitochondria are mainly concerned with

(1) breakdown of ATP (2) synthesis of ATP

(3) transport of ATP (4) none of these

ekbVªksdksfMª;k ds vkWDthtkse ij mifLFkr ATPase  ,Utkbe lEcfU/kr gSaA

(1) ATP ds vi?kVu esas (2) ATP ds la'ys"k.k esa

(3) ATP ds laogu esa (4) buesa ls dksbZ ugha

112. ...........is the most common carrier of pathogens
(1) Mosquito (2) Housefly (3) Helminth (4) None of these
,d lkekU; jksx okgd gSA

(1) ePNj (2) ?kjsyq eD[kh (3) gsYehUFkht (4) mijksDr esa ls dksbZ ugha

113. Name the CO2 acceptor in photosynthesis :
izdk'k la'ys"k.k esa CO2  xzkgh dkSu gksrk gS \

(1) RUBP (2) ATP (3) NADP (4) NADH2

114. Minerals and metals are
(1) biodegradable resources (2) renewable resources
(3) non – renewable resources (4) inexhaustible resources
[kfut rFkk /kkrq,as gSa&

(1) tSovi?kVuh; lalk/ku (2) uohdj.kh; lalk/ku

(3) vuohdj.kh; lalk/ku (4) v{k; lalk/ku

115. Jaundice is a disease of the
(1) Pancreas (2) Liver (3) Duodenum (4) Kidney
ihfy;k (Jaundice) fuEu esa ls fdldh chekjh gS&

(1) vXU;k'k; (2) ;dr̀ (3) M~;wfMue (4) o`Dd

116. Prepared food in plants is translocated by -
(1) xylem from leaves to root (2) phloem from leaves to whole plant
(3) xylem from roots to leaves (4) phloem from roots to whole plant
ikS/kksa esa fufeZr Hkkstu dk ifjogu gksrk gS &

(1) tkbye }kjk ifÙk;ksa ls tM+kas rd (2) ¶yks;e }kjk ifÙk;ksa ls iwjs ikS/ksa esa

(3) tkbye }kjk tM+ksas ls ifÙk;ksa rd (4) ¶yks;e }kjk tM+kas ls iwjs ikS/ks esa

117. Which of the following statement is correct about bile ?
(1) It is secreted by liver through bile duct
(2) It is stored temporarily in gall bladder
(3) It do not possess any digestive enzyme but emusifies the fat
(4) All are correct
fiÙk jl ds ckjs esa fuEu esa ls dkSulk dFku lR; gS \

(1) ;g fyoj }kjk la'ysf"kr fd;k tkrk gSA

(2) ;g fiÙk dh FkSyh esa lafpr jgrk gSA

(3) blesa ,Utkbe mifLFkr ugha gksrs fdarq ;g olk dk ik;lhdj.k djrk gSA

(4) mijksDr lHkh
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118. One of the factor required for the maturation of erythrocytes is
(1) Vit – D (2) Vit – A (3) Vit– B12 (4) Vit – C
fuEu esa ls dkSulk dkjd yky jDr df.kdkvksa ds ifjiDou ds fy, vko';d gS \

(1) foVkfeu –  D (2) foVkfeu & A (3) foVkfeu  – B12 (4) foVkfeu – C

119. Use of  pesticides and fertilizers causes
(1) soil pollution (2) water pollution (3) both (1) & (2) (4) none of these
ihM+duk'kh vkSj moZjd dk mi;ksx gksrk gS &

(1) e`nk iznw"k.k esa (2) ok;q iznw"k.k esa (3) (1) o (2) nksuksa esa (4) buesa ls dksbZ ugha

120. In which group Balanoglossus is classified ?
(1) Urochordata (2) Cephalochordata (3) Hemichordata (4) Tunicata
fdl lewg esa csysuksxyksll oxhZÑr gS \

(1) ;wjksdkWMsZVk (2) lsQyksdkWMsZVk (3) gsehdkWMsZVk (4) V~;wfudsVk

121. The wavelength of light used in photosynthesis ?
(1) 300 - 400 nm (2) 390 - 780 nm (3) 800 - 1000 nm. (4) all of the above
izdk'k la'ys"k.k esa dke vkus okyh izdk'k rjax nS/;Z gSA

(1) 300 - 400 nm (2) 390 - 780 nm (3) 800 - 1000 nm. (4) mijksä lHkh

122. The end products of aerobic respiration are -
(1) sugar & oxygen (2) CO2, H2O & energy
(3) water & energy (4) none of these
ok;oh; 'olu ds vafre mRikn gSa &

(1) 'kdZjk o vkWDlhtu (2) CO2, H2O o ÅtkZ

(3) ty o ÅtkZ (4) mijksä esa ls dksbZ ugha

123. The smallest unit of classification is
(1) variety (2) species (3) genus (4) family
oxhZdj.k dh lcls NksVh bdkbZ gS &

(1) x.k (2) tkfr (3) oa'k (4) dqy

124. In which part of chloroplast light reaction of photosynthesis occurs ?
(1) Grana (2) Stroma (3) Matrix (4) all of the above
izdk'k la'ys"k.k dh izdkf'kr vfHkfØ;k gfjryod ds fdl Hkkx esa lEiUu gksrh gSA

(1) xzsuk esa (2) LVªksek esa (3) esfVªDl esa (4) mijksä lHkh esa

125. “Bleeding gum” is realated with the deficiency of -
(1) Vit – A (2) Vit –B (3) Vit– C (4) Vit – D
^^elwM+ks ls [kwu^^fuEu esa ls fdldh deh ls lEcfU/kr gSaA

(1) Vit – A (2) Vit –B (3) Vit– C (4) Vit – D

126. Leaves respire with the help of
(1) lenticles (2) stomata (3) plasmodesmata (4) cuticle
ifÙk;ksa esa 'olu gksrk gS &

(1) okrja/kzkas ls (2) ja/kzksa ls (3) Iykt+eksMsLesVk ls (4) D;wfVdy ls

127. The value of diastolic blood pressure is
(1) 120 mmHg (2) 80 mm Hg. (3) 120/80 mmHg (4) 40 mmHg.
Mk;LVksfyd :f/kj nkc dk eku gS &

(1) 120 mmHg (2) 80 mm Hg. (3) 120/80 mmHg (4) 40 mmHg.
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128. What will happen if the thyroid is removed from a tadpole ?
(1) The tadpole will grow into a dwarf frog (2) The larva will produce giant frog
(3) It will continue indefinitely in larva stage (4) The larva will die

VsMiksy esa ls FkkW;jkWbM xzafFk fudky nsus ij D;k gksxk \

(1) VsMiksy ,d ckSus esa<+d esa fodflr gks tk,xk (2) ykjok ,d cM+s esa<+d esa fodflr gks tk,xk

(3) ;g lnSo ykjok voLFkk esa jgsxkA (4) ykjok e`r gks tk,xkA

129. Syngamy refers to
(1) fusion of one of the male nuclei with secondary nucleus
(2) fusion of male nuclei with female nuclei
(3) fusion of one of the male nuclei with female nuclei and the other with secondary nucleus
(4) fusion of one of the male nuclei with synergids
fluxseh gS &

(1) ,d uj dsUnzd dk f}rh;d dsUnzd ls lay;u

(2) ,d uj dsUnzd dk eknk dsUnzd ls lay;u

(3) ,d uj dsUnzd dk eknk dsUnzd ls rFkk vU; dk f}rh;d dsUnzd ls lay;u

(4) ,d uj dsUnzd dk fluftZM ls lay;u

130. Herbivorous animals can digest cellulose because
(1) their molar and premolar teeth can crush and grind the food
(2) bacteria present in their caecum help in digestion of cellulose
(3) gastric juice has a digestive enzyme for cellulose digestion
(4) alimentary canal is very long

'kkdkgkjh tho lsyqykst dk ikpu dj ikrs gSa D;ksafd &

(1) NksVh rFkk cM+h nk<+ Hkkstu dks ihlrh gSA

(2) mudh cM+h vkWr esa mifLFkr thok.kq lsyqykst dks ipkrs gSaA

(3) tBj jl esa lsyqykst+ ikpd ,Utkbe gksrs gSaA

(4) vkgkj uky cgqr yEch gksrh gSSA

131. Ozone hole refers to
(1) hole in ozone layer
(2) reduction in thickness of ozone layer in stratosphere
(3) reduction in thickness of ozone layer in troposphere
(4) increase in concentration of ozone
vkstksu dh ijr esa fNnz ls rkRi;Z gS &

(1) vkstksu ijr esa fNnz

(2) LVsªVksLQh;j esa vkstksu ijr dk ?kVuk

(3) VªkiksLQh;j esa vkstksu ijr dk ?kVuk

(4) vkWtksu dh lkanzrk dk c<+uk

132. Respiration is defined as -
(1) biological oxidation of food materials (2) chemical combustion of molecules
(3) reduction of food molecules (4) phosphorylation
'olu gS&

(1) [kk| inkFkks± dk tSfod vkWDlhdj.k (2) v.kqvksa dk jklk;fud ngu

(3) [kk| v.kqvksa dk vip;u (4) QkWLQksjhfydj.k
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133. Callus is
(1) Material used in healing in phloem (2) Secondary tissue developed by woody plants
(3) An undifferentiated mass of cells (4) a cultural medium
dSyl gSA

(1) ¶yks,e dh Hkj.k esa iz;qDr inkFkZ (2) dk"Bh; ikniks esa fodflr f}fr;d ÅÙkd

(3) vfoHksfnr dksf'kdk lewg (4) ,d iks"kd ek/;e

134. Bowman’s capsule occurs in -
(1) pancreas (2) kidney (3) pituitary gland (4) adrenal gland.
cksmeu lEiqfVdk fdlesa gksrh gS

(1) vXuk'k; (2) o`Dd (3) ih;w"k xzfUFk (4) vf/ko`Dd xzfUFk

135. Chloroquine is used for treatment of
(1) Malaria (2) Tetanus (3) Cancer (4) AIDS
DyksjksDohukWu fdlds mipkj esa ç;ksx gksrh gS&

(1) eysfj;k (2) fVVul (3) dSUlj (4) ,M~l

136. First stable product of Calvin cycle has
(1) 2 carbon atoms (2) 3 carbon atoms (3) 4 carbon atoms (4) 6 carbon atoms
dSfYou pØ dk izFke LFkkbZ inkFkZ gksrk gS -
(1) 2 dkcZu okyk (2) 3 dkcZu okyk (3) 4 dkcZu okyk (4) 6 dkcZu okyk

137. Dark reaction of photosynthesis is called so because
(1) It can also occur in dark (2) It does not require light
(3) Cannot occur during day time (4) It occurs more rapidly in night
QksVksflUFksfll dh va/kdkj fØ;k blfy;s va/kdkj fØ;k dgykrh gS D;ksafd

(1) ;g va/kdkj esa Hkh gks ldrh gS (2) buesa izdk'k ÅtkZ dh vko';drk ugha gksrh

(3) ;g fnu esa ugha gks ldrh (4) jkr ds le; rhozrk ls gksrh gS

138. Sertoli cells are present in
(1) testis (2) ovary (3) blood (4) lymph

Sertoli dksf'kdk;sa dgk¡ ik;h tkrh gSa &

(1) o`"k.k esa (2) v.Mk'k; esa (3) jDr esa (4) ylhdk esa

139. Photosynthetic unit is
(1) Glyoxysome (2) Sphaerosome (3) Microsome (4) Quantasome
izdk'k la'ys"k.k dh bdkbZ gS

(1) XykbvkWDlhlkse (2) LQhjkslkse (3) ekbØkslkse (4) DokUVklkse

140. The glucose is converted into glycogen in liver and stored in
(1) Only in liver (2) Liver and muscles

(3) Liver and spleen (4) Spleen and muscles

;Ñr esa Xywdkst] Xykbdkstu esa cnyrk gS ,ao laxzfgr gksrk gSaA

(1) dsoy ;Ñr esa  (2) ;Ñr ,oa is'kh;ksa esa

(3) ;Ñr ,ao Iyhgk esa (4) Iyhgk ,oa is'kh;ksa esa
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141. The specific function of light energy in the process of photosynthesis is to
(1) Activate chlorophyll (2) Split water
(3) Reduce carbon dioxide (4) Synthesize glucose
izdk'k ÅtkZ dk fof'k"V dk;Z QksVksflUFksfll gksrk gS

(1) DyksjksfQy dk lfØ;dj.k (2) ty dk fo?kVu

(3) CO2 dk VwVuk (4) Xywdkst dk vo'kks"k.k

142. Which one is not correctly matched
(1) Cytokinin – cell division (2) IAA – cell wall elongation
(3) Abscissic acid – stomatal closure (4) Gibberellic acid – Leaf fall.
fuEu eas ls dkSulk lgh lqesfyr ugha gSA

(1) lkbVksdkbfuu – dksf'kdk foHkktu (2) IAA – dksf'kdk fHkfÙk foo)Zu

(3) ,fClfld vEy – ja/kzksa dks can djuk (4) ftCcjsfyd vEy – i.kZ >M+uk

143. Oxygen carrier or the respiratory pigment in the blood of frog and other vertebrates is:
(1) Haemocyanin (2) Cytochrome (3) Haemoglobin (4) None of these
[kjxks'k] esa<d ,oa buds lfgr vU; d'ks:fd;ksa esa 'olu o.kZd gksrk gS&

(1) gheks'kk;fuu (2) lkbVksØkse (3) gheksXyksfcu (4) mijksDr esa ls dksbZ ugh

144. Coconut milk factor is
(1) Auxin (2) Gibberellin (3) Abscissic acid (4) Cytokinin
ukfj;y nqX/k dkjd gS

(1) vkWfDlu dk (2) ftCcjsfyu dk (3) ,fClfld vEy dk (4) lkbVksdkbfuu dk

PART - D
Straight Objective Type

This section contains 36 multiple choice questions. Each question has choices (1), (2), (3) and (4) out

of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj

bl [k.M esa 36 cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (1), (2), (3), rFkk (4)  gSa] ftuesa ls flQZ ,d lgh gSA

Directions : (145 to 147) In each question there is a number/alphabet with one term missing, which is shown by
question mark (?). Find the missing term out of the given alternatives.

funsZ'k : (145 ls 147) izR;sd iz'u esa ,d la[;k/v{kj nh xbZ gS] ftlesa ,d in xk;c gS] ftls iz'u lwpd fpg~u (?) ls n'kkZrk x;k

gSA fn, x,  fodYiksa esa ls xk;c in dks Kkr dhft,A

145. 912, 303, 102, 33, ?, 3, 2
(1) 12 (2) 10 (3) 8 (4) 6

146. AYBX, EUFT, IQJP, MMNL, ?
(1) QIRH (2) NLOK (3) GSHR (4) PJQI
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147. 6 7 ?6 5 73 4 3
4 5 6

5 3 4

(1) 4 (2) 9 (3) 6 (4) 8

Directions : (148 to 150) In each question there is a relationship between first two terms. Same relationship exists
in the next two terms. Blank term (?) is out of the four alternatives given below. Find the correct alternative.

funsZ'k : (148 ls 150) izR;sd iz'u esa izFke nks inksa ds chp dqN lEcU/k gSA nwljs inksa esa ogh lEcU/k fo|eku gSA fjDr in (?) uhps
fn, x, pkj fodYiksa esa ls ,d gSA lgh fodYi Kkr dhft,A

148. DFGE : IKLJ : : NPQO : ?
(1) STVU (2) SUTV (3) SUVT (4) SVTU

149. 9 : 125 : : 16 : ?
(1) 216 (2) 210 (3) 204 (4) 198

150. : :: : ?

(1) (2) (3) (4) 

Directions : (151 to 152) Questions are based on Venn Diagram. Circle stands for rural, Triangle stands for educated,
square stands for hard-working and Rectangle stands for intelligent persons. Numbers given represent serial
number of the area.

funsZ'k : (151 ls 152) iz'u oSu fp=k ij vk/kkfjr gSA o`Ùk xzkeh.k dks] f=kHkqt f'kf{kr dks] oxZ ifjJeh dks rFkk vk;r cqf)eku O;fä;ksa

dks O;Dr djrk gSA nh xbZ la[;k,a {ks=k Øekad dks iznf'kZr djrh gSaA

3

98
7

1

2 5 13
12

4 11

106

151. Which area represents “Intelligents, hard-working and educated but not rural” persons ?
dkSulk {ks=k Þcqf)eku] ifjJeh o f'kf{kr ijUrq xzkeh.k ughaß O;fDr;ksa dks iznf'kZr djrk gS \

(1) 12 (2) 10 (3) 4 (4) 3

152. Which area represents “Hard-working and intelligent but neither rural nor educated” persons?
dkSulk {ks=k Þ ifjJeh o cqf)eku ijUrq u gh xzkeh.k vkSj ugh f'kf{krß O;fDr;ksa dks iznf'kZr djrk gS \

(1) 11 (2) 5 (3) 3 (4) 4
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153. Here are some words translated from an artificial language
mie pie is blue light
mie tie is blue berry
aie tie is rasp berry
Which words could possible mean “light fly” ?
;gk¡ ,d d`f=ke Hkk"kk ls dqN vuqfnr 'kCn fn, x, gS&

mie pie is blue light
mie tie is blue berry
aie tie is rasp berry
fdu 'kCnksa dk laHkkfor vFkZ “light fly” gks ldrk gS ?
(1) pie zie (2) pie mie (3) aie zie (4) aie mie

154. If in a certain code, STUDENT is written as RSTEDMS, then how would TEACHER be written in the same
code ?
;fn fdlh dksM esa STUDENT dks RSTEDMS, fy[kk tkrk gS] rks ml dksM esa TEACHER dks fdl izdkj fy[kk tk,xk?
(1) SZZDGEQ (2) SZDDGEQ (3) SDZDGDQ (4) SDZCGDQ

155. Which group of letters is different from others ?
uhps fn, x, v{kj lewgksa esa dkSu&lk lewg vU; ls fHkUu gS ?
(1) CBAED (2) IJHGK (3) SRQPT (4) TVWYX

156. In the following letter sequence, some of the letters are missing. These are given in order as one of the
alternatives below. Choose the correct alternative.
;gk¡ fn, x, v{kj Øe esa ls dqN v{kj xk;c gSA uhps fn, x, v{kjksa esa ls mi;qDr fodYi pqudj v{kj Øe dks iwjk dhft,A


(1)  (2)  (3)  (4) 

157. Fill in the missing number
uhps nh xbZ la[;kvksa esa ls mfpr la[;k dks pqudj fjDr LFkku dks Hkfj,A

B2AC3
B?A2
A3B2C





(1) – 3C (2) – 2C (3) 3C (4) 2B

158. Vimla used to board the train from Metro Station A for going to her office. Since Station A is a terminus, she
had no problem in getting a seat. Ever since she shifted to Locality B she finds it difficult to get a seat, as by
the time the train reaches Locality B it becomes crowded. Find the statement among the alternatives which
must be true as per the given information.
(1) Vimla would prefer to take a bus rather than the metro.
(2) Vimla’s travel to office has become less comfortable ever since she has shifted.
(3) Commuters staying in and around Locality B would demand metro services originating from station near
Locality B.
(4) Vimla would look for a job close to her home
foeyk vkWfQl tkus ds fy, eSVªks LVs'ku A dk mi;ksx djrh FkhA LVs'ku A vfUre LVs'ku gS] ml le; mls lhV ikus esa

dkSbZ lel;k ugha gksrh FkhA ysfdu] tck ls mlds jgus dh txg cny dj B gks xbZ gSA] rks mls lhV ikus esa dfBukbZ gksrh

gS D;ksafd B LFkku ij Vsªu ds igq¡pus rd HkhM+ gks tkrh gSA fn, x;s dFkuksa ds vuqlkj fuEu esa ls mlds fy, dkSu&lk fodYi

mfpr gSA

(1) foeyk esVªks ls tkus ds cnys cl ls tkuk pkgsxhA

(2) tc ls foeyk us jgus dk LFkku cnyk gS mlds vkWfQl tkus dh lqfo/kk esa deh gks xbZ gSA

(3) LFkku B ds vklikl jgus okys lg;k=kh  B ls izkajHk gksus okyh esVªks lqfo/kk dh ek¡x dj ldrs gSA

(4) foeyk vius ?kj ds fudV jkstxkj dh [kkst dj ldrh gSA
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159. Ramesh started going for regular morning walks for controlling his blood sugar level. He did so for a month
and also started taking Yoga lessons, without going for any pathological examination. He underwent patho-
logical test after two months and found that the blood sugar level has come down. Presuming that he had not
changed his food habits during these two months, which statement among the alternative given below follows
most logically?
(1) Blood sugar level comes down after doing regular morning walk.
(2) Blood sugar level comes down after doing Yoga.
(3) Blood sugar level comes down on doing regular morning walk and Yoga.
(4) Regular morning walk, Yoga or both may bring down sugar level despite not changing food habits.
jes'k viuk CyM 'kqxj dk ysoy fu;faa=kr djus ds fy, fu;fer :i ls lqcg Vgyus tkus yxkA jksx  tk¡p djok, fcuk

og ,d eghus rd ,slk djus ds  ckn ;ksxklu dk vH;kl Hkh  djus yxkA nks eghus ckn jksx tk¡p ds ckn mlus ik;k fd

mldk CyM 'kqxj dk ysoy de gks pqdk gASA eku yhft,] bu nks eghuksa esa mlus vius  [kkus  ihus dh vknrksa esa dksb cnyko

ugha fd;k] blds fy, fuEufyf[kr esa ls dkSu lk dFku lokZf/kd rdZlaxr gks ldrk gS ?
(1) fu;fer lqcg Vgyus  ls CyM 'kqxj dk ysoy de gksrk gSA

(2) ;ksxklu djus ls CyM 'kqxj dk ysoy de gksrk gS

(3) fu;fer lqcg Vgyus  vkSj ;ksxklu djus ls CyM 'kqxj dk ysoy de gksrk gS

(4) [kkus ihus dh vknrksa esa fcuk cnyko yk, fu;fer  lqcg Vgyus] ;ksxklu ;k nksuksa djus  ls CyM 'kqxj dk ysoy de

gksrk gS

160. In this multiplication question the five letters represent five different digits. What are the actual figures ? There
is no zero.
fuEu xq.ku okys iz'u esa ik¡p fofHkUu la[;kvksa dks ik¡p v{kjksa ls n'kkZ;k x;k gS] buds okLrfod vad D;k gS\ os 'kwU; ugh

gSA

   

(1) M = 3, E = 9, A = 7, T = 4, S = 8 (2) M = 3, E = 9, A = 7, T = 8, S = 4
(3) M = 4, E = 3, A = 9, T = 7, S = 8 (4) M = 4, E = 9, A = 3, T = 7, S = 8

161. Which symbol replaces the ‘?’ Figure below represent a balance.
uhps ds fp=k esa ,d rqyk cukbZ xbZ gSA  iz'uokpd fpâ (?) ds LFkku ij dkSu lk fpâ j[kk tk ldrk gSA

          

(1) (2) (3) (4) 

162. On the basis of the four positions of a dice given below find the colour of the face opposite ‘Yellow’.
uhps fn, x, iklksa dh fLFkfr dks /;ku esa j[kdj [kksft, fd ;syk Qyd ds ihNs okys Qyd ij dkSu&lk jax gks ldrk gS\

(1) Indigo (2) Red (3) Pink (4) Blue
(1) bafMxks (2) jsM (3) fiad (4) Cyw
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163. Two positions of a dice are shown. Which number will appear on the face opposite the one having 5 ?
,d gh ikls dh nks fLFkfr;k¡ fn[kkbZ xbZ gSA dkSu&lh la[;k 5 la[;k okys Qyd ds i`"B Hkkx ij gks ldrh gS?

(1) 1 (2) 2 (3) 4 (4) 6

164. Find the odd one out
csesy dks pqfu,A

          

(1) A (2) B (3) C (4) D

165. Which of the given alternative is the mirror image of REASON, if the mirror is placed below the word ?
REASON 'kCn ds uhps niZ.k j[kus ij fn, x, fodYiksa esa ls dkSu&lk bldk izfrfcEc gksxk?
(1) (2) (3) (4) 

166. A sprinter goes off the starting block for 100m run and at that instant the second-hand of a stopwatch had
pointed towards North. He touches the finishing line exactly after 12 seconds. In which direction did the
second hand point when he just crossed the finishing line ?
(1) 18º North of East (2) 18º East of North (3) 72º North of East (4) 82º East of North
,d /kkod tc 100 ehVj dh nkSM+ vkjaHk dj jgk gS ml le; LVkWiokWp dh lsdsaM dh lwbZ mÙkj fn'kk esa gSA  12  lsdsaM ckn

og /kkod nkSM+ dh vfUre lhek js[kk rd igq¡prk gSA tc og vfUre lhek js[kk dks ikj djrk gS rc LVkWi okWp dh lsdsaM dh

lwbZ dh fn'kk D;k gksxh?
(1) iwoZ ls 18º mÙkj esa (2) mÙkj ls 18º iwoZ esa (3) iwoZ lsa 72º mÙkj esa (4) mÙkj ls 82º iwoZ e

167. Two candles are of different lengths and thicknesses. The short and the long ones can burn respectively for
3.5 hour and 5 hour. After burning for 2 hour, the lengths of the candles become equal in length. What fraction
of the long candle’s height was the short candle initially ?
vleku yEckbZ vkSj eksVkbZ dh nks eksecfÙk;k¡ gSA ;s NksVh vkSj cM+h eksecfÙk;k¡  Øe'k % (3)5 ?kaVs vkSj 5  ?kaVs ty ldrh gSA

2 ?kaVs rd tyus ds ckn nksuksa eksecfÙk;k¡ dh yEckbZ ,dleku gks tkrh gSA izkjaHk esa NksVh eksEcÙkh dk fdruk va'k FkhA

(1) 7
2

(2) 7
5

(3) 5
3

(4) 5
4

168. Mother was asked how many gifts she had in the bag. She replied that there were all dolls but six, all cars
but six, and all books but six. How many gifts had she in all ?
ek¡ ls iwNk x;k fd fdrus migkj mlds FkSys esa gSA mlus crk;k] lkjh xqfM+;k gS&N% ds vykok] lkjh dkjsa gS N % ds vykok

vkSj lkjh iqLrdsa gS N% ds vykokA crkb, mlds ikl dqy fdrus migkj Fks?
(1) 9 (2) 18 (3) 27 (4) 36

169. Question given below has a problem and two statements I & II. Decide if the information given in the state-
ment is sufficient for answering the problem.
K, R, S and T are four players in Indian Cricket team. Who is the oldest among them ?
I : The total age of K & T together is more than that of S
II : The total age of R & K together is less than that of S
(1) Data in statement I alone is sufficient
(2) Data in statement II alone is sufficient
(3) Data in both statement together is sufficient
(4) Data in both statement together is not sufficient
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uhps fn, iz'u esa ,d leL;k gS vkSj nks dFku I ,oa II. fu.kZ; dhft, fd D;k dFku esa nh xbZ lwpuk leL;k ds mÙkj ds

fy, i;kZIr gS\

K, R, S vkSj T Hkkjrh; fØdsV Vhe ds pkj f[kykM+h gS mu lHkh es ls fdl dh mEkz lcls vf/kd gS ?
I :  K vkSj T nksuksa dh dqy mez  S dh rqyuk esa vf/kd gSA

II : R vkSj K nksuksa dh  dqy mez  S dh rqyuk esa de gSA

(1) dFku I  dk MkVk vdsys i;kZIr gSA

(2) dFku II  dk MkVk vdsys i;kZIr gSA

(3) nksuksa dFku dk MkVk ,dlkFk i;kZIr gSA

(4) nksuksa dFkuksa dk MkVk ,dlkFk i;kZIr ugha gSA

170. Which of the following diagram/sets indicate the relation between women, mothers and parents?
L=kh] ek¡ vkSj vfHkHkkod ds chp ds laca/k dks fuEu esa ls dkSu&lh vkd`fr@lEewp; n'kkZrh@n'kkZrk gS?

(1) (2) (3) (4) 

171. In a dairy, there are 60 cows and buffalos. The number of cows is twice that of buffalos. Buffalo X ranked
seventeenth in terms of milk delivered. If there are 9 cows ahead of Buffalo X, how many buffalos are after in
rank in terms of milk delivered?
,d ckM+s esa  60 xk;sa vkSj HkSlsa gS] xk;ksa dh la[;k HkSlksa dh la[;k ls nqxquh gSA nw/k nsus dh {kerk esa X HkSl dk 17 ok¡ LFkku
gSA ;fn 9 xk;sa X HkSl ls nw/k nsus ds Øe esa vkxs gSa rks fdruh HkSlsa nw/k nsus ds Øe esa ihNs gSa?
(1) 10 (2) 11 (3) 12 (4) 13

Question 172 to 173 are based on the following information:
, , , ,  ,,  ,   are sitting on a merry-go-round facing at the centre.  is second to the left on   who
is third to the left of .is fourth to the right of  who is immediate neighbour of  .  is not a neighbour of 
or . is not a neighbour of .
iz'u 172 ls 173 uhps fn, x, rF;ksa ij vk/kkfjr gS%

, , , ,  ,,  ,   ,d pØnksyk ¼eSjh&xks&jkm.M½ ij cSBs gq, gSa buds eq¡g dsUnz dh vkSj gSA ,   dh ck¡;h vksj nwljs

LFkku ij cSBk gS tks  .dh ck¡;h vksj rhljs LFkku ij gSA ds nk;ha vksj pkSFksa LFkku ij gS tksds fudVre iM+ksl esa gSA

 ,vFkok dk iM+kslh ugha gSA. ,dk iM+kslh ugha gSA

172. Who is third to the left of 
ds ck¡;ha vksj rhljk dkSu gS\

(1)  (2)  (3)  (4) 

173. In which of the following pairs is the first person sitting to the immediate right of the second person ?
fn, x, fuEu tksM+ksa esa ls fdlesa igyk O;fDr] nwljs ds fcYkdqy nk¡;ha vksj cSBk gS?
(1) , (2) ,  (3)  ,  (4)  ,

174. What is ‘s position with respect to ?
(1) Third towards right (2) Third towards left (3) Second towards right(4) Second towards left
‘ dk LFkku   ds lkis{k dgk¡ gS?
(1) nkfguh vksj rhljk (2) ck¡;ha vksj rhljk (3) nkfguh vksj nwljk (4) ck¡;ha vksj nwljk

175. Who is sitting between  and ?
(1) Both   and  (2) Both  and  (3) Only  (4) Only 
 vkSj ds chp esa dkSu cSBk gS?
(1) nksuksa   vkSj  (2) nksuksa  vkSj  (3) dsoy  (4) dsoy 

176. How many of them are sitting between  and  ?
(1) 0 or 6 (2) 1 or 5 (3) 2 or 4 (4) 3
 vkSj  ds chp fdrus lnL; cSBs gq, gSa?
(1) 0 ;k 6 (2) 1 ;k 5 (3) 2 ;k 4 (4) 3
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177. In a school 120 boys have registered for a singles carrom tournament. Each match eliminates one player.
How many matches are to be organized to determine the champion?
fo|ky; esa 120 fo|kfFkZ;ksa us dSje dh ,dy [ksy&izfr;ksfxrk esa iathdj.k djok;kA gj [ksy esa ,d f[kykM+h fudyrk tkrk

gSA loZfotsrk fu/kkZfjr djus ds fy, fdrus [ksyksa dk vk;kstu djuk gksxkA

(1) 60 (2) 61 (3) 119 (4) 120

178. Twenty four teams are divided into 4 group of six teams each. Within each group the teams play each other
exactly once. The winners of each group then play in the semifinals. Winners of the semifinals play in the
finals and losers for the 3rd place. How many matches are played?
pkSchl Vheksa dks Ng Vheksa ds pkj lewgksa esa ck¡Vk x;k gSA izR;sd lewg dh Vhesa vkil esa dsoy ,d ckj [ksyrh gSA izR;sd

lewg dh fotsrk Vhe lsehQkbuy esa [ksyrh gSA lsehQkbuy dh fot;h Vhe Qkbuy esa [ksyrh gS  vkSj gkjusokyh Vhe rhljs

LFkku ds fy, [ksyrh gSA dqy fdrus eSp [ksys x,?
(1) 60 (2) 63 (3) 64 (4) 66

179. Two players X and O play a game of “doughts and crosses” on a 3 × 3 grid. The purpose of the game is for a
player to get 3 symbols belonging to the player in a straight line (vertically, horizontally or diagonally). Each
player marks one symbol on his or her turn.
After two moves (1 turn each), the grid looks as follows with X to play next.
Where should X put his symbol next so that he will always win this game finally regard less of how well O
plays ?
nks f[kykM+h X  vkSj O ,d [ksy thjks vkSj dkVk 3 × 3 fxzM ij [ksyrs gSA [ksyus dk  rjhdk ;g gS fd ,d rjg ds

rhu fpâ ,d lh/k esa ¼ {ksfrt] Å/oZ] fr;Zd½ yxkus gksrs gSA izR;sd f[kykM+h viuh ikjh ij ,d fpâ yxkrk gSA nks

ikfj;ksa ds ckn ¼izR;sd dh ,d&,d ikjh½ X dh vxyh ikjh ds fy, fp=k dqN ,slk fn[krk gSA

[ksy dks thrus ds fy, X  dks vxyk fpâ dgk¡ yxkuk pkfg, ftlls fd fdlh Hkh n'kk esa O mlls thr u ldsA

x

o

(1) Bottom row right corner
(2) Bottom row middle cell
(3) Middle row left most cell
(4) It is not possible to always ensure X wins if O plays carefully
(1) lcls uhps dh iafDr esa nkfguk dksuk

(2) lcls uhps dh iafDr ds e/; Hkkx esa

(3) chp dh iafDr ds lcls ck¡; Hkkx esa

(4) ;fn O lko/kkuh iwoZd [ksyrk gS rks X dh thr ges'kk laHko ugha gSA

180.

(1) (2) (3)  (4) 
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ANSWER  KEY
PART–A (CHEMISTRY)

1. (3) 2. (1) 3. (1) 4. (3) 5. (3) 6. (4) 7. (4)
8. (2) 9. (3) 10. (2) 11. (2) 12. (3) 13. (2) 14. (4)
15. (1) 16. (3) 17. (4) 18. (1) 19. (3) 20. (3) 21. (1)
22. (1) 23. (4) 24. (3) 25. (2) 26. (2) 27. (1) 28. (4)
29. (1) 30. (1) 31. (1) 32. (3) 33. (4) 34. (3) 35. (1)
36. (1)

PART-B (PHYSICS)

37. (1) 38. (3)  39. (2) 40. (1) 41. (2) 42. (1) 43. (3)
44. (3) 45. (4) 46. (3) 47. (3) 48. (2) 49. (1) 50. (1)
51. (4) 52. (3) 53. (1) 54. (1) 55. (4) 56. (4) 57. (1)
58. (3) 59. (2) 60. (1) 61. (2) 62. (1) 63. (2) 64. (3)
65. (1) 66. (1) 67. (4) 68. (3) 69. (2) 70. (1) 71. (4)
72. (3)

PART-C (BIOLOGY)

73. (3) 74. (3) 75. (2) 76. (1) 77. (3) 78. (2) 79. (1)
80. (1) 81. (4) 82. (1) 83. (3) 84.  (4) 85. (4) 86. (4)
87. (2) 88. (2) 89. (4) 90. (2) 91. (2) 92. (2) 93. (1)
94. (3) 95. (4) 96. (2) 97. (4) 98. (2) 99. (2) 100. (4)
101. (4) 102. (4) 103. (1) 104. (2) 105. (4) 106. (1) 107. (3)
108. (2) 109. (3) 110. (2) 111. (2) 112. (2) 113. (1) 114. (3)
115. (2) 116. (2) 117. (4) 118. (3) 119. (3) 120. (3) 121. (2)
122. (2) 123. (2) 124. (1) 125. (3) 126. (2) 127. (2) 128. (3)
129. (2) 130. (2) 131. (2) 132. (1) 133. (3) 134. (2) 135. (1)
136. (2) 137. (2) 138. (1) 139. (4) 140. (2) 141. (1) 142. (4)
143. (3) 144. (4)

PART - D (Mental Ability)

145. (1) 146. (1) 147. (3) 148. (3) 149. (1) 150. (3) 151. (1)
152. (4) 153. (1) 154. (3) 155. (4) 156. (2) 157. (3) 158. (2)
159. (4) 160. (2) 161. (3) 162. (1) 163. (4) 164. (3) 165. (4)
166. (1) 167. (2) 168. (1) 169. (4) 170. (1) 171. (3) 172. (3)
173. (2) 174. (1) 175. (3) 176. (4) 177. (3) 178. (3) 179. (1)
180. (3)
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SAMPLE TEST PAPER-II
(For Class-XII Appearing / Passed Students)

Course : SAMBHAV (MF)

Correct Wrong Blank 

1 to 45 46 to 90 91 to 180
Only one correct 

(dsoy , d fodYi  l gh)
4 -1 0

Marks to be awardedPart - A 
(Chemistry)

Part - B 
(Physics)

Part - C
(Biology) Type 

PART-A
Atomic masses (ijek.kq Hkkj) : [H = 1, D = 2, Li = 7, C = 12, N = 14, O = 16, F = 19, Na = 23, Mg = 24,
Al = 27, Si = 28, P = 31, S = 32, Cl = 35.5,  K = 39, Ca = 40, Cr = 52,  Mn = 55, Fe = 56, Cu = 63.5,
Zn = 65, As = 75, Br = 80, Ag = 108, I = 127,  Ba = 137, Hg = 200, Pb = 207]

Straight Objective Type
This section contains 45 multiple choice questions. Each question has 4 choices (1), (2), (3) and
(4) for its answer, out of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj

bl [k.M esa 45 cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (1), (2), (3) rFkk (4) gSa] ftuesa ls flQZ ,d lgh gSA

1. In an octahedral structure, the pair of a orbitals involved in sp3d2 hybridization is

v"VQydh; lajpuk esa sp3d2 ladj.k esa d- d{kd dk ;qXe Hkkx ysrk gS

(1)dx2dxz (2) dxydyz (3) 2xd
– 2y , 2zd (4) xzd , 2xd

– 2y

2. The correct order of bond angles (smallest first) in H2S, NH3,BF3 and SiH4 is

H2S, NH3,BF3 rFkk SiH4 esa ca/k dks.kksa dk c<+rk gqvk lgh Øe gS

(1) H2S < NH3 < SiH4 < BF3 (2) NH3 < H2S < SiH4 < BF3

(3) H2S < SiH4 < NH3< BF3 (4)H2S < NH3< BF3 < SiH4

3. Which set hybridisation is correct for the following compounds

fuEufyf[kr ;kSfxdksa ds fy;s ladj.k dk lgh ;qXe gS

NO2, SF4  
6PF

(1) sp, sp3  ,  sp3

(2) sp , sp3d  ,  sp3d2

(3) sp2 , sp3 ,  d2sp3

(4) sp3, sp3d2 ,  sp3d2

4. Hybridization is due to the mixing of
(1) Orbitals of different energy levels (2) Orbitals of different energy content
(3) Orbitals of same energy content (4) None of the above

fuEu esa ls fdlds feJ.k ls ladj.k gksrk gS

(1) fofHkUu ÅtkZ Lrjksa ds d{kd (2) fofHkUu ÅtkZ /kkjdksa ds d{kd

(3) leku ÅtkZ Lrjksa ds d{kd (4) buesa ls dksbZ ugha
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5. H2O is dipolar, whereas BeF2 is not. It is because
(1) H2O is linear and BeF2 is angular
(2) H2O is angular and BeF2 is linear
(3) the electronegativity of F is greater than that of O
(4) H2O involves hydrogen bondign whereas BeF2 is a discrete molecule

H2O  f}/kqzoh; v.kq gS tcfd BeF2  ugha] D;ksafd

(1) H2O js[kh; gS vkSj BeF2 dks.kh;

(2) H2O dks.kh; gS vkSj BeF2 js[kh;

(3) vkWDlhtu dh rqyuk esa ¶yksjhu dh _.kfo|qrrk vf/kd gksrh gSA

(4) H2O esa gkbMªkstu ca/ku ik;k tkrk gS tcfd BeF2 ,d foeqDr v.kq gSA

6. The bond order in 
2N  ion is ( 

2N  vk;u dk cU/k Øe gS)

(1)1 (2) 2 (3) 2.5 (4) 3

7. Out of the following which has smallest bond length

fuEu esa ls fdldh ca/k yEckbZ U;wure gS

(1) O2 (2) 
2O (3) 

2O (4) 2
2O

8. The reason of exceptionally high boiling point of water is

(1) Its high specific heat (2) Its high dielectric constant

(3) Low ionization of water molecules (4) Hydrogen bonding in the molecules of water

ty esa vR;f/kd mPp DoFkukad dk dkj.k gS

(1) bldh mPp fof'k"B Å"ek (2) bldk mPp ijkoS|qrkad

(3) ty ds v.kqvksa dk vYi vk;uu (4) ty ds v.kqvksa esa gkbMªkstu ca/ku

9. In the estimation of sulphur organic compound on treating with conc. HNO3 is converted to

lYQj ds vkadyu esa dkcZfud ;kSfxd dks lkUnz HNO3 ds lkFk vfHkd`r djokus ij ;g ifjofrZr gks tkrk gS A

(1) SO2 (2) H2S (3) H2SO4 (4) SO3

10. In Carius method 0.099 g organic compound gave 0.287 g AgCI. The percentage  of chlorine in the compound

will be

dSfj;l fof/k esa] 0.099 g xzke dkcZfud ;kSfxd ls 0.287 g AgCI izkIr gksrk gSA ;kSfxd esa Dyksjhu dh izfr'kr ek=kk gksxh

(1) 28.6 (2) 71.7 (3) 35.4 (4) 64.2

11. An appropriate method for molecular weight determination of chloroform is

(1) Regnault’s method (2) Diffusion method

(3) Vapour pressure method (4) Victor Mayer’s method

DyksjksQkWeZ dk v.kqHkkj Kkr djus dh mi;qDr fof/k gS

(1) jsukWYV fof/k (2) folj.k fof/k

(3) ok"inkc fof/k (4) foDVj es;j fof/k
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12. A mixture of methyl alcohol and acetone can be separated by
(1) Distillation (2) Fractional distillation
(3) Steam distillation (4) Distillation under reduced pressure

esfFky ,YdksgkWy rFkk ,slhVksu ds feJ.k dks fdlds }kjk i`Fkd fd;k tk ldrk gS :

(1) vklou (2) izHkkth vklou

(3) Hkki vklou (4) de nkc ij vklou

13. Which of the substance is purified by sublimation
(1) Benzoic acid (2) Camphor
(3) Naphthalene (4) All of these

fuEu esa ls fdl inkFkZ dk 'kqf)dj.k Å/oZikru }kjk fd;k tkrk gS

(1) csUtksbd vEy (2) diwj

(3) us¶FkSyhu (4) mijksDRk lHkh

14. The Vander Waal’s constant  ‘a’ for the gases O2 , N2, NH3 and CH4 are 1.3, 1.390, 4.170 and 2.253 L2 atm
mol–2 respectively. The gas which can be most easily liquefied is

O2 , N2, NH3 rFkk CH4 xSl ds fy, ok.MjokWy fu;rkad 'a' dk eku Øe'k% 1.3, 1.390, 4.170 rFkk 2.253 L2 atm mol–

2 gSA og xSl tks vklkuh ls nzohd`r gks ldrh gS fuEu gS %

(1) O2 (2) N2 (3) NH3 (4) CH4

15. A gas  can be liquefied
(1) Above its critical temperature (2) At its critical temperature
(3) Below its critical temperature (4) At any temperature

,d xSl dks nzohd`r fd;k tk ldrk gS %

(1) blds Økafrd rkieku ds Åij (2) blds Økafrd rkieku ij

(3) blds Økafrd rkieku ds uhps (4) fdlh Hkh rkieku ij

16. Which of the following is incorrect for critical temperature
(1) It is the highest temperature at which liquid and vapour can coexist
(2) Beyond the critical temperature, there is no distinction between the two phases and a gas cannot be
liquefied by compression
(3) At critical temperature (Tc) the surface tension of the system is zero
(4) At critical temperature the gas and the liquid phases have different critical densities

fuEu esa ls dkSulk Økafrd rkieku ds fy, lgh ugha gS %

(1) og mPp rki gS ftl ij nzo rFkk ok"i lgvfLrRo esa gksrs gSaA

(2) Økafrd rki dh lhek ds ckgj nksuksa voLFkkvksa esa dksbZ vUrj ugha gksrk gS vkSj lEihMu }kjk nzo voLFkk izkIr ugha gks ldrh

gSA

(3) Økafrd rki (Tc) ij ra=k dk i`"B ruko 'kqU; gks tkrk gSA

(4) Økafrd eki ij xSl vkSj nzo voLFkkvksa ds Økafrd ?kuRo vyx gksrs gSaA

17. The ratio of rates of diffusion of SO2,O2 and CH4 is

SO2,O2 rFkk CH4 dh folj.k dh njksa dk vuqikr gS

(1) 1 : 2 : 2 (2) 1 : 2 : 4 (3) 2 : 2  : 1 (4) 1 : 2 : 2
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18. 50 ml of hydrogen diffuses out through a small hole from a vessel in 20 minutes.The time needed for 40 ml of
oxygen to diffuse out is

20 feuV esa ik=k ls lw{e fNnz }kjk 50 ml gkbMªkstu folfjr gks tkrh gS rks 40 ml  vkWDlhtu dk folfjr gksus esa le;

yxsxk

(1)12 min (2) 64 min (3) 8 min (4) 32 min

19. Pressure of a mixture of 4 g of O2 and 2 g of H2 confined in a bulb of 1 litre at 00 C is

4 xzke  O2 vkSj 2 xzke H2 1 yhVj ds cYc eas 00 C ij gS rks bl feJ.k dk nkc gksxk

(1) 25.215 atm (2) 31.205 atm (3) 45.215 atm (4) 15.210 atm

20. The following graph illustrates ( fn;k x;k xzkQ iznf'kZr djrk gS % )

V

Temp. ( C)0

(1) Dalton’s law (2) Charle’s law (3) Boyle’s law (4) Gay-Lussac’s law

(1) MkWYVu dk fu;e (2) pkYlZ dk fu;e (3) ckW;y dk fu;e (4) xsyqlSd dk fu;e

21. What is kinetic energy (per mole) of O2 at 470 C

47º C ij O2 dh xfrt ÅtkZ ¼izfr eksy½ D;k gksxh

(1) 1.24 x 102  twy (2) 2.7 x 103 twy (3) 1.24 x 103 twy (4) 3.24 x 102 twy

22. A mixture of sand and iodine can be separated by
(1) Crystallisation (2) Sublimation (3) Distillation (4) Fractional distillation

Ckkyw jsr rFkk vk;ksMhu ds feJ.k dks i`Fkd fd;k tkrk gS

(1) fØLVyhdj.k }kjk (2) Å/oZikru }kjk (3) vklou }kjk (4) izHkkth vklou }kjk

23. The law of multiple proportions was proposed by
(1) Lavoisier (2) Dalton (3) Proust (4) Gay-Lussac

xqf.kr vuqikr dk fu;e fn;k Fkk

(1) ysoksf'k;j (2) MkWYVu (3) izkmLV (4) xSyqlsd

24. 1 L of N2 combines with 3 L of H2 to form 2L of NH3 under the same conditions. This illustrates the

(1) Law of constant composition (2) Law of multiple proportions

(3) Law of reciprocal proportions (4) Gay-Lussac’s law of gaseous volumes

1 yhVj N2 rFkk 3 yhVj  H2 la;ksx dj 2 yhVj NH3 dk fuekZ.k djrs gSa ;g O;k[;k djrk gS

(1) fLFkj la?kVu dk fu;e (2) xqf.kr vuqikr dk fu;e

(3) O;qRØe vuqikr dk fu;e (4) xSyqlsd dk xSlh; vk;ru dk fu;e
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25. The maximum amount of BaSO4 precipitated on mixing equal volumes of BaCI2 (0.5 M) with H2SO4 (1M) will

correspond to

BaCI2 (0.5 M) rFkk H2SO4 (1M) foy;uksa ds leku vk;ru feykus ij  BaSO4 dh vf/kdre ek=kk vo{ksfir gksxh

(1) 0.5 M (2) 1.0 M (3) 1.5 M (4) 2.0 M

26. Volume of 0.6 M NaOH required to neutralize 30 cm3 of 0.4 M HCI is

30 cm3   0.4 M HCI ds iw.kZ mnklhuhdj.k gsrq 0.6 M NaOH dk vk;ru gS

(1) 30 cm3 (2) 20 cm3 (3) 50 cm3 (4) 45 cm3

27. The number of moles of oxygen obtained by the electrolytic decomposition of 108 g water is

108 g  ty ds oS|qr vi?kVu ls izkIr vkWDlhtu ds eksyksa dh la[;k fuEu gS %

(1) 2.5 (2) 3 (3) 5 (4) 7.5

28. Canesugar has molecular mass 342 g. If its 34.2 g dissolve in 1-litre so, find the no. of molecules

b{kq 'kdZjk dk v.kq nzO;eku 342 g gS ;fn ;g 1 yhVj esa 34.2 g ?kqyrk gS rks blds v.kqvksa dh la[;k gksxhA

(1) 6.02 x 1022 (2) 6.02 x 1022 (3) 10 (4) 6.02 x 1024

29. The correct set of quantum numbers for the unpaired electron of chlorine atom is

Dyksjhu ijek.kq ds v;qfXer bysDVªkWu ds fy, Dok.Ve la[;k dk lgh lsV gS

n l m

(1) 2 1 0

(2) 2 1 1

(3) 3 1 1

(4) 3 0 0

30. The orbital diagram in which the Aufbau’s principle is violated is

d{kd fp=k.k ftlesa vkQckm fl)kUr dk mYya?ku gS

2s 2px 2py 2pz

(1)    

(2)    

(3)    

(4)     

31. From the given sets of quantum numbers the one that is inconsistent with the theory is

uhps fn;s x;s Dok.Ve la[;kvksa ds ;qXeksa esa og ;qXe crkb;s tks lS)kfUrd Lrj ls vlEc) gS

(1) n = 3; I = 2; m = -3; s = +1/2

(2) n = 4; I = 3; m = 3; s = +1/2

(3) n = 2; I =1; m = 0; s = -1/2

(4) n = 4; I = 3; m = 2; s =+1/2
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32. The uncertainty in the position of an electron (mass= 9.1 x10–28 g) moving with a velocity of 3.0 x104 cms–1

accurate upto 0.001% will be

(Use
4

h
 in the uncertainty expression, where h=6.626 x 10–27 erg-s)

,d bysDVªkWu (nzO;eku = 9.1 x10–28 g) ds oxs dk 0.001 % rd lgh eku 3.0 x104 cms–1 gSA mlds LFkku dh vfuf'prrk

gksxh

(vfuf'prrk O;atd esa 
4

h
 iz;ksx dhft;s] h=6.626 x 10–27 erg-s)

(1) 1.92cm (2) 7.68cm (3) 5.76cm (4) 3.84cm

33. From the given sets of quantum numbers the one that is inconsistent with the theory is

uhps fn;s x;s Dok.Ve la[;kvksa ds ;qXeksa esa og ;qXe crkb;s tks lS)kfUrd Lrj ls vlEc) gS %

(1) n = 3 ; l = 2 ; m = –3 ; s = + 1/2 (2) n = 4 ; l = 3 ; m = 3 ; s = + 1/2
(3) n = 2 ; l = 1 ; m = 0 ; s = – 1/2 (4) n = 4 ; l = 3 ; m = 2 ; s = + 1/2

34. Which of the following pair of orbitals posses two nodal planes

fuEu esa ls d{kdksa ds dkSuls ;qXe ds nks uksMy ry gksrs gSa

(1) Pxy, 22 yxd


(2) dxy,dzx (3) Pxy, dzx (4) 2zd 22 yxd


35. The de-Broglie wavelength of a tennis ball of mass 60 g moving with a velocity of 10 metres per second is
approximately
(1) 10–33 metres (2) 10–31 metres (3) 10–16 metres (4) 10–25 metres

,d Vsful ckWy dk nzO;eku 60 xzke gS vkSj og 10 ehVj izfr lsd.M ds osx ls ?kwerh gS rks bldh Mh czksxyh

rjaxnS/;Z yxHkx gksxh

(1) 10–33 ehVj (2) 10–31 ehVj (3) 10–16 ehVj (4) 10–25 ehVj

36. The formation of energy bands in solids are in accordance with

(1) Heisenberg's uncertainty principle (2) Bohr's theory

(3) Ohm's law (4) Rutherford's atomic model

Bksl esa ÅtkZ cS.M dk fuekZ.k fdlds vuqlkj gksrk gS

(1) gkbtsucxZ vfuf'prrk fl)kUr (2) cksgj fl)kUr

(3) vkse fu;e (4) jnjQksMZ ijek.kq ekWMy

37. In Balmer series of hydrogen atom spectrum which electronic transition causes third line

(1) Fifth Bohr orbit to second one (2) Fifth Bohr orbit to first one

(3) Fourth Bohr orbit to second one (4) Fourth Bohr orbit to first one

gkbMªkstu ijek.kq dh ckej Js.kh esa fdl bysDVªkWu ds laØe.k ls rhljh js[kk curh gS

(1) ikapoh cksgj d{kk ls nwljh esa (2) ikapoh cksgj d{kk ls izFke esa

(3) pkSFkh cksgj d{kk ls nwljh esa (4) pkSFkh cksgj d{kk ls izFke esa
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38. The radius of first Bohr's orbit for hydrogen is 0.53 Å . The radius of third Bohr's orbit would be

gkbMªkstu ds izFke cksgj d{kk dh f=kT;k 0.53 Å gS] rks rhljh cksgj d{kk dh f=kT;k gksxh

(1) 079 Å (2)159 Å (3) 3.18 Å (4) 4.77 Å

39. The first use of quantum theroy to explain the structure of atom was made by

(1) Heisenberg (2) Bohr (3) Planck (4) Einstein

ijek.kq dh lajpuk dks le>kus ds fy;s Dok.Ve fl)kUr dk izFke mi;ksx fdlds }kjk fd;k x;k

(1) gkbtsucxZ (2) cksgj (3) Iykad (4) vkbaLVhu

40. Bohr's radius can have

(1) Discrete values (2) +Ve values

(3) –Ve values (4) Fractional values

cksgj f=kT;k j[krh gS

(1) fMLØhV eku ¼vlrr~ eku½ (2) /kukRed eku

(3) _.kkRed eku (4) izHkkth eku

41. Elements in which 4f orbitals are progressively filled are called as

(1) Transition elements (2) Lanthanides

(3) Actinides (4) Inert gases

os rRo ftuesa 4f d{kd vuqØfed Hkjs gksrs gSa] dgykrs gSaA

(1) laØe.k rRo (2) ySUFksukbM

(3) ,fDVukbM (4) vfØ; xSl

42. Beryllium shows diagonal relationship with

csfjfy;e blds lkFk fod.kZ lEcU/k n'kkZrk gS

(1) Mg (2) Na (3) B (4) AI

43. The order of magnitude of ionic radii of ions Na+,Ma2+,AI3+ and Si4+ is

Na+,Ma2+,AI3+ rFkk Si4+ vk;uksa dh vk;fud f=kT;kvksa ds eku dk Øe gS

(1) Na+ < Mg2+ < AI3+< Si4+ (2) Mg2+ > Na+ > AI3+> Si4+

(3) AI3+ >Na+ > Si4+ >Mg2+ (4) Na+ > Mg2+ >AI3+ > Si4+

44. The first ionization energy of nitrogen is more than that of oxygen because
(1) Nitrogen has half filled p-orbitals
(2) Nitrogen is left to the oxygen in the same period of the periodic table
(3) Nitrogen contains less number of electrons
(4) Nitrogen is less electronegative
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ukbVªkstu dh izFke vk;uu ÅtkZ] vkWDlhtu dh vk;uu ÅtkZ ls vf/kd gS D;ksafd

(1) ukbVªkstu eas v/kZiwfjr p-d{kd gSA

(2) vkorZ lkj.kh esa ukbVªkstu ,d gh vkorZ esa vkWDlhtu ds cka;h vksj gSA

(3) ukbVªkstu esa bysDVªkWuksa dh la[;k de gSA

(4) ukbVªkstu de fo|qr _.kkRed

45. Fluorine has low electron affinity than chlorine because of
(1) Smaller radius of fluorine, high density (2) Smaller readius of chlorine, high density
(3) Bigger radius of fluorine, less density (4) Smaller radius of chlorine, less density

F dh bysDVªkWu ca/kqrk Cl ls de gksrh gS D;ksafd

(1) F dh de f=kT;k ,oa mPp ?kuRo (2) Cl dh de f=kT;k ,oa mPp ?kuRo

(3) F dh vf/kd f=kT;k ,oa de ?kuRo (4) Cl dh de f=kT;k ,oa de ?kuRo

PART-B

Straight Objective Type

This section contains 45 multiple choice questions. Each question has 4 choices (1), (2),

(3) and (4) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj

bl [k.M esa 45 cgq&fodYih iz'u gSA izR;sd iz'u ds 4 fodYi (1), (2), (3) rFkk (4) gSa, ftuesa ls flQZ ,d lgh

gSA

46. If the time period  )T(  of vibration of a liquid drop depends on surface tension )S( , radius  )r( of

the drop and density )( of the liquid, then the expression of (T) is

(1) S/rkT 3 (2) S/rkT 32/1

(3) 2/13 S/rkT  (4) None of these

;fn fdlh nzo dh cw¡n ds dEiu dk vkoZrdky (T)] cwan ds i"̀B ruko (S),f=kT;k (r) ,oa ?kuRo ( ) ij fuHkZj djrk

gS rks vkoZrdky dk O;atd gS

(1) S/rkT 3 (2) S/rkT 32/1

(3) 2/13 S/rkT  (4) mijksDr esa ls dksbZ ugh
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47. Which of the two have same dimensions

(1) Force and strain (2) Force and stress

(3) Angular velocity and frequency (4) Energy and strain

fdl ;qXe dh foek;sa leku gSa

(1) cy rFkk fod`fr (2) cy rFkk fod`fr

(3) dks.kh; osx rFkk vko`fr (4) ÅtkZ rFkk fod`fr

48. A body starts from rest. What is the ratio of the distance travelled by the body during the 4th and

3rd second

,d oLrq fojkeoLFkk ls pyuk izkjEHk djrh gS] blds )kjk pkSFks rFkk rhljs lSd.M esa r; dh x;h nwwfj;ksa dk vuqikr

gskxkA

(1)  5
7

(2)  7
5 (3)  3

7
(4)  7

3

49. An object is projected upwards with a velocity of 100 m/s . It will strike the ground after (approxi-

mately)

,d oLrq dks 100 eh@ls ds osx ls Å/okZ/kj Åij dh vksj iz{ksfir fd;k x;k gSA bls i`Foh ij Vdjkus esa yxk le;

gksxkA ¼yxHkx½

(1) 10 sec (2) 20 sec (3) 15 sec (4) 5 sec

50. Time taken by an object falling from rest to cover the height of  h1 and h2  is respectively t1  and t2

then the ratio of t1  to t2  is

fdlh oLrq dks h1 rFkk h2 Å¡pkbZ;ksas rd fxjus esa yxus okyh le; Øe'k% t1 o t2 gksas rks t1 : t2 gksxkA

(1)  h1 : h2  (2) 21 h:h (3)  h1 : 2h2 (4)  2h1 : h2

51. A 500 kg car takes a round turn of radius 50 m with a velocity of 36 km/hr. The centripetal force is

500 kg fdxzk dh ,d dkj f=kT;k ds o`r es 36 fdyksehVj@?kaVs dh j¶rkj ls pDdj yxk jgh gS] rks vfHkdsUnzh;

cy gksxkA

(1) 250 N (2) 750 N (3) 1000 N (4) 1200 N

52. At the top of the trajectory of a projectile, the acceleration is

(1) Maximum (2) Minimum (3) Zero (4) g

fdlh iz{ksI; ds ekxZ ds f'k[kj ij Roj.k gksrk gS

(1) vf/kdre (2) U;wure (3) 'kwU; (4) g
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53. A football player throws a ball with a velocity of 50 metre/sec at an angle 30 degrees from the

horizontal. The ball remains in the air for  )s/m10g( 2

,d QqVcky dk f[kykMh xasn dks {kSfrt ls 30º dks.k ij 50 ehVj@lSd.M ds osx ls mNyrk gS] rks xsan fdrus le;

rd gok esa jgrh gS ¼g = 10 eh@lS-½

(1) 2.5 sec (2) 1.25 sec (3) 5 sec (4) 0.625 sec

54. A bullet of mass 5 g is shot from a gun of mass 5 kg. The muzzle velocity of the bullet is 500 m/

s. The recoil velocity of the gun is

(1) 0.5 m/s (2) 0.25 m/s (3) 1 m/s (4) Data is insufficient

5 xzke nzO;eku dh ,d xksyh 5 fdxzk dh canwd ls nkxh tkrh gSA xksyh dk vxz osx 500 eh@lsa gSA canwd dk izfrf{kIr

osx gksxkA

(1) 0.5 m/s (2) 0.25 m/s (3) 1 m/s (4) fooj.k vi;kZIr gS

55. The resultant force of 5 N and 10 N can not be

5N rFkk 10N dk ifj.kkeh cy ugh gks ldrk gS

(1) 12 N (2) 8 N (3) 4 N (4) 5 N

56. Two masses m1  and m2 are attached to a string which passes over a frictionless smooth pulley.

When    m1 = 10kg. m2 = 6kg, the acceleration of masses is

Hkkjghu ,oa ?k"kZ.k jfgr f?kjuh ls xqtjrh gqbZ Mksjh ds fljksas ij m1 o m2 nzO;eku yVdk, x;s gSA tc m1 = 10kg,

,oa  m2 = 6 kg gS] rks nzO;eku dk Roj.k gSa

 

m2 m1 

(1) 20 m/s2 (2) 5 m/s2 (3) 2.5  m/s2 (4) 10 m/s2

57. A horizontal force of 129.4 N is applied on a 10 kg block which rests on a horizontal surface. If the

coefficient of friction is 0.3, the acceleration should be

{kSfrt lrg ij fLFkr 10 fdxzk ds ,d fi.M ij ,d 129.4 U;qVu dk {kSfrt cy yxk;k tkrk gSA ;fn ?k"kZ.k xq.kkad

0.3 gks] rks fi.M dk Roj.k gksuk pkfg;s

(1) 9.8m/s2 (2) 10m/s2 (3) 12.6 m/s2 (4) 19.6 m/s2
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58. A ball of mass m moves with speed v and strikes a wall having infinite mass and it returns with

same speed then the work done by the ball on the wall  is

(1) Zero (2)  mv  J  (3) m/v  J (4) v/m  J

m nzO;eku dh ,d xsan v osx ls xfr'khy gS rFkk vuUr nzO;eku dh ,d nhokj ls Vdjkrh gSA Vdjkus ds i'pkr~

xsan mlh osx ls ykSV vkrh gS] rks xsan ds }kjk nhokj ij lEikfnr dk;Z gS

(1) 'kwU; (2)  mv  J (3) m/v  J (4) v/m  J

59. Two springs of spring constants 1500 N/m and 3000 N/m respectively are stretched with the

same force. They will have potential energy in the ratio

nks fLizax ftuds fLizax fu;rkad Øe'k 1500 N/m vkSj 3000 N/m gS] dks ,dleku cy ls [khapk tkrk gSA mudh

fLFkfrt ÅtkZ dk vuqikr gksxkA

(1) 4 : 1 (2) 1 : 4 (3) 2 : 1 (4)  1 : 2

60. A body of mass 2 kg is projected vertically upwards with a velocity of 2m sec–1 . The K.E. of the

body just before striking the ground is

2 kg nzO;eku ds ,d fi.M dks Å/okZ/kj Åij dh vksj 2m sec–1 ds osx ls Qsadk tkrk gS] rks i`Foh ls Vdjkus ds

Bhd igys bldh xfrt ÅtkZ gSA

(1) 2 J (2) 1 J (3) 4 J (4) 8 J

61. Two bodies A and B having masses in the ratio of 3 : 1 possess the same kinetic energy. The ratio

of their linear momenta is then

nks fi.M A rFkk B ds nzO;ekuksa dk vuqikr 3 : 1 gSA mudh xfrt ÅtkZ leku gS buds js[kh; laosxksa dk vuqikr

gksxkA

(1) 3 : 1 (2) 9 : 1 (3) 1 : 1 (4) 1:3

62. A bullet is fired from a rifle. If the rifle recoils freely, then the kinetic energy of the rifle is

(1) Less than that of the bullet (2) More than that of the bullet

(3) Same as that of the bullet (4) Equal or less than that of the bullet

,d canwd ls xksyh nkxh tkrh gS] ;fn cUnwd ihNs dh vksj xfr djus gsrq Loar=k gks] rc cUnqd dh xfrt ÅtkZ gksxhA

(1) xksyh ls de (2) xksyh lss T;knk

(3) xksyh ds leku (4) xksyh ds leku vFkok de
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63. A motor boat is travelling with a speed of 3.0 m/sec. If the force on it due to water flow is 500 N,

the power of the boat is

,d eksVj cksV 3.0 m/sec ds osx ls xfr dj jgh gSA ;fn ikuh ds izokg ds dkj.k bl ij 500N dk cy yxrk

gks] rks cksV dh 'kfDr gS

(1) 150 kW (2) 15 kW (3) 1.5 kW (4) 150 W

64. The power of pump, which can pump 200 kg of water to a height of 50 m in 10 sec, will be

(1) watt1010 3 (2) watt1020 3  (3) watt104 3 (4) watt1060 3

ml iai dh 'kfDr D;k gksxh] tks 200 fdxzk ikuh dks 50 eh- Å¡pkbZ rd 10 lsd.M es igq¡prk gS

(1) 31010 okV (2) 31020 okV (3) 3104 okV (4) 31060  okV

65. A ball of weight 0.1 kg coming with speed 30 m/s strikes with a bat and returns in opposite

direction with speed 40 m/s, then the impulse is (Taking final velocity as positive)

0.1 fdxzk nzO;eku dh ,d xasn 30 eh@ls- dh pky ls cYys ls Vdjkrh gS rFkk foijhr fn'kk esa 40 eh@lsd.M dh

pky ls okil ykSVrh gSA rc vkosx gS ¼osx dh vafre fn'kk /kukRed ekuh tk;sa½

(1) )30(1.0)40(1.0  (2) )30(1.0)40(1.0 

(3) )30(1.0)40(1.0  (4) )20(1.0)40(1.0 

66. Two bodies having same mass 40 kg are moving in opposite directions, one with a velocity of

10m/s  and the other with 7m/s. If they collide and move as one body, the velocity of the combina-

tion is

leku nzO;eku 40 kg dh nks oLrqvksa foijhr fn'kkvksa esa xfreku gS ,d dk osx 10 m/s rFkk nwljh dk 7m/s gSA

;fn os izR;kLFk :i ls Vdjkus ds i'pkr~ la;qDr gksdj xfr djsa rks] bl la;kstu dk osx gksxkA

(1) 10m/s (2) 7 m/s (3) 3 m/s (4) 1.5 m/s

67. A 2 kg body and a 3 kg body are moving along the x-axis. At a particular the 2 kg body has a

velocity of  3ms–1 and the 3 kg body has the velocity of 2ms–1. The velocity of the centre of mass

at that instant is

(1) 5ms–1 (2) 1 ms–1 (3) 0 (4) None of these

2 fdxzk vkSj 3 fdxzk nzO;eku dh nks oLrq;sa x-v{k ds vuqfn'k xfreku gSA ,d fuf'pr {k.k ij 2 fdxzk dh oLrq

dk osx 3eh@ls- rFkk 3 fdxzk dh oLrq dk osx 2 eh@lsa- gSA ml {k.k xq:Ro dsUnz dk osx gSA

(1) 5ms–1 (2) 1 ms–1 (3) 0 (4) mijksDr esa ls dksbZ ugh

68. The direction of the angualr velocity vector is along

(1) The tangent to the circular path (2) The inward radius

(3) The outward radius (4) The axis of rotation
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dks.kh; osx lfn'k dh fn'kk fuEu esa ls fdlds vuqfn'k gksrh gS

(1) o`rh; ekxZ dh Li'kZT;k ds (2) f=kT;k ds vuqfn'k Hkhrj dh vksj

(3) f=kT;k ds vuqfn'k ckgj dh vksj (4) ?kw.kZu v{k ds

69. Five particle of mass 2 kg are attached to the rim of a circular disc of radius 0.1m & negligible
mass. Moment of inertia of the system about the axis passing throught the center of the disc &
perpendicular to its plane is

2 fdxzk nzO;eku ds 5 d.k 0.1 ehVj f=kT;k ,oa ux.; nzO;eku dh ,d o`rh; pdrh dh ifjf/k ls tqMs+ gSA blds

ry ds yEcor~ ,oa dsUnz ls gksdj xqtjus okyh v{k ds ifjr% bl fudk; dk tM+Ro vk/kw.kZ gSA

(1) 1 kg-m2 (2) 0.1 kg-m2 (3) 2 kg-m2 (4) 0.2-m2

70. Moment of inertia of a disc about its own axis is I. Its moment of inertia about a tangential axis in
its plane is

,d pdrh dk bldh v{k ds ifjr% tMRo vk?kw.kZ I gSA blds ry esa fLFkr Li'kZ js[kk ds ifjr% bldk tM+Ro vk?kw.kZ

gksxkA

(1) I
2
5 (2) 3 I (3) I

2
3 (4) 2 I

71. Let F
  be the force acting on a particle having position vector r

  and T
  be the torque of this force

about the origin. Then

(1) 0T.Fand0T.r 
 (2) 0T.Fand0T.r 



(3) 0T.Fand0T.r 
 (4) 0T.Fand0T.r 



ekuk fd fdlh d.k] ftldk fLFkr lfn'k r

gS] ij yxus okyk cy F

  gS] ,oa ewy fcUnq ds ifjr% bl cy dk cy

vk?kw.kZ  T

 gS

(1) 0T.F0T.r 


r Fkk (2) 0T.F0T.r 


r Fkk

(3) 0T.F0T.r 


r Fkk (4) 0T.F0T.r 


r Fkk

72. The angular momentum of a system of particles is conserved

(1) When no external force acts upon the system

(2) When no external torque acts on the system

(3) When no external impulse acts upon the system

(4) When axis of rotation remains same

d.kksa ds ,d fudk; dk dks.kh; laosx lajf{kr jgrk gS

(1) ;fn fudk; ij dksbZ cká cy dk;Z ugh djrk gS

(2) ;fn fudk; ij dksbZ cká cy vk?kw.kZ dk;Z ugh djrk gS

(3) ;fn fudk; ij dksbZ cká vkosx dk;Z ugh djrk gS

(4) ;fn ?kw.kZu v{k leku jgrk gS
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73. A man is standing at the edge of a circular plate which is rotating with a constant angular speed

about a perpendicular axis passing through the center. If the man walks towards the axis along

the radius, its angular velocity.

(1) Decreases (2) Remains constant

(3) Increases (4) Information is incomplete

,d O;fDr fdlh o`rh; IysV ds fljs ij [kM+k gqvk gS] tks fd b;ds dsanz ls tkus okyh yEcor~ v{k ds ifjr% fu;r

dks.kh; pky ls ?kw.kZu dj jgh gSA ;fn f=kT;k ds vuqfn'k v{k dh vksj pyuk izkjaHk dj ns rks bldk dks.kh; osx

(1) ?kVsxkA (2) fu;r jgsxk

(3) c<s+xk (4) fn;k x;k fooj.k viw.kZ gS

74. The weight of a body at the centre of the earth is

(1) Zero (2) Infinite

(3) Same as on the surface of earth (4) None of the above

i`Foh ds dsUnz ij oLrq dk Hkkj gS

(1) 'kqU; (2) vuUr

(3) i`Foh dh lrg ij Hkkj ds rqY; (4) mijksDr esa ls dksbZ ugh

75. As we go from the equator to the poles, the value of g

(1) Remains the same (2) Decreases

(3) Increases (4) Decreases upto a latitude of 45°

Hkwe/; js[kk ls /kqzoksa dh vksj tkus ij g dk eku

(1) ugha cnyrk gS (2) ?kVrk gS

(3) c<+rk gS (4)  45° v{kka'k rd ?kVrk gS

76. The radii of two planets are respectively R1 and R2 and their densities are respectively 1 and 2.

The ratio of the accelerations due to gravity at their surfaces is

nks xzgksa dh f=kTtk;sa Øe'k% R1 rFkk R2 rFkk muds ?kuRo Øe'k% 1 rFkk 2 gSaA mudh lrgksa ij xq:Roh; Roj.kksa

dk vuqikr gksxkA

(1) 2
2

2
2
1

1
21 ::

RR
gg


 (2) 212121 :: RRgg 

(3) 122121 ::  RRgg   (4) 221121 ::  RRgg 
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77. Choose the correct statement from the following :

Weightlessness of an astronaut moving in a satellite is a situation of

(1) Zero g (2) No gravity

(3) Zero mass (4) Free fall

fuEufyf[kr esa ls lgh dFku NkafV;saA

,d mixzg esa ?kweus okys varfj{k ;k=kh dh Hkkjghurk dh fLFkfr gSA

(1) 'kwU; g dh fLFkfr (2) dksbZ xq:Ro ugha gksus dh fLFkfr

(3) 'kwU; lagfr gksus dh fLFkfr (4) eqä :i ls fxjus dh fLFkfr

78. An astronaut orbiting the earth in a circular orbit 120 km above the surface of earth, gently drops

a spoon out of space-ship. The spoon will

(1) Fall vertically down to the earth

(2) Move towards the moon

(3) Will move along with space-ship

(4) Will move in an irregular way then fall down to earth

 tc pEep dks varfj{k ;ku ls ckgj Qsadk tkrk gS] rks bldk osx varfj{k ;ku ds d{kh; osx ds cjkcj gksxkA

,d varfj{k ;k=kh i`Foh dh lrg ls 120 fdeh dh ÅapkbZ ij o`Ùkkdkj d{kk esa i`Foh ds pkjksa vksj pDdj yxk jgk

gSA og /khjs ls vUrfj{k ;ku esa ls ,d pEep fxjkrk gSA pEep

(1) uhps i`Foh ij lh/kk fxjsxkA

(2) pUnzek dh vksj xfr djsxkA

(3) vUrfj{k ;ku dh fn'kk esa mlds lkFk&lkFk xfr djsxkA

(4) vfu;fer <ax ls xfr djsxk rFkk i`Foh ij fxj tk;sxkA

79. Where can a geostationary satellite be installed

(1) Over any city on the equator (2) Over the north or south pole

(3) At height R above earth (4) At the surface of earth

Hkw&LFkk;h mixzg dks dgk¡ LFkkfir djuk pkfg,A

(1) fo"kqor js[kk ij fdlh Hkh 'kgj ds Åij (2) mÙkjh vFkok nf{k.kh /kzqo ds Åij

(3) i`Foh ds Åij R Åpk¡bZ ij (4) i`Foh dh lrg ij

80. According to Kepler, the period of revolution of a planet (T) and its mean distance from the sun (r)

are related by the equation

(1) T3r3 = constant (2) T2r3 =  constant (3) Tr3 =  constant (4) T2r =  constant

dsiyj ds vuqlkj fdlh xzg dk vkorZdky (T) rFk bldh lw;Z ls vkSlr nwjh (r) ds chp lgh lEcU/k gksxkA

(1) T3r3 = fu;r (2) T2r3 = fu;r (3) Tr3 = fu;r (4) T2r =  fu;r
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81. The excess of pressure inside a soap bubble than that of the outer pressure is

lkcuq dh fdlh xksyh; cqycqyksa ds vUnj rFkk ckgj ds nkc esa vUrj gksrk gSA

(1) 
r
T2 (2) 

r
T4  (3) 

r
T
2

(4) 
r
T

82. The correct relation is

lgh lEcU/k gSA

(1) hdg
T

r
cos2

 (2) cos2T
hdg

r  (3) cos
2 dghT

r  (4) hdg
T

r
2
cos



83. Why the dam of water reservoir is thick at the bottom

(1) Quantity of water increases with depth (2) Density of water increases with depth

(3) Pressure of water increases with depth (4) Temperature of water increases with depth

fdlh ty dq.M ds ck¡/k dh eksVkbZ isansa ij vf/kd gksrh gS] D;ksafd

(1) xgjkbZ ds lkFk ty dh ek=kk c<+rh gSA (2) xgjkbZ ds lkFk ty dk ?kuRo c<+rk gSA

(3) xgjkbZ ds lkFk ty dk nkc c<+rk gSA (4) xgjkbZ ds lkFk ty dk rki c<+rk gSA

84. Water is flowing through a tube of non-uniform cross-section ratio of the radius at entry and exit

end of the pipe is 3 : 2. Then the ratio of velocities at entry and exit of liquid is

vleku ifjPNsn dh ,d uyh ls ty izokfgr gks jgk gSA uyh ds izos'k fljs o fuxZe fljs dh f=kT;kvksa dk vuqkr

3 : 2 gSA rks izos'k o fuxZe fljs ij ty ds izokg osx dk vuqikr gksxkA

(1) 4 : 9 (2) 9 : 4 (3) 8 : 27 (4) 1 : 1

85. 4 moles of an ideal gas is at 0°C. At constant pressure it is heated to double its volume, then its

final temperature will be

4 eksy vkn'kZ xSl tks 0°C rkiØe ij Fkk] mls fLFkj nkc ij rc rd xeZ fd;k x;k tc rd mldk vk;ru nks

xquk u gks tk;s] rc xSl dk vfUre rki gksxkA

(1) 0°C (2) 273°C (3) 546°C (4) 136.5°C

86. The r.m.s. velocity will be greater for

(1) Hydrogen (2) Oxygen

(3) Equal for both (4) Nothing is definite

leku nkc o rki ij gkbMªkstu rFkk vkWDlhtu esa fdldk oxZ ek?; ewy osx vf/kd gksxkA

(1) gkbMªkstu (2) vkWDlhtu

(3) nksuksa dk leku (4) dqN fuf'pr ugha gSA
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87. In gases of diatomic molecules, the ratio of the two specific heats of gases CP/CV  is

f}ijekf.od xSl gsrq CP/CV dk eku gksxkA

(1) 1.66 (2) 1.40 (3) 1.33 (4) 1.00

88. Find the change in internal energy of the system when a system absorbs 2 kilocalorie of heat and

at the same time does 500 joule  of work

tc dk sbZ fudk; 2fdyks dSyksjh Å"ek vo'kk sf"kr djds 500 twy dk;Z djrk gS] rk s mldh vkUrfjd

ÅtkZ es a ifjorZu gSA

(1) 7900 J (2) 8200 J (3) 5600 J (4) 6400 J

89. For adiabatic processes   









v

p

C

C


(1) VP  = constant (2) VT  = constant (3) 1TV =constant (4) TV  = constant

:)ks"e ifjorZu ds fy, 









v

p

C

C


(1) VP  = fu;rkad (2) VT  = fu;rkad (3) 1TV  = fu;rkad (4) TV  = fu;rkad

90. During an isothermal expansion of an ideal gas

(1) Its internal energy decreases

(2) Its internal energy does not change

(3) The work done by the gas is equal to the quantity of heat absorbed by it

(4) Both (2) and (3) are correct

fdlh vkn'kZ xSl ds lerkih; izlkj esa

(1) bldh vkUrfjd ÅtkZ ?kVrh gSA

(2) bldh vkUrfjd ÅtkZ vifjofrZr jgrh gSA

(3) xSl }kjk fd;k x;k dk;Z blds }kjk vo'kksf"kr Å"ek ds rqY; gkssrk gSA

(4) nksuksa (2) ,oa (3) lgh gSA
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PART-C

Straight Objective Type

This section contains 90 multiple choice questions. Each question has choices (1), (2), (3)

and (4), out of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj

bl [k.M esa 90 cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (1), (2), (3) rFkk (4) gSa] ftuesa ls flQZ ,d lgh gSA

91. When xylem is surrounded by phloem on all sides, the vascular bundle is called
(1) Amphivasal (2) Leptocentric (3) Radial (4) Amphicribal

tc tk;ye lHkh rjQ ls ¶yks,e )kjk f?kjk jgrk gS] rc laogu iwy dgykrk gSA

(1) iks"kokg dsUæh (2) dspUæ iks"kokgh (3) vjh; (4) nk:dsUæh

92. Cellular recognition and adhesion are facilated by components in plasmalemma. These are
(1) lipids (2) proteins
(3) both (1) + (2) (4) glycolipids and glycoproteins

Iyktek dyk ds fdl vo;o }kjk dksf'kdkvksa dh igpku o layXurk dk dk;Z lEiUu gksrk gSA

(1) fyfiM }kjk (2) izksVhu }kjk

(3) (1) o (2) nksuksa ls (4) XykbdksfyfiM o XykbdksizksVhu }kjk

93. Vessels differ from tracheids
(1) In being living
(2) In the they are made up of a single cell
(3) In that they consist of a vertical row of cells with cross-wall dissolved
(4) Becasue they conduct water

okfgdk,¡ okfgfudkvksa ls fHkUu gksrh gS

(1) thfor voLFkk esa

(2) D;ksfd os ,d dksf'kdk ls cuh gksrh gS

(3) D;ksafd muesa ØkWl fHkfÙk ds ?kqy tkus ls dksf'kdkvksa dh m/oZ iafDr gksrh gS

(4) D;ksfd os ty laogu djrh gS

94. The stage at which cytokinesis begins in plant cells is
(1) Anaphase (2) Telophase (3) G0 phase (4) Interphase

voLFkk ftl ij ikni dksf'kdkvksa esa dksf'kdk æO; foHkktu izkjEHk gksrk gSA

(1) ,ukQst (2) VhyksQst (3) G0 izkoLFkk (4) bUVjQst

95. The number of  chromosome groups at the equatorial plane of metaphase-l of meiosis in a plant with 2n=50
shall be

;fn ,d ikS/ks esa 2n=50 gks rks crkb, fd e/;koLFkk-1 ds fujv{kjh; lery esa xq.klw=k tksM+ksa ds fdrus lewg gksaxs

(1) 25 (2) 50 (3) 75 (4) 100
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96. When 80s ribosomes are shaken in absence of Mg, they dissociated into smaller & larger subunits, these
are
(1) 50s & 30s (2) 40s & 60s (3) 60s & 20s (4) 49s & 40s

tc 80s jkbckslksEl dks Mg dh vuqifLFkfr esa fgyk;k tkrk gS rks muds fo;kstu ls dkSu ls [k.M mRiUu gksrs gSa

(1) 50s o 30s (2) 40s o 60s (3) 60s o 20s (4) 49s o 40s

97. When does the synthesis of RNA stop in cell cycle ?
(1) At G1 (2) At G2 (3) At S-stage (4) At M-stage

,d dksf'kdk pØ esa RNA dk la'ys"k.k dc :d tkrk gS

(1) G1 voLFkk esa (2) G2 voLFkk esa (3) S voLFkk esa (4) M voLFkk esa

98. Elongation of grass internode is due to
(1) Lateral meristem (2) Apical meristem
(3) Intercalary meristem (4) Procambium

?kklksa ds ioksZ dh o`f) gksrh gS

(1) ik'ohZ; foHkT;ksrd ds dkj.k (2) 'kh"kZLFk foHkT;ksrd ds dkj.k

(3) vUrosZ'kh foHkT;ksrd ds dkj.k (4) izkd~,/kk ds dkj.k

99. Which statement is wrong
(a) Movement of water by diffusion is called osmosis
(b) Deposition of wall material in the form of layer is called intussuception.
(c) In human beings the  erythrocyte membrane has approximately 52 % protein and 40 % lipids.
(d) Integral proteins are partialy or totaly embeded in the membrane.
(1) (a) and (c) (2) (b) and (d) (3) (b) only (4) (d) only

fuEu esa dkSu lk dFku vlR; gS&

(a) folj.k }kjk ty dk ifjogu ijklj.k dgykrk gS&

(b) Lrj ds #i esa fHkÙkh; inkFkZ dk fu{ksi.k d.kk/kku o`f) dgykrk gSA

(c) ekuo dh ,fjFkzkslkbV dh dyk esa yxHkx 52 % çksVhu o 40 % yhfiM ik;k tkrk gS&

(d) vkUrfjd çksVhu vkfU'kd #i ls ;k iw.kZr; % dyk esa /k¡ls gksrs gSaA

(1) (a) vkSj (c) (2) (b) vkSj (d) (3) (b) dsoy (4) (d) dsoy

100. Which statement is correct -
(1) Cytoskeleton gives mechanical support and maintain the shape of the cell.
(2) Ribosomes of chloroplasts are smaller than the cytoplasmic ribosomes.
(3) Both of these
(4) Only (2) is correct

fuEu esa dkSu lk dFku lR; gS &

(1) dksf'kdk dadky ;kfU=kd lgkjk çnku djrk gS rFkk dksf'kdk ds vkdkj dks cuk;s j[krk gSA

(2) IykfLVMksa jkbckslkse vkdkj esa dksf'kdk nzO; esa mifLFkr jkbckslkse ls NksVk gksrk gSA

(3) mijksDr nksuksa

(4) dsoy (2) lgh gS
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101. Which of the following statement is wrong
(1) Spring wood has luman in xylem & light in colour
(2) Secondary phloem & secondary xylem both form annual ring in dicot stem
(3) Vascular bundles of monocot stem are conjoint, colateral & closed type
(4) Dumbbelled shaped guard cells are formed in the leaves of grass

fuEu esa ls dkSulk dFku xyr gSA

(1) olar dkW"B esa tkbye esa pkSM+h xqàk gksrh gS rFkk ;g gYds jax dh gksrh gS

(2) f}chti=kh rus esa f}rh;d ¶yks;e vkSj f}rh;d tkbye nksuksa okf"kZd oy; cukrs gS

(3) ,d chti=kh rus ds laogu iwy esa la;qä] laikf'oZd vkSj can çdkj ds gksrs gSa

(4) ?kklksa dh ifÙk;ksa esa MEcykdkj vkÑfr dh }kj dksf'kdk,¡ ik;h tkrh gSaA

102. Crossing over occurs during
(1) Leptotene (2) Pachytene (3) Diplotene (4) Diakinesis

thufofue; (Økflax vksoj) fdl nkSjku izdV gksrk gSA

(1) ysIVksVhu  esa (2) isdhVhu es a (3) fMIyksVhu esa (4) Mk;dkbusfll esa

103. Radial vascular bundles occur in
(1) Dicot root (2) Monocot root (3) All roots (4) Dicot stem

vjh; laogu iwy fdlesa ik;s tkrs gS

(1) f)chti=kh ewy esa (2) ,dchti=kh ewy esa (3) lHkh ewyksa esa (4) f)chti=kh LrEHk eas

104. Swollen petiole of Eichhornia has
(1) Collenchyma (2) Chlorenchyma (3) Parenchyma (4) Aerenchyma

vkbdksfuZ;k ds Qwys gq, i.kZo`Ur esa gksrh gSA

(1) LFkwydks.kksrd (2) DyksjsUdkbek (3) eǹwrd (4) ok;qrd

105. The casparian strip is usually composed of
(1) Lignin (2) Pectin (3) Cutin (4) Suberin

dsLisfj;u iV~Vh lkekU;r% cuh gksrh gS

(1) fyfXuu dh (2) isfDVu dh (3) D;wVhu dh (4) lqcsfju dh

106. Identify the parts of given fig. labelled A B C D E from the list (i – vii) and select the correct options -

(i) Inner membrane (ii) Outer membrane (iii) Stroma lamella (iv) Thylakoid

(v) Cristae (vi) stroma (vii) Granum
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uhps fn;s x;s fp=k esa ukekafdr Hkkxksa A B C D E dks lwph (i – vii) ls igpkfu;s vkSj lgh fodYi dk pquko dhft, -

(i) vkUrfjd dyk (ii) oká dyk (iii) LVªksek iVfydk,¡ (iv) FkkbZySdkW;M

(v) fØLVh (vi) LVªksek (vii) xzsue
(A) (B) (C) (D) (E)

(1) (iv) (iii) (ii) (vii) (i)
(2) (iii) (ii) (iv) (i) (vii)
(3) (vii) (iii) (ii) (iv) (i)
(4) (vii) (v) (i) (iii) (ii)

107. Dumbbell shaped guard cells are found in
(1) Zea (2) Allium (3) Nerium (4) Cucurbita
MEcykdkj (Dumbbell shaped) }kj dksf'kdk,¡ ik;h tkrh gS

(1) eDdk esa (2) I;kt esa (3) dusj esa (4) dqdqjfcVk esa

108. The unthickened  cells of endodermis are
(1) Cambial cells (2) Passage cells (3) Both of these (4) None of these
vUr'peZ dh iryh dksf'kdk,¡ gSa -

(1) ,/kk dksf'kdk,¡ (2) ekxZ dksf'kdk,¡ (3) mijksDr nksuksa (4) bueas ls dksbZ ugha

109. Identify the correct match between types of chromosomes and their descriptions
Chromosomes  Position of centromere
(A) Metacentric (i) At the tip
(B) Submetacentric (ii) Almost near the tip
(C) Acrocentric (iii) At the middle
(D) Telocentric (iv) Slightly away from the middle

(1) A-(i) , B-(iii), C-(ii) , D-(iv) (2) A-(iv) , B-(iii) , C-(ii), D-(i)
(3) A-(iii) , B-(iv) , C-(ii) , D-(i) (4) A-(iv), B-(iii) , C-(i) , D- (ii)
fn;s x;s xq.klw=k ds izdkj rFkk muds o.kZu ds chp lgh feyku dks igpkfu;sA

xq.klw=k ls.Vªksfe;j dh fLFkfr

(A) esVklsfUVªd (i) 'kh"kZ ij

(B) lcesVklsfUVªd (ii) vR;f/kd 'kh"kZ ds ikl

(C) ,ØkslsfUVªd (iii) e/; esa

(D) VhykslsfUVªd (iv) e/; ls FkksM+k gVds

(1) A-(i) , B-(iii), C-(ii) , D-(iv) (2) A-(iv) , B-(iii) , C-(ii), D-(i)
(3) A-(iii) , B-(iv) , C-(ii) , D-(i) (4) A-(iv), B-(iii) , C-(i) , D- (ii)
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110. When xylem is surrounded by phloem on all sides, the vascular bundle is called
(1) Amphivasal (2) Leptocentric (3) Radial (4) Amphicribal

tc tk;ye lHkh rjQ ls ¶yks,e )kjk f?kjk jgrk gS] rc laogu iwy dgykrk gSA

(1) iks"kokg dsUæh (2) dsUæ iks"kokgh (3) vjh; (4) nk:dsUæh

111. Read the following statements
(a) The youngest layer of phloem lies just out side the cork cambium
(b) Sapwood is functional part of the secondary xylem or wood
(c) Nonporaous wood is hard wood that is found in angiospermic plants
(d) Annuals rings are absent in dicot root after secondary growth due to little seasonal variation in soil
temperature
Pick up the correct statements

fuEu dFkuksa dks if<+;sA

(a) ¶yks,e dh lcls u;h irZ dkWdZ dSfEc;e ds Bhd ckgj fLFkr gksrh gSA

(b) jldkW"B (Sapwood) f}rh;d tkbye ;k dkW"B dk fØ;k'khy Hkkx gSA

(c) vfNfær dkW"B dBksj dkW"B gS tksfd vko`Ùkchth; ikniksa (Angiospermic plants) esa ik;h tkrh gSA

(d) ènk rkiØe esa cgqr de ekSleh ifjorZu ds dkj.k f)rh;d of̀) ds ckn f)cthi=kh ewy esa okf"kZd oy; vuqifLFkr gksrh gSA

lgh dFkuksa dks NkWfV;sA

(1) a & c (2) b & c (3) a & d (4) b & d

112. How many reduction divisions are necessary for the formation of 200 grains of wheat

xsgw¡ esa 200 nkuksa ds fuekZ.k ds fy, fdrus U;wudkjh foHkktu vko';d gksrs gSaA

(1) 250 (2) 200 (3) 150 (4) 360

113. Colchicine prevents
(1) Replication of chromosomes (2) Condensation of chromosomes
(3) Completion of metaphase (4) Interphase.

dkWfYpflu fujksf/kr djrk gSA

(1) ØksekslksEl dh iqujko`fÙk (2) xq.klw=kksa dk la?kuu

(3) esVkQst dk iw.kZ gksuk (4) bUVjQst

114. Which tissue remains more active during autumn
(1) Vascular cambium    (2) Cork cambium (3) Parenchyma (4) Sclerenchyma

dkSulk Ård 'kjn ds nkSjku vf/kd lf+Ø; gksrk gS

(1) lagou ,/kk (2) dkWdZ ,/kk (3) eǹwrd (4) n`<+ksrd

115. Select the correct option with respect to mitosis
(1) Chromatid separate but remain in the centre of the cell in anaphase
(2) Chromatids start moving towards opposite poles in telophase
(3) Golgi complex and endoplasmic reticulurn are still visible at the end of prophase
(4) Chromosome move to the spindle equator and get aligned along equatorial plate in metaphase
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ekbVksfll ¼lelw=k.k½ ds fo"k; esa lgh fodYi pqfu, %

(1) ,sukQst ¼i'pkoLFkk½ esa ØkseSfVM i`Fkd gks tkrs ijUrq dksf'kdk ds dsUnz esa cus jgrs gSa

(2) VsyksQst ¼vUr;koLFkk½ esa ØkseSfVM foijhr /kzqoksa dh vksj xfr djus yx tkrs gSaA

(3) xkWYth lfEeJ rFkk ,aMksIykTeh tkyd iwokZoLFkk ds var ij Hkh n`';eku cus jgrs gSA

(4) esVkQst ¼e/;koLFkk½ esa xq.klw=k fLiaMy dh e/;js[kk ij pys tkrs rFkk e/;js[kk IysV ds lkFk iafDrc) gks tkrs gSa

116. Sap wood differ from heart wood in being
(1) Darker and non conducting (2) Softer and non conducting
(3) Lighter and conducting (4) Hard, darker and less conducting

jl dk"B fdlesa vUr% dk"B ls fHkUu gS

(1) xgjh rFkk vlaoguh (2) dksey rFkk vlaoguh

(3) gYdh rFkk laoguh (4) dBksj] xgjh rFkk de laoguh

117. In Mitosis, plant material suited for studying
(1) Anther (2) Shoot apex (3) Root apex (4) Leaf tip

ekbVksfll esa, v/;;u ds fy, mi;qDr ikni Hkkx gSA

(1) ijkxdks'k (2) izjksg 'kh"kZ (3) ewy 'kh"kZ (4) i.kZ 'kh"kZ

118. Polyarch and exarch vascular bundles are the characteristic of
(1) Dicot stem (2) Dicot root (3) Monocot stem (4) Monocot root

cgqvkfnnk:d (Polyarch) rFkk ckávkfnnk:d (Exarch) fdlds vfHky{k.k gS

(1) f}chti=kh ruk (2) f}chti=kh ewy (3) ,dchti=kh ruk (4) ,dchti=kh ewy

119. The middle lamella is made up of
(1) Lignin (2) Suberin
(3) Pectin/Ca-pectate/Ca & Mg pectate (4) Ca-phosphate

e/; iVfydk dk jklk;fud inkFkZ D;k gS

(1) fyfXuu (2) lqcsfju

(3) isfDVu vFkok Ca isDVsV /Ca/Mg isDVsV (4) Ca-QkWLQsV

120. Periderm includes-
(1) Phellem, Phelloderm, Plerome (2) Phellem, Phellogen, Dermatogen
(3) Phellem, Phellogen, Phelloderm (4) Phellem, Phellogen, Cortex

isjhMeZ ¼ifjRod½ esa 'kkfey gS

(1) QSye] QsyksMEkZ] Iyhjkse (2) QSye] Qsykstu] MesZVkstu

(3) QSye] Qsykstu] QsyksMeZ (4) QSye] Qsykstu] dkVsZDl

121. Plant cell is characterized by (OR) A mature plant cell has
(1) Presence of wall, absence of vacuole
(2) Presence of wall, vacuole & starch and the absence of centriole or centrosome
(3) Presence of vacuole & absence of plastids
(4) Presence of centriole & lysosome and absence of plastids



RESONANCE Page # 63Page # 63

STPXII1718

 

ikni dksf'kdk ds eq[; y{k.k D;k gS

(1) fHkfRr dh mifLFkfr ,oa fjfDrdk dh vuqifLFkfr

(2) fHkfRr] fjfDrdk ,oa eaM dh mifLFkfr rFkk rkjddk; dh vuqifLFkfr

(3) fjfDrdk dk gksuk] ,oa yod dk u gksuk

(4) rkjd dsUnz ,oa ykblkslkse dh mifLFkfr rFkk yod dh vuqifLFkfr

122. Water containing cavities in vascular bundles are found in :
(1) Sunflower (2) Maize (3) Cycas (4) Pinus

laogu iwyksa esa ty;qDr xqfgdk,¡ fdlesa ik;h tkrh gaS \

(1) lwjteq[kh (2) eDdk (3) lkbdl (4) ikbul

123. Mark the correct statement for cell membrane
(1) With respect to lipid, proteins can be integral & peripheral
(2) Some integral proteins may contain channels for water soluble materials to pass through
(3) Some integral proteins may be exposed to one side of the lipid bilayer only
(4) All the above

fuEufyf[kr esa ls dkSulk oDrO; dksf'kdk f>Yyh ds fy, lgh gS

(1) fyfiM dh vis{kk f>Yyh esa izksVhu lekdy ¼bUVhxjy½ ,oa mikUrh; ¼isfjQsjy½ gks ldrh gS

(2) f>Yyh dh dqN lekdy ¼bUVhxjy½ izksVhUl ty esa ?kqyu'khy inkFkksZa ds ikjxeu dh ufydk,a /kkj.k djrh gS

(3) dqN lekdy ¼bUVhxjy½ izksVhUl fyfiM f} rg dh ,d lrg ij mn~Hkkflr jgrh gS

(4) mijksDr lHkh dFku lgh gS

124. Centrioles :
(1) hold sister chromatids together during metaphase
(2) are duplicated before cell division
(3) are only present during cell division
(4) consist of DNA and histones

lsafVª;ksy  :
(1) eSVkQst izkoLFkk eas nks flLVj ØkseSfVd dks lkFk j[krk gSA

(2) dksf'kdk foHkktu ls igys f}xqf.kr gksrk gSA

(3) dsoy dksf'kdk foHkktu ds le; mifLFkr gksrk gSaA

(4)  DNA o fgLVksUl izksVhu ds cus gksrs gSaA

125. Annual rings are the bands of
(1) Secondary cortex and cork (2) All secondary vascular tissue
(3) Secondary xylem and xylem rays (4) Secondary phloem and medullary rays

okf"kZd oy; fdlds cS.M gS

(1) f}rh;d dkWVsZDl rFkk dkWdZ (2) lHkh f}rh;d laogu Ård

(3) f}rh;d tkbye rFkk tkbye jf'e;k¡ (4) f}rh;d ¶yks,e rFkk eTtk fdj.ksa
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126. What is autophagic vacuole ?
(1) A vacuole filled with water
(2) A vacuole filled with pigments
(3) A lysosome
(4) Golgibody

Lo% Hkksftr jl/kkfu;ka (autophagic vacuole) fdUgsa dgrs gSa

(1) ikuh ls Hkjh jl/kkuh dks

(2) o.kZdksa ls Hkjh jl/kkuh dks

(3) ykblkslkse dks

(4) xkWYthdk;

127. During secondary growth in Dicot root, the vascular cambium is formed by
(1) Cortex (2) Endodermis

(3) Pericycle & Conjunctive tissue (4) Outer layer of cortex

f}chti=kh ewy esa f}rh;d o`f) ds nkSjku laogu ,/kk ¼vascular cambum) fdlds }kjk fufeZr gksrh gS

(1) dkWVsZDl (2) vUr%LRopk (Endodermis)

(3) ifjjEHk rFkk dtafDVo Ård (4) dkWVsZDl dh cká ijr

128. Crossing over takes place through
(1) DNA polymerase (2) RNA polymerase

(3) Recombinase (4) Protease

thu fofue; fdlds }kjk gksrk gS

(1) DNA ikWyhejst (2) RNA ikWyhejst

(3) fjdksEchust (4) izksVh,st

129. The chief function fo Medullary rays is
(1) Radial conduction of water & food (2) To provide mechanical support to the plant

(3) Transport of sugars (4) To provide flexibility to the plant

eTtk fdj.kksa dk eq[; dk;Z gS -

(1) Hkkstu rFkk ty dk vjh; laogu (2) ikni dks ;kaf=kd lgkjk iznku djuk

(3) 'kdZjkvksa dk ifjogu (4) ikni dks yphykiu iznku djuk

130. Conjoint, collateral and closed vascular bundles with xylem endarch is found in
(1) Cucurbita stem (2) Helianthus stem (3) Maize stem (4) Vanda root

,.MkdZ tkbye ;qDr la;qDr, lEikf'Zod, can laogu iwy fdlesa ik;s tkrs gSaA

(1) dqdqjfcVk ds rus esa (2) gsfy,UFkl ds rus esa (3) eDdk ds LrEHk esa (4) os.Mk dh ewy esa



RESONANCE Page # 65Page # 65

STPXII1718

 

131. Match the following –
(A) Mitochondria (i) Ribophorin
(B) ER (ii) Responsible of detoxification of drugs
(C) Lysosomes iii) having gene responsible for male sterility in maize

(D) SER (iv) Pleomorphic

fuEu dk feyku dfj;s –

(A) �ekbVksdkf.Mª;k (i) jkbcksQksfju

(B) ER (ii) vkS"k/k ds fujkfo"khdj.k ds fy, mÙkjnk;h gS

(C) ykblkslkse (iii) thu tks eDds esa uj ca/krk ds fy, mÙkjnk;h gksrs gSa] ik;s tkrs gSa

(D) SER (iv) cgq:irk

(1)  A = (iii) , B = (iv) , C =  (i) , D =  (ii) (2) A = (iii) , B = (i) , C = (iv) , D = (ii)
(3)  A = (iv) , B = (ii) , C = (iii) , D = (i) (4)  A = (i) , B = (ii) , C = (iii) , D = (iv)

132. In grasses certain adaxial epidermal cells along the veins modify themselves in to large, empty, colourless
cells that are called -
(1) Accessory cells (2) Spongy parenchyma

(3) Bulliform cells (4) Idioblasts

?kklksa esa dqN fuf'pr vH;{k ,ihMeZy dksf'kdk;sa tks f'kjkvksa ds lkFk gksrh gS cM+h] fjDr] jaxghu dksf'kdk;sa gksrh gSa ftUgsa dgrs gSa

(1) lgk;d dksf'kdk;sa (2) Liath e`nwrd

(3) cqyhQkeZ dksf'kdk;sa (4) bZfM;ksCykLV

133. Pith is well developed in
(1) Dicot stem & Dicot root (2) Monocot stem & Minocot root

(3) Monocot root & Dicot stem (4) Monocot stem & Dicot root

eTtk (Pith) fdlesa lqfodflr gksrh gS

(1) f}chti=kh LrEHk rFkk f}chti=kh ewy (2) ,dchti=kh LrEHk rFkk ,dchti=kh ewy

(3) ,dchti=kh ewy rFkk f}chti=kh LrEHk (4) ,dchti=kh LrEHk rFkk f}chti=kh ewy

134. Cell theory states that
(1) All living cells do mitosis & meiosis (2) All cells are living
(3) All cells have nucleus (4) Cell is structural unit of all living organisms

dksf'kdk fl)kUr ds vuqlkj D;k lgh gS

(1) lHkh thfor dksf'kdkvksa esa lw=kh o v)Zlw=kh foHkktu gksrk gS (2) lHkh dksf'kdk,a thfor gksrh gSa

(3) lHkh dksf'kdkvksa esa ukfHkd gksrk gS (4) dksf'kdk thou dh lajpukRed bdkbZ gS

135. The phrase ‘Omnis cellula e cellula’ was given by
(1) Virchow (2) Pasteur (3) Scheilden (4) Brown

^vkseful lsyqyk bZ lsyqyk dFku fn;k x;k Fkk

(1) fojpkso }kjk (2) ik'pj }kjk (3) 'ykbMsu }kjk (4) czkmu }kjk
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136. Nutritionally curd is more suitable then milk. Which of the following reason not supporting to this view
(1) It increasing vitamin B12

(2) It checks disease causing microbes
(3) LAB convert lactose into lactic curd

(4) It provide additional proteins

ngh nw/k dh rqyuk esa vf/kd iks"kd gS\ fuEufyf[kr esa ls dkSulk okD; blds lanHkZ esa xyr gS

(1) ngh esa foVkfeu B12  dh vf/kdrk

(2) lw{ethfo;ksa }kjk mRié gksus okys jksxksa dks jksdusa esa ykHknk;d

(3) LAB ysDVkst dks ysfDVd vEy esa cny nsrs gSA

(4) blesa çksVhu dh vf/kdrk gksrh gSA

137. Which of the following chordate characters is not shared by non-chordates?
(1) bilateral symmetry (2) pharyngeal gill slits
(3) axial organization (4) metamerism

fuEufyf[kr esa ls dkSu ,d dkWMsZV dk xq.k gS] tks fd ukWu&dkWMsZV~l ds }kjk lk>k ugha fd;k tkrk gS &

(1) f}ik'oZ lefer (bilateral symmetry) (2) xzluh; Dykse njkjsa

(3) v{kh; laxBu (4) esVkesfjTe

138. Association between suckerfish (Remora) and shark is
(1) Symbiosis (2) Commensalism (3) Parasitism (4) Predation

ldjfQl vkSj 'kkdZ ds chp lgpkfjrk (Association) gS &

(1) fleck;ksfll (2) dkWeulSysTe (3) iSjkflfVTe (4) ijHk{k.k

139. Anadromous fishes move
(1) from sea to freshwater (2) from sea to estuary
(3) from river to sea (4) from estuary to sea

leqnzkixkeh (Anadromous) eNfy;k¡ LFkkukUrfjr gksrh gSa &

(1) leqnz ls LoPN ty dh vksj (2) leqnz ls [kkM+h ds eqgkus dh vksj

(3) unh ls leqnz dh vksj (4) [kkM+h ds eqgkus ls leqnz dh vksj

140. Which one is a fish?
(1) Sea cow (2) Sea cucumber (3) Sea horse (4) Sea urchin

dkSu lh eNyh gS &

(1) leqnzh xk; (2) leqnzh [khjk (3) leqnzh ?kksM+k (4) leqnzh vfpZu

141. In fishes the kidney is
(1) Pronephros (2) Mesonephros (3) Metanephros(4) Holonephros

eNfy;ksa esa o`ô gS &

(1) çksusÝksl (Pronephros) (2) eht+ksusÝksl (Mesonephros)

(3) esVkusÝksl (Metanephros) (4) gksyksusÝksl (Holonephros)
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142. Which is a cold blooded animal?
(1) Pigeon (2) Shark (3) Kangaroo (4) Rabbit

dksYM CyMsM tUrq dkSu gS &

(1) dcwrj (2) 'kkdZ (3) daxk: (4) [kjxks'k

143. Weberian ossicles are found in
(1) frogs (2) birds (3) fishes (4) snakes

oscsfj;u vfLFkdk;sa fdlesa ik;h tkrh gSa &

(1) esa<+dksa (2) if{k;ksa (3) eNfy;ksa (4) liksZa

144. Axolotal larva belongs to the order
(1) Urodela (2) Anura (3) Apoda (4) Stegocephalia

,DlksykWVy (Axolotal) ykokZ fdl vkWMZj (order) ls lEcfU/kr gS &

(1) ;wjksMsVk (Urodeta) (2) ,U;wjk (Anura) (3) viksMk (Apoda) (4) LVsxksflQSfy;k (Stegocephalia)

145. Flying frog is
(1) Hyla (2) Rhacophorus (3) Ambystoma (4) Astylosternus

¶ykbax eas<+d gS &

(1) gk;yk (2) jSdksQksjl (3) ,EckbLVksek (4) ,LVkbyksLVuZl

146. Large holes in "Swiss cheese" are due to production of large amount of CO2 by  bacterium
(1) Leuconostoc mesenteroides (2) Propionibacterium sharmanii
(3) Thermococcus proteus (4) Staphylococcus thermophilus

fLol pht esa ik, tkus okys cM+s &cM+s fNæ fdl cSDVhfj;e }kjk cM+h ek=kk esa mRié CO2 ds dkj.k gksrs gSaA

(1) Y;wdksuksLVksd eslsufVjksbM~l (2) çksfivksfucSDVhfj;e 'kkjekSukbZ

(3) Fkjeksdksdl çksfV;l (4) LVsQkbyksdksdl FkjeksfQyl

147. Syphilis is caused by :
 (1) Escherichia coli (2) Rhizobium
 (3) Treponema pallidum (4) Clostridium

lhfQfyl fdlds }kjk gksrk gS

 (1) bf'pfj;k dksykbZ  (2) jkbtksfc;e

 (3) Vªsiksfuek isyhMe  (4) DyksfLVªfM;e

148. Match column I with column II and choose the correction answer
Column I Column II

(a) Neoplasm (p) Haematopoietic cell tumours
(b) Benign tumour (q) Bone, cartilage tissue cancers
(c) Carcinomas (r) Malignant tumor
(d) Sarcomas (s) Cancer of epithelial tissues
(e) Lymphomas (t) Non-cancerous tumor

(u) Initiation of new tumours
(1) (a) - (r), (b) - (t), (c) - (s), (d) - (q), (e) - (p)
(2) (a) - (r), (b) - (t), (c) - (s), (d) - (p), (e) - (q)
(3) (a) - (u), (b) - (r), (c) - (s), (d) - (q), (e) - (p)
(4) (a) - (u), (b) - (s), (c) - (r), (d) - (q), (e) - (p)
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[k.M I dks II ls lqessfyr dj lgh mRrj pqusa

dkWye I dkWye II

(a) fuvksIykTe (p) fgesVksik;ksfVd lsy V~;wej

(b) csukbZax V~;wej (q) vfLFk rFkk mikfLFk dsalj

(c) dkflZuksek (r) esfyXuaV V~;wej

(d) lkjdksekl (s) midyk Ård dSalj

(e) fyEQksekl (t) dSalj jfgr V~;wej

(u) u;s V~;wej dk çkjEHk

(1) (a) - (r), (b) - (t), (c) - (s), (d) - (q), (e) - (p)
(2) (a) - (r), (b) - (t), (c) - (s), (d) - (p), (e) - (q)
(3) (a) - (u), (b) - (r), (c) - (s), (d) - (q), (e) - (p)
(4) (a) - (u), (b) - (s), (c) - (r), (d) - (q), (e) - (p)

149. Match the following
A. Citric acid i. Haemolytic streptococcus
B. Streptokinase ii. Aspergillus niger
C. Cyclosporin - A iii. Monascus purpureus
D. Statins iv. Trichoderma polysporum

A B C D

(1) i ii iii iv

(2) ii i iii iv

(3) ii i iv iii
(4) iv ii iii i

lgh feyku fdft, &

A. flfVªd vEy i gheksykbfVd LVªsIVksdksdl

B. LVªSIVksdkbust ii ,sLijftyl ukbxj

C. lkbDyksLiksfju -A iii. eksukLdl ijI;wjhvl

D. LVSfVu iv. VªkbdksMekZ ikWyksLiksje

A B C D

(1) i ii iii iv

(2) ii i iii iv

(3) ii i iv iii
(4) iv ii iii i

150. Regarding to primary treatment of sewage, which of the following statement is not true
(1) It is physical treatment
(2) It is based on filteration and sedimentation
(3) Initially grit are removed
(4) Effluent of primary treatment is taken for secondary treatment
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okfgrey ds çkFkfed mipkj ds lUnHkZ esa dkSulk okD; xyr gS \

(1) ;g HkkSfrd mipkj gSA

(2) ;g fuLianu rFkk volknu ij vk/kkfjr gSA

(3)  vkjaHk esa f'krckyqdk'ke ¼fxzV½ dks fu"dkflr fd;k tkrk gSA

(4)  cfg %L=kko dks çkFkfed fu%lknu VSad ls f}rh;d mipkj ds fy, ys tk;k tkrk gSA

151. Which is necessary for achieving good health?
(A) Awareness about diseases
(B) Proper disposal of waste
(C) Control of vectors
(D) Maintenance of hygenic food and water

(1) A (2) A and C (3) B and C (4) A,B,C,D

vPNk LokLF; ikus gsrq vko';d gS % &

(A) jksxksa ds ckjs esa tkx:drk

(B) vif'k"Vksa dk leqfpr fuiVku

(C) jksxokgdksa dk fu;a=k.k

(D) [kkus rFkk ikuh lalk/kuksa dk LoPN j[kj[kko

(1) A (2) A rFkk C (3) B rFkk C (4) A,B,C,D

152. Which of the following method of contraception is effective only upto a maximum period of six months
following parturition
(1) Coitus interruptus (2) Lactational amenorrhea
(3) Periodic abstinance (4) Condoms

fuEufyf[kr xHkZ fujks/kd mik; esa ls dkSuls mik; dks çlo ds ckn T;knk ls T;knk 6 ekg dh vof/k rd gh dkjxj ekuk

tkrk gS \

(1) varfjr eSFkqu (2) Lruiky vukrZo (3) vkof/kd la;e (4) daMkse

153. (A) Smack (B) Diacetylmorphine
(C) White (D) Odourless
(E) Bitter crystalline compound
(F) Extracted from latex of poppy plant Above statements/informations are correct for:
(1) Morphine (2) Heroin (3) Coccain (4) Barbiturates

(A) LeSd (B) Mkb,flfVyekQhZu

(C) lQsn (D) xa/kghu

(E) rh[kk josnkj ;kSfxd

(F) iksLr ds ikS/ks ds ysVsDl ds fu"d"kZ.k ls çkIr mijksDr dFku@ lwpuk,sa fdlds fy, lgh gSa \

(1) ekWQhZu (2) gsjksbu (3) dksdSu (4) ckfcZV~;qjsV~l
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154. Which measure would be particularly useful for prevention and control of alcohol and drug abuse among
adolescents ?
(A) Avoid undue peer pressure
(B) Seeking professional and medical help
(C) Looking for danger sign
(D) Education and counselling
(E) Seeking help from parents and peers

(1) A, B, C (2) A, C, D, E (3) C,E (4) A, B, C, D, E

dkSulk mik; fd'kksjksa esa ,sYdksgkWy rFkk Mªx ds dqç;ksx dh jksdFkke rFkk fu;a=k.k esa fo'ks"k :i ls dkjxj fl) gks ldrk gSa \

(A) vko';d led{kh ncko ls cpuk (B) O;olkf;d ,oa fpfdRlk lgk;rk ysuk

(C) ladV ladsrksa dks ns[kuk (D) f'k{kk ,oa ijke'kZ (E) ekrk firk o ledf{k;ksa ls lgk;rk ysuk

(1) A, B, C (2) A, C, D, E (3) C,E (4) A, B, C, D, E

155. Activated sludge is the sedimentation product of
(1) Primary treatment (2) Secondary treatment (3) Tertiary treatment (4) All of these

lfØ;hr vkiad mRikn gS \

(1) çkFkfed mipkj dk (2) f}rh;d mipkj dk (3) r`rh; mipkj dk (4) mijksDr lHkh

156. After secondary treatment a part of activated sludge is passed back to aeration tank as inoculum while
most of the' part of activated sludge passed to
(1) Aerobic sludge digester (2) Tertiary treatment
(3) Rivers and streams (4) Anaerobic sludge digesters

f}rh;d mipkj ds ckn lfØ;hr vkiad ds NksVs ls Hkkx dks fQj ls ihNs ok;qoh; VSad esa iai djrs gSA vkiad dk cpk

&[kqpk eq[; Hkkx cM+s VSad  esa iai fd;k tkrk gS] ftls D;k dgrs gSa \

(1) vok;oh; vkiad laikfp=k (2) rr̀h; mipkj

(3)  ufn;ksa] >juksa esa (4)  vok;oh; vkiad laikfp=k

157. Maximum diversity is seen amongst
(1) Monera (2) Animalia (3) Plantae (4) Protista

lokZf/kd fofo/krk fdlesa ikbZ tkrh gS\

(1) eksusjk (2) ,suhesfy;k (3) IykaVh (4) izksfVLVk

158. Contractile vacuoles in protozoans primarily serve for
(1) Excretion (2) Water circulation (3) Osmoregulation (4) Water absorption

izksVkstksvk esa ladqpu'khy fjfDrdk dk D;k dk;Z gS\

(1) mRltZu (2) tylaogu (3) ijklj.k fu;eu (4) ty vo'kks"k.k
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159. Match List I and List II, and select the correct answer using the codes given below the lists
List I List II
(Animals) (Organs of locomotion)
A Paramecium 1 Parapodia
B Mussel 2 Flagellum
C Trypanosoma 3 Foot
D Tube worms 4 Cilia

5 Tube feet
(1) A = 2, B = 3, C = 1, D = 5 (2) A = 1, B = 5, C = 2, D = 4
(3) A = 4, B = 3, C = 2, D = 1 (4) A = 5, B = 1, C = 4, D = 3

fyLV A vkSj AA dks lqesfyr djrs gq, uhps fn;s x;s dksM~l ds vk/kkj ij viuk mRrj pqfu;s\

List I List II

¼tarq½ ¼izpyu vax½

A. iSjkehf'k;e 1. iSjkiksfM;k

B. ely 2. ¶ySftye

C. fVªisukslksek 3. QqV

D. V~;wc oeZl 4. lhfy;k

5. V~;wc QhV

(1) A = 2, B = 3, C = 1, D = 5 (2) A = 1, B = 5, C = 2, D = 4
(3) A = 4, B = 3, C = 2, D = 1 (4) A = 5, B = 1, C = 4, D = 3

160. Example of a bioluminescent protozoan is :
(1) Paramecium (2) Opalina (3) Entamoeba (4) Noctiluca

tho lanhIrh iznf'kZr djus okyk izksVkstksvk dkSulk gS\

(1) iSjkehf'k;e (2) vksisykbuk (3) ,.Vvehck (4) ukWfDVY;wdk

161. Which of the following protozoan dipicts the characteristics of both plants and animals?
(1) Entamoeba (2) Paramecium (3) Monocystis (4) Volvox

fuEu esa ls dkSulk izksVkstksvk ikni o tarq nksuksa ds y{k.k iznf'kZr djrk gS\

(1) ,.Vvehck (2) iSjkehf'k;e (3) eksuksflfLVl (4) okWyokDl

162. Stage of Plasmodium infective to man and injected into human blood by mosquito is
(1) Trophozoite (2) Merozoite (3) Sporozoite (4) Cyst

IykTeksfM;e dh laØked voLFkk ftls ePNj }kjk ekuo 'kjhj esa Mkyk tkrk gS] dkSulh gS\

(1) VªksQksTokbV (2) ehjksTokbV (3) LiksjksTokbV (4) flLV

163. Cells which create water current and ingest food in Leucosolenia and other sponges
(1) Trophocytes (2) Pinacocytes (3) Porocytes (4) Choanocytes

og dkf'kdk,a tks Y;wdkslksysfu;k o vU; Liatst+ esa ty/kkjk mRiUu djrh gSa rFkk Hkkstu dks x`g.k djrh gSa\

(1) VªksQkslkbZV~l (2) fiusdkslkbZV~l (3) iksjkslkbZV~l (4) dks;ukslkbZV~l
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164. Blind sac body plan is shown by
(1) annelids (2) arthropods (3) roundworms (4) coelenterates

fuEu esa ls fdlesa CykbZaM lsd 'kjhj foU;kl ik;k tkrk gS \

(1) ,suhfyM~l (2) vkFkksZiksM~l (3) xksydf̀e (4) lhysUVªsV~l

165. Which of the following classes exhibit polymorphism ?
(1) Calcarea (2) Hydrozoa (3) Polychaete (4) Scyphozoa

fuEu esa ls dkSu ls oxZ cgq:irk iznf'kZr djrs gSa\

(1) dsYdsfj;k (2) gkbMªkstksvk (3) ikWyhdhV (4) Ldk;Qkstksvk

166. Biradial symmetry and lack of cnidoblasts are the characteristics of
(1) Hydra and starfish (2) Ctenoplana and Beroe
(3) Aurelia and Paramoecium (4) Starfish and sea anemone

f}ik'oZ lefefr rFkk fuMksCykLV dh vuqifLFkfr fdldk dk y{k.k gS\

(1) gkbMªk rFkk LVkjfQ'k (2) VhuksIysuk rFkk csjksb

(3) vkWjsfy;k rFkk iSjkehf'k;e (4) flrkjk eNyh rFkk lh ,suheksu

167. What is sprain

(1) More pulling of tendon (2) Less pulling of tendon

(3) More pulling of ligament (4) Less pulling of ligament

eksp D;k gksrh gS

(1) VsUMu dk vf/kd f[kapuk (2) VsUMu dk de f[kapuk

(3) fyxkesaV dk vf/kd f[kapuk (4) fyxkesaV dk de f[kapuk

168. The total number of muscles in the body of man is

(1) 409 (2) 439 (3) 539 (4) 639

euq"; ds 'kjhj esa ikbZ tkus okyh isf’k;ksa dh la[;k fdruh gksrh gS

(1) 409 (2) 439 (3) 539 (4) 639

169. Muscles of the heart are

(1) Voluntary striated (2) Voluntary smooth (3) Involuntary striated (4) Involuntary smooth

ân; dh isf’k;k¡ gSa

(1) ,sfPNd] jsf[kr (2) ,sfPNd] fpduh (3) vuSfPNd] jsf[kr (4) vuSfPNd] fpduh

170. Contraction of a muscle is caused by

(1) Myosin (2) Actin (3) ATP (4) Actomyosin

is’kh ds ladqpu dk dkjd gS

(1) ek;ksflu (2) ,fDVu (3) ATP (4) ,DVksek;ksflu
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171. Papillary muscles are found in

(1) Haemocoel (2) Heart of cockroach (3) Arm (4) Heart of mammal

isfiyjh isf’k;k¡ ik;h tkrh gS

(1) ghekslhy esa (2) dkWdjksp ds ân; esa (3) Hkqtkvksa esa (4) Lru/kkfj;ksa ds ân; esa

172. Action potential in a muscle fibre is

(1) – 90 mV (2) – 80 mV (3) 45–50 mV (4) 90–mV

is’kh; rUrq dk fØ;k foHko gS

(1) – 90 mV (2) – 80 mV (3) 45–50 mV (4) 90–mV

173. The dark bands in a myofibril are due to overlapping of

(1) Only thick bands (2) Only thin bands

(3) Both thick and thin bands (4) None of the above

,d ek;ksQkbfczy esa xgjs cS.M~l fdlds vfrO;kiu ls curs gSa

(1) dsoy eksVs cS.M~l (2) dsoy irys cS.M~l

(3) irys rFkk eksVs nksuksa cS.M~l (4) mijksä esa ls dksbZ ugha

174. The chemical test that is used for diagnosis of typhoid is:
(1) ELISA-Test
(2) ESR - Test
(3) PCR - Test
(4) Widal-Test
VkbQkWbM ds funku esa dksulk jlk;fud ijh{k.k fd;k tkrk gSA

(1) ELISA-Test
(2) ESR - Test
(3) PCR - Test
(4) Widal-Test

175. Ions that must be present for binding the cross bridges is

(1) Na+ (2)  Ca++ (3) K+ (4) None of these

ØkWl fczt dks ck¡/kus ds fy, vk;u eq[;r% mifLFkr gksrk gS

(1) Na+ (2) Ca++ (3) K+ (4) mijksä esa ls dksbZ ugha

176. Match the columns.
Column I Column II

(a) Longest smooth muscle (i) Stapedius muscle
(b) Strongest muscle (ii) Uterus muscle
(c) Smallest muscle (iii) Jaw muscle
(d) Largest muscle (iv) Gluteus maximus
(1) a –i, b – ii, c – i, d – iv (2) a –ii, b – iii, c – i, d – iv
(3) a –iii, b – ii, c – iv, d – i (4) a –ii,b – iv, c – iii, d – i
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LrEHk I o II dk feyku dhft;s

LrEHk I LrEHk II

(a) lcls yEch fpduh is'kh (i) LVsihMh;l is'kh

(b) lcls etcwr is'kh (ii) xHkkZ'k;h is'kh

(c) lcls NksVh is'kh (iii) tcM+s dh is'kh

(d) lcls cM+h is'kh (iv) XywfV;l esfDlel

(1) a –i, b – ii, c – i, d – iv (2) a –ii, b – iii, c – i, d – iv

(3) a –iii, b – ii, c – iv, d – i (4) a –ii,b – iv, c – iii, d – i

177. Which of the following statements regarding enzyme inhibition is correct?
(1) Competitive inhibition is seen when a substrate competes with an enzyme for binding to an inhibitor
protein
(2) Competitive inhibition is seen when the substrate and the inhibitor compete for the active site on the
enzyme
(3) Non-competitive inhibition of an enzyme can be overcome by adding large amount of substrate
(4) Non-competitive inhibitors often bind to the enzyme irreversibly

,Utkbe laneu  (enzyme inhibition) ds lEcU/k esa fuEu esa ls dkSu lk dFku lR; gS\

(1) ,Utkbe dk vizfrLi/kkZ laneu Non– competitive inhibition) vf/kd ek=kk esa fØ;k/kj (Substrate) Mkyus ij lgh fd;k

tk ldrk gSA

(2) izfrLi/khZ laneu esa fØ;k/kj vkSj laned fdlh ,atkbe dh laned izksVhu ls tqM+us gsrq izfrLi/kkZ djrs gSA

(3)  izfrLi/khZ laneu esa fØ;k/kj vkSj laned fdlh ,Utkbe ds fØ;k & dsUnz (Active– site ) ds fy;s izfrLi/kkZ djrs gSA

(4) vizfrLi/kkZ laned izk;% ,Utkbe ls vuqRØe.kh; :i esa tqM+rk gSA

178. Find out the incorrect statement-
(1) Muscle fibre is a syncitium as the sarcoplasm contains many nuceli.
(2) A characterstic feature of the muscle fibre is the presence of a large number of parallely arranged fila-
ments in the sarcoplasm called myofilaments or myofibrils.
(3) Actin & myosin are rod like structures, arranged perpendicular to each other and also to the longitudnal
axis of myofibrils
(4) The protein of the myofibril between 2 successive Z-line is considered as the functional unit of contraction,
is called a sarcomere.

xyr dFku dk p;u dhft,&

(1) is'kh rarq flfuf'k;e dgykrs gSa D;ksafd ldksZIykTe esa dbZ dsUnzd gksrs gSaA

(2) lkdksZIykTe esa cM+h la[;k esa lekUrj :i ls O;ofLFkr is'kh rarqdksa dh mifLFkfr is'kh rarq dk eq[; y{k.k gSA

(3) ,fDVu o ek;kslhu NM+kdkj lajpuk;sa gSa] tks ,d nwljs ds ledksf.kd rFkk is'khrarqvksa ds yEcor~ v{k ij O;ofLFkr gksrs gSaA

(4) nks Øekxr Z-ykbu ds e/; ds is'kh rarq ds izksVhuksa dks ladqpu dh fØ;kRed bdkbZ ;k lkdksZeh;j dgrs gSaA
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179. Match List I (Larval forms) with List II (Corresponding adults) and select the correct answer using the codes
given below the lists
List I List II
(Larval forms) (Adults)
A  Tornaria 1  Star fish
B  Brachiolaria 2  Jelly fish
C  Tadpole 3  Herdmania
D  Trochophore 4  Nereis

5  Balanoglossus
Answer codes :
(1) A = 5, B = 1, C = 3, D = 1 (2) A = 3, B = 2, C = 2, D = 4
(3) A = 5, B = 2, C = 3, D = 4 (4) A = 3, B = 1, C = 2, D = 1

lkj.kh I ¼ykokZ :i½ ls lkj.kh II ¼vuqdwy o;Ld½ dk feyku dhft, rFkk uhps fn;s x;s dksMksa ls lgh mÙkj dk p;u dhft,&

lkj.kh I lkj.kh II

¼ykokZ :i½ ¼o;Ld½

A  VkWjusfj;k (Tornaria) 1  flrkjk eNyh (Starfish)

B  czkSafd;ksysfj;k (Brachiolaria) 2  tsyhfQl (Jellyfish)

C  VSMiksy (Tadpole) 3  gMZekfu;k (Herdmania)

D  VªksdksQksj (Trochophore) 4  usjhl (Nereis)

5  csykSuksXykWll (Balanoglossus)

mRrj dksM%

(1) A = 5, B = 1, C = 3, D = 1 (2) A = 3, B = 2, C = 2, D = 4
(3) A = 5, B = 2, C = 3, D = 4 (4) A = 3, B = 1, C = 2, D = 1

180. Match List I (Product) with List II (Source) and select the correct answer using the codes given below the
lists
List I List II
(Products) (Source)
A  Shagreen 1  Fish manure
B  Isinglass 2  Sturgeon
C  Caviar 3  Skin of elasmobranchs
D  Fish guano 4  Air bladder of fish
Answer codes :
(1) A = 2, B = 4, C = 3, D = 1 (2) A = 3, B = 1, C = 2, D = 4
(3) A = 2, B = 1, C = 3, D = 4 (4) A = 3, B = 4, C = 2, D = 1
lkj.kh I ¼mRikn½ ls lkj.kh II ¼òksr½ dk feyku dfj;s rFkk uhps fn;s x;s dksMksa ls lgh mÙkj dk p;u dhft, &

lkj.kh I lkj.kh II
¼mRikn½ ¼òksr½

A  'kkxzhu (Shagreen) 1  fQl [kk| (Fish manure)

B  vkbflax Xykl (Isinglass) 2  LVftZvkWu (Sturgeon)

C  dSfovj (Caviar) 3  bykLeksaczSUd dh Ropk (Skin of elasmobranchs)

D  fQl Xokuksa (Fish guano) 4  eNyh dk ok;q CySMj (Air bladder of fish)

mÙkj dksM%

(1) A = 2, B = 4, C = 3, D = 1 (2) A = 3, B = 1, C = 2, D = 4
(3) A = 2, B = 1, C = 3, D = 4 (4) A = 3, B = 4, C = 2, D = 1
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ANSWER KEY
PART–A (CHEMISTRY)

1. (3) 2. (1) 3. (2) 4. (3) 5. (2) 6. (3) 7. (2)
8. (4) 9. (3) 10. (2) 11. (4) 12. (1) 13. (4) 14. (3)
15. (3) 16. (4) 17. (1) 18. (1) 19. (1) 20. (2) 21. (2)
22. (2) 23. (2) 24. (4) 25. (1) 26. (2) 27. (2) 28. (1)
29. (3) 30. (2) 31. (1) 32. (1) 33. (1) 34. (2) 35. (1)
36. (2) 37. (1) 38. (4) 39. (2) 40. (2) 41. (2) 42. (4)
43. (4) 44. (3) 45. (1)

PART-B (PHYSICS)

46. (1) 47. (3) 48. (1) 49. (2) 50. (2) 51. (3) 52. (4)
53. (3) 54. (1) 55. (3) 56. (3) 57. (2) 58. (1) 59. (3)
60. (3) 61. (4) 62. (1) 63. (3) 64. (1) 65. (2) 66. (4)
67. (4) 68. (4) 69. (2) 70. (1) 71. (1) 72. (2) 73. (3)
74. (1) 75. (3) 76. (4) 77. (4) 78. (3) 79. (1) 80. (2)
81. (2) 82. (1) 83. (3) 84. (1) 85. (2) 86. (1) 87. (2)
88. (1) 89. (3) 90. (4)

PART-C (BIOLOGY)

91. (4) 92. (4) 93. (3) 94. (1) 95. (1) 96. (2) 97. (4)
98. (3) 99. (3) 100. (3) 101. (2) 102. (2) 103. (3) 104. (4)
105. (4) 106. (3) 107. (1) 108. (2) 109. (3) 110. (4) 111. (4)
112. (1) 113. (3) 114. (2) 115. (4) 116. (3) 117. (3) 118. (4)
119. (3) 120. (3) 121. (2) 122. (2) 123. (4) 124. (2) 125. (3)
126. (3) 127. (3) 128. (3) 129. (1) 130. (3) 131. (2) 132. (3)
133. (3) 134. (4) 135. (1) 136. (4) 137. (2) 138. (2) 139. (1)
140. (3) 141. (2) 142. (2) 143. (3) 144. (1) 145. (2) 146. (2)
147. (3) 148. (1) 149. (3) 150. (3) 151. (4) 152. (2) 153. (2)
154. (4) 155. (2) 156. (4) 157. (2) 158. (3) 159. (3) 160. (4)
161. (4) 162. (3) 163. (4) 164. (4) 165. (2) 166. (2) 167. (3)

168. (4) 169. (3) 170. (4) 171. (4) 172. (3) 173. (3) 174. (4)

175. (2) 176. (2) 177. (2) 178. (3) 179. (1) 180. (4)
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SAMPLE TEST PAPER-III
(For Class-XII Appearing / Passed Students)

Course : SAMPOORN (MD)

Correct Wrong Blank 

1 to 45 46 to 90 91 to 180
Only one correct 

(dsoy , d fodYi  l gh)
4 -1 0

Marks to be awardedPart - A 
(Chemistry)

Part - B 
(Physics)

Part - C
(Biology) Type 

PART-A
Atomic masses (ijek.kq Hkkj) : [H = 1, D = 2, Li = 7, C = 12, N = 14, O = 16, F = 19, Na = 23, Mg = 24,
Al = 27, Si = 28, P = 31, S = 32, Cl = 35.5,  K = 39, Ca = 40, Cr = 52,  Mn = 55, Fe = 56, Cu = 63.5,
Zn = 65, As = 75, Br = 80, Ag = 108, I = 127,  Ba = 137, Hg = 200, Pb = 207]

Straight Objective Type
This section contains 36 multiple choice questions. Each question has 4 choices (1), (2), (3) and
(4) for its answer, out of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj

bl [k.M esa 36 cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (1), (2), (3) rFkk (4) gSa] ftuesa ls flQZ ,d lgh gSA

1. The correct reactivity order of alcohols towards H-X will be :
,YdksgkWy dk H-X ds izfr fØ;k'khyrk dk lgh Øe gksxk %

(I) CH2=CH–OH (II) CH2=CH–CH2OH (III) CH3–CH2–OH (IV) 

OH

CH –CH–CH3 3

(1) II > I > III > IV (2) IV > III > II > I (3) II > IV > I > III (4) II > IV > III > I

2. Alkyl halides can be obtained by all methods exepts
fuEu esa ls fdl vfHkfØ;k esa ,fYdy gSykbM izkIr ugha fd;k tk ldrk gS %

(1) CH –CH –OH+HCI3 2
ZnC2 (2) CH =CH–CH +HBr3 3

ZnC2

(3) C H OH+NaCI2 5 (4) CH COOAg+Br / CCI I3 2  4

3. Which of the following has the highest boiling point
fuEu esa ls fdldk mPpre DoFkukad gksrk gS

(1) CH3CI (2) CH3F (3) CH3Br (4) CH3I
4. To form alkane isonitrile, alkyl halide is reacted with:

,fYdy gSykbM fdlds lkFk fØ;k djds ,Ydsu vkblksukbVªkby cukrk gS%

(1) KCN (2) AgCN (3) HCN (4) NH4CN
5. The final product in the following reaction is

fuEu vfHkfØ;k esa vfUre mRikn gS

R
C

H

H
A B

X
+KCN

H O3 
C

(1) 
R

C
H

COOH

COOH
(2) 

R
CH–COOH

H

(3) 
R

OC
H

CO

CO
(4) 1 and 2 both (1 o 2 nksuksa)
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6.
OH

CHCI +KOH3  Product.(mRikn)

about above reaction the incorrect statement is
vfHkfØ;k ds lUnHkZ esa vlR; dFku gS

(1) The name of reaction is Riemer Teimann’s reaction
(2) The intermediate in the reaction is dichloro carbene
(3) The final product is salicyladehyde
(4) The final product is benzyl chloride
(1) vfHkfØ;k dk uke jkbej fVeku vfHkfØ;k gSA

(2) vfHkfØ;k esa e/;orhZ MkbDyksjks dkchZu gSA

(3) vfUre mRikn lSfylSfYMgkbM gSA

(4) vfUre mRikn csfUty DyksjkbM gSA

7. The purity of CHCI3 can be checked by
(1) Treat CHCI3 by NaOH (2) Treat CHCI3 by HCI
(3) Treat CHCI3 by AgNO3 (4) Treat CHCI3 by C2H5–OH
CHCI3 dh 'kq)rk dk ijh{k.k fdlds }kjk fd;k tk ldrk gS

(1) CHCI3 dh fØ;k NaOH ls djkdj (2) CHCI3 dh fØ;k HCI ls djkdj

(3) CHCI3 dh fØ;k  AgNO3 ls djkdj (4) CHCI3 dh fØ;k  C2H5–OH ls djkdj

8. The most reactive towards SN1 is :
SN1 ds izfr dkSu vf/kd fØ;k'khy gS %

(1) PhCH2CI (2) PhCI (3) PhCHCI(CH3) (4) p-NO2PhCH2CI

9. Methanol can be distinguished from ethanol by the following except.
(1) Reaction with iodine and alkali (2) Reaction with salicylic acid and H2SO4

(3) Reaction with Lucas reagent (4) Boiling point
fuEu esa ls fdlds }kjk esFksukWy dks ,FksukWy ls foHksfnr ugaha fd;k tk ldrk gS

(1) vk;ksMhu rFkk {kkj dh vfHkfØ;k ls (2) lSfyflfyd vEy rFkk H2SO4 dh vfHkfØ;k ls

(3) Y;wdkWl vfHkdeZd dh vfHkfØ;k ls (4) DoFkukad

10. Methanol on heating with salicylic acid and a few drops of conc. H2SO4 gives the smell of
(1) Bitter  almonds (2) Oil of wintergreen (3) Rotten eggs (4) Mustard oil
esFksukWy dks lSfyflfyd vEy rFkk lkUnz H2SO4 dh dqN cwanks ds lkFk xeZ djus ij dkSulh xa/k nsrk gS %

(1) dMok cknke (2) foUVjxzhu dk rsy (3) lMk gqvk v.Mk (4) ljlksa dk rsy

11. Which of the following alcohols gives iodoform reaction
(1) n–proply alcohol (2) Isobutyle alcohol
(3) sec.Butyl alcohol (4) n–Butyl alcohol
fuEu esa ls dkSulk ,YdksgkWy vk;ksMksQkWEkZ ijh{k.k nsrk gS

(1) n– izksfiy ,YdksgkWy (2) vkblksC;wfVy ,YdksgkWy

(3) f}rh; C;wfVy ,YdksgkWy (4) n– C;wfVy ,YdksgkWy

12. Which of the following does not turn orange colour of chromic acid green ?
(1) 10 alcohol (2) 20 alcohol (3) 30 alcohol (4) Allyl alcohol
fuEu esa ls dkSulk ;kSfxd Øksfed vEy ds ukjaxh jax dks gjk dj nsrk gSa ?

(1) 10 ,YdksgkWy (2) 20 ,YdksgkWy (3) 30 ,YdksgkWy (4) ,fyy ,YdksgkWy
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13. The compounds A, B and C in the reaction sequence are given by the set :-
vfHkfØ;k esa A, B rFkk C ;kSfxdksa dk fn;s x;s leqPp; esa lgh Øe fuEu gksxk

CH CH OH3 2
HBr A Mg B  

(i) CH CHO3

(ii) H O3
 C

(1) CH3CH2Br,CH3CH2MgBr,(CH3)3C–OH (2) CH3CH2Br,(CH3CH2)2Mg,(CH3)2CHCH2OH
(3) CH3CH2Br,CH3CH2MgBr,CH3CH(OH)CH2CH3 (4) CH3CHBr2,CH3CH(MgBr_2,CH3CH(OH)CH3

14. The compound A,B and C in the reaction sequence are given by the set

CH3CH2OH   3rPB A  alc.KOH B   2rB C

vfHkfØ;k esa A, B rFkk C ;kSfxdksa dk fn;s x;s leqPp; esa lgh Øe fuEu gksxk

(1) C2H5Br,CH3CH2OH,CH3CHBr2. (2) C2H5Br,CHCH,CH2CHBr
(3) C2H5Br,CHCH2,CH2Br–CH25Br (4) C2H5Br,CH3CH2CH,BrCH2–CH2Br

15. Which of the following reactions will not lead to a phenol :

(1) C6H5SO3Na+NaOH  Fuse (2) C6H5N2CI+H2O  Boil

(3)C6H5ONa+RX
NaOH
Heat

(4) 

OH

COONa
+NaOH(CaO)  Heat

fuEu esa ls dkSulh vfHkfØ;k esa fQukWy izkIr ugha gksrk gS %

(1) C6H5SO3Na+NaOH l axyu (2) C6H5N2CI+H2O xeZ

(3)C6H5ONa+RX
NaOH
Å"ek

(4) 

OH

COONa
+NaOH(CaO) Å"ek

16. Ether bottles should not be kept open in air because

(1) Ether is an anaesthetic (2) Ether forms an explosive peroxide

(3) Ether is costly (4) Ether gets oxidised to ethanol

bZFkj cksry dks ok;q esa ugha [kksyuk pkfg, D;ksafd

(1) bZFkj ,d fu'psrd gS (2) bZFkj ,d foLQksVd ijvkWDlkbM cukrk gSA

(3) bZFkj egaxk gksrk gSA (4) bZFkj] ,FksukWy esa vkWDlhd`r gks tkrk gS

17. The williamson synthesis involves :
(1) A nucleophilic addition (2) An electrophilic substitution
(3) SN2 displacement (4) SN1 displacement
foy;elu la'ys"k.k esa iz;qDr gksrk gS %

(1) ukfHkdLusgh ;ksxkRed (2) ,d bysDVªkWuLusgh izfrLFkkiu

(3) SN2 foLFkkiu (4) SN1 foLFkkiu

18. In the williamson synthesis of ethers given by the general equation :
R–X+R’ONaR–O–R’ the yield from R–X follows the sequence
bZFkjks ds foy;elu la'ys"k.k dh lkekU; vfHkfØ;k fuEu gS %

R–X+R’ONaR–O–R’ , R–X ls mRikn izkfIr dk lgh vuqØe D;k gksxk

(1) CH3 >10 > 20 > 30 (2) CH3 <10 < 20 < 30

(3) CH3 <10 < 20 > 30 (4) CH3 >10 < 20 < 30



RESONANCE Page # 80Page # 80

STPXIII1718

 

19. An increase in temperature by 100C, generally increases the rate of a reaction by
(1) 2 times (2) 10 times (3) 9 times (4) 100 times
lkekU;r%  10ºC rkieku esa o`f) vfHkfØ;k nj esa ifjorZu djrh gS %

(1) 2 xquk (2) 10 xquk (3) 9 xquk (4) 100 xquk

20. Velocity constant of a reaction at 290 K was found to be 3.2 x 10–3. At 310 K it will be about
290 K ij vfHkfØ;k ds fy;s osx fLFkjkad 3.2 x 10–3 ik;k x;k] rks 310 K ij ;g yxHkx gksxk

(1) 1.28 x 10–2 (2) 9.6 x 10–3 (3) 6.4 x 10–3 (4) 3.2 x 10–4

21. The experimental data for the reaction 2 A + B2  2 AB is

Exp. [A]0 [B]0 Rate (mole s –1)

(1) 0.50 0.50 1.6X10–4

(2) 0.50 0.50 3.2X10–4

(3) 1.00 1.00 3.2X104

The rate equation for the above data is
(1) Rate = k[B2] (2) Rate = k[B2]2

(3) Rate = k[A]2 [B]2 (4) Rate = k[A]2 [B]
vfHkfØ;k 2 A + B2   2 AB ds fy;s izk;ksfxd vkadM+s gSa %

Exp. [A]0 [B]0 nj  (mole s –1)

(1) 0.50 0.50 1.6X10–4

(2) 0.50 0.50 3.2X10–4

(3) 1.00 1.00 3.2X104

Åij fn;s x;s vkadM+ksa ds fy;s nj lehdj.k gS %

(1) nj = k[B2] (2) nj = k[B2]2

(3) nj = k[A]2 [B]2 (4) nj = k[A]2 [B]

22. Molecularity of reaction of inversion of sugar is ('kdZjk ds izfriu dh vfHkfØ;k dh vkf.odrk gS %)
(1) 3 (2) 2 (3) 1 (4) 0

23. Hydrolysis of DDT is first order reaction , its half life is 10 years. Time to hydrolyse 10 g DDT to half is
DDT dk ty vi?kVu izFke dksfV vfHkfØ;k gS] bldk v)Z vk;qdky 10 o"kZ gSA 10 xzke DDT dks vk/kk ty vi?kfVr gksus

esa fdruk le; yxsxk %

(1) 100 years o"kZ (2) 50 years o"kZ (3) 5 years o"kZ (4) 10 years o"kZ

24. 75 % of a first order reaction was completed in 32 minutes when was 50% of the reaction completed
75 % izFke dksfV dh vfHkfØ;k dks iw.kZ gksus esa 32 feuV dk le; yxrk gS rks 50% iw.kZ gksus ij fdruk le; yxsxk

(1) 16 min. feuV (2) 24 min feuV (3) 8 min. feuV (4) 4 min. feuV

25. If at certain temperature the vapour presure of pure water is 25 mm Hg and that of a very dilute aqueous urea
solution is 24.5 mm Hg, the molality of the solution is
;fn ,d fuf'pr rkieku ij 'kq) ty dk ok"inkc 25 mm Hg gS rFkk blds vfr ruq tyh; ;wfj;k foy;u dk ok"inkc

24.5 mm Hg gS rks foy;u dh eksyyrk fuEu gS %

(1) 0.02 (2) 1.2 (3) 1.11 (4) 0.08

26. Lowering of vapour pressure is highest for
(1) Urea (2) 0.1M glucose (3) 0.1M MgSO4 (4) 0.1M BaCI2

ok"inkc eas voueu fdlds fy;s vf/kdre gksxk %

(1) ;wfj;k (2) 0.1M  Xywdkst (3) 0.1M MgSO4 (4) 0.1M BaCI2
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27. If two substances A and B have 0
AP : 0

BP  = 1:2 and have mole fraction in solution 1 : 2 then mole fraction of AA

in vapours :

;fn nks inkFkZ A rFkk B gS ftudk foy;u esa eksy izHkkt  1 : 2 gSA ( 0
AP : 0

BP  = 1:2 ) rc] ok"i voLFkk esa  A A dk eksy izHkkt

gksxk %

(1) 0.33 (2) 0.25 (3) 0.52 (4) 0.2

28. The osmotic pressure of 1M  solution at 270C is :
27ºC ij 1M foy;u dk ijklj.k nkc gS %

(1) 2.46 atm (2) 24.6 atm (3) 1.21 atm (4) 12.1 atm

29. The solution in which the blood cells retain their normal form are with regard to the blood :
(1) Isotonic (2) Isomotic (3) Hypertonic (4) Equinormal
og foy;u ftlesa jDr dh dksf'kdk;sa lkekU; fLFkfr esa jgrh gS jDr ds lkis{k %

(1) leijkljh (2) vkblkseksfVd (3) vfrijkljh (4) leku ukeZy

30. Elevation in boiling point was 0.520C when 6 gm of a compound x was dissolved in 100 gm of water. Molecu-
lar weight of x is (Kb for water is 0.52 per 1000 gm of water)
x ;kSfxd ds 6 xzke dks 100 xzke ty esa ?kksyus ij DoFkukad esa mUu;u 0.520C gS rks  x dk v.kqHkkj gS

(ty ds fy;s Kb =  0.52 izfr 1000 xzke ty)
(1) 120 (2) 60 (3) 180 (4) 600

31. Freezing point of urea solution is –0.60C. How urea (M.W. =60g/mole) is required to dissolve in 3 kg water ?
(Kf = 1.510C Kgmol–1)
;wfj;k foy;u dk fgekad – 0.60C gSA  3 kg ikuh esa ?kksyus ds fy, fdrus ;wfj;k (v.kqHkkj=60g/mole) dh vko';drk gksxh \

(Kf = 1.510C Kgmol–1)
(1) 3.6 g (2) 2.4 g (3) 7.2 g (4) 6.0 g

32. The Vapour pressure will be lowest for
(1) 0.1 M sugar solution (2) 0.1 M, Sucrose
(3) 0.1 M, BaCI2 (4) 0.1 M Na3PO4

lcls de ok"inkc fdlds fy, gksxk

(1) 0.1 M 'kdZjk foy;u (2) 0.1 M, lqØkst

(3) 0.1 M, BaCI2 (4) 0.1 M Na3PO4

33. The oxidation potential of a hydrogen electrode in standard conditions:
ekud ifjfLFkfr;ksa esa gkbMªkstu bysDVªksM dk vkWDlhdj.k foHko gS %

(1) 0.059V (2) 0.59 V (3) 0.00 V (4) 0.51 V

34. Which of following is not the Units of condutance : (pkydRo dh fuEu esa ls dkSulh bdkbZ ugha gS %)
(1) Ohm (2) Mho (3) Siemen (4) Ohm–1

35. The mass of carbon anode consumed (giving only carbondioxide) in the production of 270kg of aluminium
metal from bauxite by the Hall process is
(1) 180kg (2) 270kg (3) 540kg (4) 90kg

gkWy izØe }kjk ckWDlkbV ls ,Y;wfefu;e /kkrq ds 270 fdyksxzke ds mRiknu esa dke es fy;k x;k dkcZu ,uksM dk nzO;eku

fuEu gS ¼dsoy dkcZuMkbZvkWDlkbM nsrk gS½

(1) 180 fdyksxzke (2) 270 fdyksxzke (3) 540 fdyksxzke (4) 90 fdyksxzke
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36. 4.5g of aluminium (at mass 27 amu) is deposited at cathode from AI3+ solution by a certain quanitity of
electric charge. The volume of hydrogen produced at STP from H+ ions in solution by the same quanity of
electric charge will be
fo|qr vkos'k dh ,d fuf'pr ek=kk }kjk AI3+ foy;u ls 4.5 xzke ,Y;wfefu;e ¼ijek.kq Hkkj 27 amu½ dSFkksM ij tek gksrh

gSA blh ek=kk ds fo|qr vkos'k }kjk H+ vk;u ds foy;u ls  STP ij mRikfnr gkbMªkstu dk vk;ru gksxk %

(1) 22.4L (2) 44.8 L (3) 5.6 L (4) 11.2 L

37. What amount of CI2 gas liberated at anode, if 1 amp. current is passed for 30 min. from NaCI solution
NaCl foy;u ls ;fn  1 ,Eih;j /kkjk dks 30 feuV rd izokfgr fd;k tk;s rks ,uksM ij mRlftZr CI2 xSl dh ek=kk fdruh

gksxh %

(1) 0.66 moles (2) 0.33 moles (3) 0.66 g (4) 0.33 g

38. Which of the following curve gives the variation of m  with c  for CH3COOH

fuEu esa ls dkSulk oØ  CH3COOH ds fy,  c  vkSj m  esa fuEu ifjorZu nsrk gSA

(1) 

c

m

(2) 

c

m

(3) 

c

m

(4) None of these buesa ls dksbZ ugha

39. When an electric cell is charged, then

(1) Voltage of cell increases (2) Electrolyte of cell dilutes

(3) Resistance of celll increases (4) None of these

tc rd fo|qr lsy vkosf'kr gksrk gS] rc

(1) lsy dk foHko c<+rk gS (2) lsy dk oS|qr vi?kV~; ruq gks tkrk gSA

(3) lsy dk izfrjks/k c<rk gS (4) buesa ls dksbZ ugha

40. Schottky defect generally appears in ¼'’kkWV~dh =kqfV lkekU;r% fuEu esa izkIr gksrh gS½ %

(1) NaCI (2) KCI (3) CsCI (4) All of these mijksDr lHkh

41. Total volume of atoms present in face-centred cubic unit cell of a metal is (r is atomic radius )

/kkrq ds Qyd dsfUnz; ?kuh; ,dd~ dksf"Vdk esa mifLFkr ijek.kq dk dqy vk;ru fuEu gS (r ijekf.o; f=kT;k gS)

(1) 3
3
20

 (2) 3
3
24

 (3) 3
3

12
 (4) 3

3
16


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42. Sodium metal crystallizes as a body centred cubic lattice with the cell edge 4.29 A. What is the radius of

sodium atom

lksfM;e /kkrq dksj yEckbZ 4.29 A ds lkFk ,d dk;dsfUnz; ?kuh; tkyd esa fØLVyhdr̀ gksrh gSA lksfM;e ijek.kq dh f=kT;k

D;k gksxh %

(1) 1.857 x 10–8 cm (2) 2.371 x 10–7 cm

(3) 3.817 x 10–8 cm (4) 9.312 x 10–7 cm

43. For an ionic crystal of the type AB, the value of (limiting) radius ratio is 0.40. The value suggests that the
crystal structure should be
(1) Octahedral (2) Tetrahedral (3) Square planar (4) Plane triangle

AB izdkj ds vk;fud fØLVy ds fy, ¼lhekdkjd½ f=kT;k vuqikr dk eku 0.40 gSA bl eku ds vk/kkj ij fØLVy lajpuk

gksuh pkfg, %

(1) v"VQydh; (2) prq"Qydh; (3) oxZ leryh; (4) f=kdks.kh; lery

44. Select the incorrect graph for zero order reaction A  B.

'kwU; dksfV vfHkfØ;k A  B ds fy, xyr xzkQ gS

(1) (2) (3) (4) None

45. Rate of formation of SO3 in the following reaction 2SO2 + O2  2SO3  is 100 g min–1. Hence rate of
disappearance of O2 is :

fuEu vfHkfØ;k esa 2SO2 + O2  2SO3 , SO3 ds cuus dh nj 100 xzke feuV–1 gS vr% O2 ds foyqIr gksus dh nj D;k

gksxh:

(1) 50 g min-1 (2) 40 g min–1 (3) 200 g min–1 (4) 20 g min–1
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PART-B

Straight Objective Type
This section contains 45 multiple choice questions. Each question has 4 choices (1), (2),

(3) and (4) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj

bl [k.M esa 45 cgq&fodYih iz'u gSA izR;sd iz'u ds 4 fodYi (1), (2), (3) rFkk (4) gSa, ftuesa ls flQZ ,d lgh

gSA

46. A parallel plate capacitor with air as medium between the plates has a capacitance of 10F . The

area of capacitor is divided into two equal halves and filled with two media as shown in the figure

having dielectric constant k1 = 2 and k2 = 4 . The capacitance of the system will now be

,d lekUrj IysV la/kkfj=k dh IysVksa ds e/; ok;q ek/;e gS rFkk mldh /kkfjrk10F gSA IysVksa ds e/; ds {ks=k dks

nks cjkcj Hkkxksa esa foHkkftr fd;k x;k gS rFkk nks vyx vyx ek/;eksa ls Hkjs x;s gSa tSlk fd fp=k esa fn[kk;k x;k

gSA ijkoS|qrkad dk eku Øe'k% k1 = 2 and k2 = 4 .gS] rks bl fudk; dh /kkfjrk dk eku gksxk

(1)  10F (2)  20F (3)  30F (4)   40F

47. Three equal capacitors, each with capacitance C are connected as shown in figure. Then the

equivalent capacitance between  A and B  is

rhu leku /kkfj=kksa dks fp=kuqlkj tksM+k x;k gS] ftuesa izR;sd dh /kkfjrk C gSA A vkSj B ds chp esa rqY; /kkfjrk gSA

 

A C C C B 

(1)  C (2)  3C (3) 3
C

(4) 2
C3

48. There is a current of 20 amperes in a copper wire of  10–6 square metre area of cross-section. If

the number of free electrons per cubic metre is 1029 , then the drift velocity is

(1) 125 × 10–3 m/sec (2) 12.5 × 10–3 m/sec

(3) 1.25 ×10–3 m/sec (4) 1.25 × 10–4 m/sec

10–6 oxZ ehVj vuqizLFk dkV ds {ks=kQy ds rk¡csa ds rkj esa 20 ,sfEi;j dh /kkjk izokfgr gks jgh gSA ;fn izfr ,dkad

vk;ru esa eqä bysDVªkWuksa dh la[;k  1029  gS] rks vuqxeu osx gksxkA

(1) 125 × 10–3 m/sec (2) 12.5 × 10–3 m/sec

(3) 1.25 ×10–3 m/sec (4) 1.25 × 10–4 m/sec
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49. Resistance of tungsten wire at  150ºC is 133  . Its resistance temperature coefficient is 0.0045/

ºC . The resistance of this wire at 500ºC  will be

(1) 180 (2) 225

(3) 258 (4) 317

,d VaxLVu ds rUrq dk 150ºC ij izfrjks/k 133  gSA ;fn mldk izfrjks/k rki xq.kkad 0.0045/ºC gks rks 500ºC

ij mldk izfrjks/k gksxk

(1) 180 (2) 225

(3) 258 (4) 317

50. Equivalent resistance between A and B will be

(1) 2 ohm

(2) 18 ohm

(3) 6 ohm

 

3 

3 3  

3 3  

3 3 

3 A B (4) 3.6 ohm

A vkSj B fcUnqvksa ds e/; rqY; izfrjks/k gksxk

(1) 2 vksã

(2) 18 vksã

(3) 6 vksã

 

3 

3 3  

3 3  

3 3 

3 A B (4) 3.6 vksã

51. If a copper rod carries a direct current, the magnetic field associated with the current will be

(1) Only inside the rod (2) Only outside the rod

(3) Both inside and outside the rod (4) Neither inside nor outside the rod

;fn ,d rk¡cs dh NM+ esa ls fn"V /kkjk çokfgr gks jgh gS] rks bl /kkjk ls mRiUu pqEcdh; {ks=k gksxk

(1) dsoy NM+ ds vanj (2) dsoy ikbi ds vanj

(3) NM+ ds vUnj vkSj ckgj (4) u ikbi ds vUnj vkSj u gh ckgj

52. Field at the centre of a circular coil of radius r, through which a current I flows is

(1) Directly proportional to r (2) Inversely proportional to I

(3) Directly proportional to I (4) Directly proportional to I2

r f=kT;k dh orZqy dq.Myh esa I /kkjk izokfgr gks jgh gSA blds dSUnz ij {ks=k dh rhozrk gSA

(1) r ds vuqØekuqikrh (2) I ds O;qRØekuqikrh

(3) I  ds vuqØekuqikrh (4) I2  ds vuqØekuqikrh
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53. An electron has mass kg109 31  and charge C106.1 19  is moving with a velocity of 106m/s ,

enters a region where magnetic field exists. If it describes a circle of radius 0.10 m, the intensity
of magnetic field must be

,d bysDVªkWu ¼ftldk æO;eku kg109 31  ,oa vkos'k C106.1 19 ) 106m/s ds osx ls pqEcdh; {ks=k esa ços'k djrk

gSA ;fn ;g 0.10 m f=kT;k dk o`Ùk cukrk gS] rks pqEcdh; {ks=k dk eku gksxk

(1) T108.1 4 (2) T106.5 5

(3) T104.14 5 (4) T103.1 6

54. Which of the following graphs shows the variation of magnetic induction B with distance r from a
long wire carrying current

fuEu esa ls dkSulk xzkQ pqEcdh; çsj.k B dk ,d yEcs rkj ls nwjh r  ds lkFk gksus okyk ifjorZu n'kkZrk gS

(1) 

 B 

r 

(2) 

 B 

r 

(3)

 B 

r 

(4)

 B 

r 

55. A coil having an area  A0 is placed in a magnetic field which changes from B0 to  4B0 in a time
interval t. The e.m.f. induced in the coil will be

,d dq.Myh ftldk {ks=kQy A0 gS] ,d pqEcdh; {ks=k ds yEcor~ j[kh gS ftldk eku le; t. esa  B0 ls  4B0  gks

tkrk gS] dq.Myh esa izsfjr fo-ok- cy dk vkSlr eku gksxkA

(1) t
BA3 00 (2) t

BA4 00 (3) tA
B3
0

0 (4) tA
B4
0

0

56. The back e.m.f. induced in a coil, when current changes from 1 ampere to zero in one milli
second, is  4 volts, the self inductance of the coil is
(1) 1 H (2) 4 H (3) 10–3 H (4)  4 × 10–3 H

;fn fdlh dq.Myh esa /kkjk dk eku 1 ,sfEi;j ls 'kwU; rd 1 feyh lSd.M esa ?kVus ij 4 oksYV dk foijhr fo|qr

okgd cy izsfjr gksrk gS] rks dq.Myh dk LoizsjdRo gksxk

(1) 1 gsujh (2) 4 gsujh (3) 10–3 gsujh (4)  4 × 10–3 gsujh
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57. A horizontal straight conductor kept in north-south direction falls under gravity, then
(1) A current will be induced from South to North
(2) A current will be induced from North to South
(3) No induce e.m.f. along the length of conductor
(4) An induced e.m.f. is generated along the length of conductor

,d {kSfrt ljy js[kh; pkyd dks mÙkj nf{k.k fn'kk esa j[kdj eqä :i ls fxjk;k tkrk gSA vr%

(1) pkyd esa nf{k.k ls mÙkj dh fn'kk esa /kkjk izsfjr gksxh

(2) pkyd esa mÙkj ls nf{k.k fn'kk dh vksj /kkjk izsfjr ugha gksxh

(3) pkyd dh yEckbZ ds vuqfn'k izsfjr fo- ok- cy izsfjr ugha gksxk

(4) pkyd dh yEckbZ ds vuqfn'k ,d izsfjr fo|qr okgd cy mRié gksxk

58. A coil of resistance R=10  and an inductance L=5H is connected to a 100 volt battery. Then
energy stored in the coil is
(1) 125 erg (2) 125 J (3) 250 erg (4) 250 J

,d dq.Myh dk izfrjks/k R=10  ,oa izsjdRo L=5H gSA bls ,d 100 oksYV dh cSVjh ls tksM+k x;k gSA rc blesa

lafpr ÅtkZ gS

(1) 125 erg (2) 125 J (3) 250 erg (4) 250 J

59. The peak value of an Alternating current is 6 amp, then r.m.s. value of current will be

(1) 3 A (2)  33  AA (3) 23  AA (4) 32  AA

,d çR;korhZ /kkjk dk f'k[kj eku 6 ,sfEi;j gS rks /kkjk dk oxZ ek/; ewy eku gksxk

(1) 3 A (2)  33  AA (3)  23  AA (4) 32  AA

60. An alternating voltage is represented as  E = 20 sin 200t. The average value of voltage over one
cycle will be

(1) Zero (2) 10 volt (3) 220  volt (4) 2
20

 volt

fdlh çR;korhZ oksYVrk dks  E = 20 sin 300t. ls fu:fir fd;k tkrk gSA ,d pØ esa oksYVrk dk vkSlr eku gksxk

(1) 'kqU; (2) 10 volt (3)  220  volt (4) 2
20

 volt

61. An ac circuit consists of an inductor of inductance 0.5 H and a capacitor of capacitance 8  F in
series. The current in the circuit is maximum when the angular frequency of ac source is
(1) 500 rad/sec (2) 2 ×1052 rad/sec
(3) 4000 rad/sec (4) 5000 rad/sec

,d ac ifjiFk esa 0.5 H çsjdRo dk ,d çsjd ,oa  8 F /kkfjrk dk ,d la/kkfj=k Js.khØe esa tqM+s gSaA ifjiFk esa

/kkjk vf/kdre gksus ds fy;s lzksr dh dks.kh; vko`fÙk D;k gksxh

(1) 500 rad/sec (2) 2 ×1052 rad/sec
(3) 4000 rad/sec (4) 5000 rad/sec
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62. A light bulb is placed between two plane mirrors inclined at an angle of 600  The number of
images formed are

,d fo|qr cYc dks  600 ij >qds nks lery niZ.kksa ds chp j[kk x;k gSA bl cYc ds fdrus çfrfcEc fn[ksaxs

(1) 6 (2) 2 (3) 5 (4) 4

63. The image formed by a convex mirror of focal length 30cm is a quarter of the size of the object.
The distance of the object from the mirror is

30 lsaeh Qksdl nwjh okys mÙky niZ.k ls cuus okys çfrfcEc dk vkdkj oLrq ls ,d-pkSFkkbZ gSA niZ.k ls oLrq dh nwjh

gksxh

(1) 30cm (2) 90cm (3) 120cm (4) 60cm

64. The relation between the linear magnification m the object distance u and image distance v and
the focal length f is

js[kh; vko/kZu m oLrq nwjh u  çfrfcEc nwjh v rFkk Qksdl nwjh f esa vkil esa lEcU/k gksrk gS

(1) f
uf

m


 (2) uf
f

m


 (3) f
uf

m


 (4) uf
f

m




65. When light travels from one medium to the other of which the refractive index is different, then
which of the following will change
(1) Frequency, wavelength and velocity (2) Frequency and wavelength
(3) Frequency and velocity (4) Wavelength and velocity

tc çdk'k dh fdj.ksa ,d ek/;e ls nwljs ek/;e ftldk viorZukad igys dh rqyuk esa fHkUu gS tkrh gS rks ifjorZu

gksrk gS

(1) vko`fÙk] rjaxnS/;Z rFkk osx esa (2) vko`fÙk rFkk rjaxnS/;Z esa

(3)  vko`fÙk rFkk osx esa (4) rjaxnS/;Z rFkk osx esa

66. The refractive index of a certain glass is 1.5 for light whose wavelength in vacuum is 6000 Å. The
wavelength of this light when it passes through glass is
(1) 4000 Å (2) 6000 Å (3) 9000 Å (4) 15000 Å

fdlh dk¡p dk viorZukad 1.5 tcfd fuokZr~ esa çdk'k dh rjaxnS/;Z 6000 Å gS  rks bl çdk'k dh rjaxnS/;Z dk¡p

esa gksxh

(1) 4000 Å (2) 6000 Å (3) 9000 Å (4) 15000 Å

67. How much water should be filled in a container 21 cm in height, so that it appears half filled when
viewed from the top of the container  (given that   = 4/3)
(1) 8.0 cm (2) 10.5 cm (3) 12.0 cm (4) None of the above

21 laseh Å¡ps crZu esa fdl ÅWpkbZ rd ikuh Hkjk tk;s fd crZu Åij ls ns[kus ij vk/kk Hkjk çrhr gks

¼fn;k gS  = 4/3)

(1) 8.0 cm  (2) 10.5 cm (3) 12.0 cm (4) mijksä esa ls dksbZ ugha
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68. A beam of light is converging towards a point I on a screen. A plane glass plate whose thickness
in the direction of the beam = t, refractive index = , is introduced in the path of the beam. The
convergence point is shifted by

,d çdk'k fdj.k iq¡t insZ ij fdlh fcUnq  I ij vfHklfjr gks jgh gSA ,d lery dk¡p dh lekUrj IysV ftldh

eksVkbZ  t rFkk viorZukad   gS] dks fdj.k iq¡t ds iFk esa j[kk tkrk gS rks vfHklkjh fcUnq foLFkkfir gks tk;sxk

(1)  









1

1t  nwj (2) 









1

1t  nwj (3)  









1

1t  ikl (4) 









1

1t  ikl

69. A ray of light passes through four transparent media with refractive indices  4321 and ,.   shown

in the figure.  The surfaces of all media are parallel.  If the emergent ray CD is parallel to the
incident ray AB, we must have

,d çdk'k fdj.k pkj ikjn'khZ ek/;eksa ftuds viorZukad Øe'k% 321 ,,   vkSj 4 ls fp=kuqlkj xqtjrh gS lHkh ek/

;eksa ds i`"B lekUrj gSA ;fn fuxZr fdj.k AB, vkifrr fdj.k CD ds lekUrj gks rks

(1) 21   (2) 32    (3)  43   (4)  14  

70. The wavelength  of light in two liquids 'x' and 'y' is 3500 Å and 7000 Å, then the critical angle of x

relative to y will be

nks nzo 'x'  vkSj 'y' esa çdk'k dh rjaxnS/;Z Øe'k% 3500 Å   vkSj7000 Å, gS] rks x ds lkis{k y  ek/;e dk Økafrd

dks.k gksxk

(1) 60° (2) 45° (3) 30° (4) 15°

71. Two similar plano-convex lenses are combined together in three different ways as shown in the

adjoining figure. The ratio of the focal lengths in three cases will be

nks le:i leryZZZZ&mÙky ysUlksa dks layXu fp=kkuqlkj rhu izdkj ls la;ksftr fd;k tkrk gSA bu la;kstuksa dh Qksdl

nwfj;ksa dk vuqikr gksxkA

(1) 2 : 2 : 1 (2) 1 : 1 : 1 (3) 1 : 2 : 2 (4) 2 : 1 : 1

72. Two thin convex lenses of focal lengths 20 cm and 25 cm are placed in contact . The effective

power of the combination is

(1) 45 dioptres (2) 9 dioptres (3) 1/9 dioptre (4) 6 dioptres

nks irys mÙky ysUl ftudh QksDl nwfj;k¡ 20 lsaeh o 25 lsaeh gSa] lEidZ esa j[ksa x;s gSaA la;kstu dh izHkkoh {kerk

gSA

(1) 45 Mk;ksIVj (2) 9 Mk;ksIVj (3) 1/9 Mk;ksIVj (4) 6 Mk;ksIVj
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73. A ray of light is incident normally on one of the face of a prism of angle 30o and refractive index 2

.The angle of deviation will be

,d izdk'k fdj.k] 30o fizTe dks.k okys fizTe ds ,d Qyd ij vfHkyEcor~ vkifrZr gksrh gSA fizTe ds inkFkZ dk

viorZukad  2 gks rks fopyu dks.k gksxkA

(1) 26o (2) 0 o (3) 23o (4) 15o

74. A total charge Q is broken in two parts Q1  and Q2 and they are placed at a distance R from

each other. The maximum force of repulsion between them will occur, when

fo|qr vkos'k Q dks nks Hkkxksa esa Q1 rFkk Q2 esa foHkä djds ijLij R nwjh ij j[kk x;k gSA nksuksa ds e/;

izfrd"kZ.k dk cy vf/kdre gksxk] tc

(1) R
Q

QQ
R
Q

Q  12 , (2) 3
2

,
4 12

Q
QQ

Q
Q 

(3) 4
3

,
4 12

Q
Q

Q
Q  (4) 2

,
2 21

Q
Q

Q
Q 

75. Two charged spheres of radii 10 cm and 15 cm are connected by a thin wire. No current will

flow, if they have

(1) The same charge on each (2) The same potential

(3) The same energy (4) The same field on their surfaces

10 lseh vkSj 15 lseh f=kT;k ds vkosf'kr xksykdkjksa dks irys rkj ls la;ksftr djus ij dksbZ /kkjk izokfgr ugha

gksrh gSS] ;fn

(1) nksuksa ij leku vkos'k gS (2) nksuksa dk foHko leku gS

(3) nksuks esa leku ÅtkZ gS (4) nksuksa ds i`"Bksas ij leku oS|qr {ks=k gSA

76. ABC is an equilateral triangle. Charges +q are placed at each corner. The electric intensity at
O will be
ABC ,d leckgq f=kHkqt gSA izR;sd 'kh"kZ +q vkos'k j[kk x;k gSA fcUnq O ij oS|qr {ks=k dh rhozrk gksxhA

(1) 2
04

1

r

q
 (2) r

q

04
1
 (3) Zero (4) 2

0

3
4

1

r

q


77. The torque acting on a dipole of moment P  in an electric field E  is

oS|qr {ks=k E esa P  vk?kw.kZ okys f}/kzqo ij yxus okyk cy vk/kw.kZ gSA

(1) EP  (2) EP  (3) Zero (4) PE 
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78. The energy stored in a condenser of capacity C which has been raised to a potential V is given
by
C /kkfjrk ds la/kkfj=k esa lafpr ÅtkZ D;k gksxh]  tcfd mldk foHko V rc c<+k;k tk;sA

(1) CV
2
1 (2) 2

2
1

CV (3) CV (4) VC2
1

79. An object is projected at an angle of 45° with the horizontal. The horizontal range and the
maximum height reached will be in the ratio.
fdlh oLrq dks {kSfrt ls 45º ds dks.k ij iz{ksfir fd;k tkrk gS oLrq dh {kSfrt rFkk vf/kdre Å¡pkbZ dk vuqikr

gksxkA

(1) 1 : 2 (2) 2 : 1 (3) 1 : 4 (4) 4 : 1

80. A 2 kg block is lying on a smooth table which is connected by a body of mass 1 kg by a string
which passes through a pulley. The 1 kg mass is hanging vertically. The acceleration of block and
tension in the string will be -
2 kg dk xqV[kk ?k"kZ.k foghu ry ij j[kk gqvk gSA bls ,d Mksjh ls ck¡/kk x;k gS vkSj Mksjh dk nwljk Å/okZ/kj% uhps

yVd jgs 1 kg nzO;eku ls ck¡/kdj ?k"kZ.k jfgr ij yVdk;k x;k gSA xqVds dk Roj.k rFkk Mksjh esa ruko gksxkA

(1) N54.6,s/m27.3 2 (2) N54.6,s/m38.4 2

(3) N86.9,s/m27.3 2 (4) N86.9,s/m38.4 2

81. A block of mass m initially at rest is dropped from a height h on to a spring of force constant k. the

maximum compression in the spring is x then

m nzO;eku dk ,d xqVdk] tks izkjaHk esa fojkeoLFkk esa gS] h Å¡pkbZ ls fLiazx fu;rkad k okyh fLizax ij fxjk;k tkrk

gSA ;fn fLaizx esa vf/kdre laihMu x mRi=k gksrk gS] rc

(1) 2kx
2
1mgh 

(2) 2kx
2
1)xh(mg 

 
h 

(3) 2)hx(k
2
1mgh 

(4) 2)hx(k
2
1)xh(mg 

82. The moment of inertia of a uniform ring of mass M and radius r about a tangent lying in its own

plane is

nzO;eku M rFkk f=kT;k r okys ,dleku oy; dk tM+Ro vk?k w.k Z mlds ry es a fLFkr ,d Li'kZ js[kk ds

ifjr% gksrk gS

(1) 2Mr2 (2) 2Mr
2
3 (3) Mr2 (4) 2Mr

2
1
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83. The r.m.s. speed of gas molecules is given by
xSl v.kqvksas dk oxZ ek/; ewy osx gksrk gSA

(1) 
M
RT

5.2 (2) 
M
RT

73.1 (3) 
RT
M

5.2 (4) 
RT
M

73.1

84. Which of the following formulae is wrong
fuEu esa ls dkSulk lw=k xyr gSA

(1) 1



R
CV (2) 1



 R

CP (3) VP CC / (4) RCC VP 2

85. The resistance R = 
i
V  where  V= 100   5 volts and  i = 10  0.2 amperes. What is the total error

in R

fn;k gS izfrjks/k R = i
V  tgk¡  V= 100   5 oksYV rFkk i = 10  0.2 ,sfEi;j. gS rks R  esa dqy =kqfV gksxhA

(1) 5% (2) 7% (3) 5.2% (4) 
2
5  %

86. A person moves 30 m north and then 20 m towards east and finally 230  m in south-west

direction. The displacement of the person from the origin will be
(1) 10 m along north (2) 10 m long south
(3) 10 m along west (4) Zero

,d O;fDr 30 m mÙkj fn'kk eas blds i'pkr~ 20 m iwoZ fn'kk esa rFkk var esa 230 m nf{k.k&if'pe fn'kk esa pyrk

gSA izkajfEHkd fcUnq ls O;fDr dk foLFkkiu gksxkA

(1) 10 m mÙkj dh vksj (2) 10 m nf{k.k dh vksj

(3) 10 m if'pe dh vksj (4) 'kwU;

87. An aeroplane is flying horizontally with a velocity of 600 km/h at a height of 1960 m. When it is

vertically at a point A on the ground, a bomb is released from it. The bomb strikes the ground at

point B. The distance AB is

,d gokbZ tgkt 600 fdeh@?kaVk ds {kSfrt osx ls] i`Foh ls 1960 ehVj dh Å¡pkbZ ij mM+ jgk gSA tc ;g i`Foh

ij fLFkr fcUnq A ds Bhd Åij gS] rc blls ,d ce NksM+k tkrk gSA ;g ce i`Foh ij B fcUnq ij fxjrk gSA i`Foh

ij A o B fcUnqvksa dh chp dh nwjh gksxhA

(1) 1200 m (2) 0.33 km (3) 3.33 km (4) 33 km

88. An elevator weighing 6000 kg is pulled upward by a cable with an acceleration of 5ms–2 . Taking

g to be 10ms–2 , then the tension in the cable is

6000 fdxzk ds ,d ,syhosVj dks fdlh dsfcy }kjk 5 eh@ls2 ds Roj.k ls Åij dh vksj [khapk tkrk gSA ;fn

g = 10@lS2 gks] rks dsfcy esa ruko gksxkA

(1) 6000 N (2) 9000 N (3) 60000 N (4) 90000 N
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89. A particle of mass 'm' and charge 'q' is accelerated through a potential difference of 'V' volt. Its
energy is

'm' nzO;eku rFkk 'q' vkos'k dk ,d d.k foHkokUrj 'V' ls Rofjr gks jgk gS] bldh ÅtkZ gS

(1) qV (2) mqV (3) V
m
q








 (4) Vm
q

90. In an elastic collision of two particles the following is conserved
(1)  Momentum of each particle (2) Speed of each particle
(3) Kinetic energy of each particle (4) Total kinetic energy of both the particles

nks fi.Mksa ds izR;kLFk la?kê esa fuEufuf[kr jkf'k lajf{kr jgrh gS

(1) izR;sd d.k dk laosx (2) izR;sd d.k dh pky

(3) izR;sd d.k dh xfrt ÅtkZ (4) nksuksa d.kksa dh lEiw.kZ xfrt ÅtkZ

PART-C

Straight Objective Type

This section contains 90 multiple choice questions. Each question has choices (1), (2), (3)

and (4), out of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj

bl [k.M esa 90 cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (1), (2), (3) rFkk (4) gSa] ftuesa ls flQZ ,d lgh gSA

91. Endemic plants are those plants which grow in
(1) Fresh water lakes (2) Shady places
(3) Tissues of other plants (4) Geographically limited areas

{ks=kfo'ks"kh ikni os ikni gkssrs gSaA tks o`f) djrs gSaA

(1) LoPN tyh; >hyksa esa (2) Nk;knkj LFkkuksa esa

(3) vU; ikniksa ds Årdksa esa (4) HkkSxksfyd :i ls lhfer {ks=kksa eas

92. Ovary is half-inferior in the flower of
(1) Apple (2) Guava (3) Peach (4) Garlic

v/kZ&fuEu vaMk'k; fdlds iq"i esa gksrk gS &

(1) lsc (2) ve:n (3) vkMw (4) yglqu

93. Ex situ conservation is carried out in:

(1) Sanctuary (2) National park (3) biosphere reserve (4) Zoo

mLFkkus laj{k.k (Ex situ conservation) fdlesa fd;k tkrk gS

(1) vHk;kj.; (2) jk"Vªh; m|ku (3) tSo e.My fjtoZ (4) tUrqvky;
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94. Biosphere Reserves differ from national parks and wildlife sanctuaries because in the former -
(1) Human beings are not allowed to enter
(2) People are an integral part of the system
(3) Plants are paid greater attention than the animals

(4) Living organisms are brought from all over the world and preserved for prosperity

tSo e.My fjtoZ jk"Vªh; m|kuksa rFkk oU;tho vH;kj.;ksa ls fHkUu gSa D;ksafd buesa -

(1) euq";ksa ds izos'k dh vuqefr ugha gS

(2) tuleqnk; bl ra=k dk ,d vfHkUu fgLlk gS

(3) tUrqvksa dh rqyuk esa ikniksa ij vf/kd /;ku fn;k tkrk gS

(4) tho iwjs fo'o ds fofHkUu Hkkxksa ls yk;s tkrs gSa rFkk le`)rk ds fy;s ifjjf{kr fd;s tkrs gSaA

95. What will be the ratio between NADH formed in glycolysis and NADH formed in a Kreb cycle.?

Xykbdksfyfll es fufeZr NADH rFkk ,d ØsCl pØ es fufeZr NADH dk vuqikr D;k gksxk

(1) 1 : 4 (2) 1 : 2 (3) 1 : 3 (4) 2 : 3

96. Oblique septum and swollen placenta is characteristic feature of
(1) Gloriosa superba (2) Capsicum frutescence
(3) Althea rosea (4) Dalbergia sissoo

frjNsiV rFkk Qwyk gqvk Iysls.Vk fdldk yk{kf.kd xq.k gSa

(1) Xyksfjvkslk lqijck (2) dsIlhde ÝwVslsUl

(3) ,fYFk;k jksft;k (4) MycftZ;k fllks

97. Which one of these is an in situ method of conservation?
(1) National Park (2) Botanical garden

(3) Tissue culture (4) Genetic engineering

buesa ls dkSulk ,d laj{k.k dh LoLFkkus fof/k gS-

(1) jk"Vªh; m|ku (2) okuLifrd m|ku

(3) Ård lao/kZu (4) vkuqokaf'kd vfHk;kaf=kdh

98. Which of the following is most dangerous to wild life?
(1) Over exploitation (2) Man made forest

(3) Habitat destruction (4) Introduction of foreign species

fuEu esa ls dkSulk oU; thoksa ds fy, lcls vf/kd [krjukd gS

(1) vfr'kks"k.k (2) ekuo fufeZr ou

(3) vkokl fo?kVu (4) cká tkfr;ksa dk iqjLFkkiu

99. Introduction of Nile Perch in Lake Victoria of South Africa resulted in
(1) Excessive growth of water weeds (2) Elimination of water weeds

(3) Elimination of many species of Cichlid fish (4) Excessive growth of chichlid fish

nf{k.k vÝhdk dh foDVksfj;k >hy esa uhy ipZ ds iqjLFkkiu dk D;k ifj.kke gqvk

(1) tyh; [kjirokjksa dh vR;f/kd of̀) (2) tyh; [kjirokjksa dk foyksiu

(3) lhDyhM eNyh dh vusd tkfr;ksa dk foyksiu (4) lhDyhM eNyh dh vR;f/kd o`f)
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100. In the geomatric growth exponential growth is expressed as
(1) W1 =Wo e rt (2) W1 = Wo/e rt (3) W1 = Wo/t (4) Wo = we rt

T;kferh; o`f) (geomatric growth) eas pj?kkarkdh o`f) fdl :i eas n'kkZ;h tkrh gSaA

(1) W1 =Wo e rt (2) W1 = Wo/e rt (3) W1 = Wo/t (4) Wo = we rt

101. In leaves of C4 plants pyruvic acid synthesis during CO2 fixation occurs in -
(1) Bundle sheath (2) Mesophyll (3) Epidermis (4) Guard cells

C4 ikS/kksa dh ifÙk;ksa esa CO2 LFkk;hdj.k ds le; ik;:fod vEy dk fuekZ.k dgk¡ gksrk gS\

(1) iwykPNn esa (2) i.kZe/;ksrd esa (3) ckg~;RoPkk esa (4) }kj dksf'kdkvksa esa

102. A hormone involved in low temperature effect on flowering is
(1) Florigen (2) Vernalin (3) dormin (4) Anthesin.

,d gkjeksu tks iq"iu ij fuEu rkiØe izHkko ds fy, mÙkjnk;h gSa

(1) ¶yksjhtu (2) ousZfyu (3) MkWfeZu (4) ,UFksflu

103. Lungs of planet is another name of
(1) Silent valley (2) Australian coral reef
(3) Himalayan region (4) Amazon Tropical rain forest

yaXl vkWQ IysusV fdldk vU; uke gSA

(1) lkbys.V oSyh (2) vkLVsªfy;u dksjy jhQ

(3) fgeky; {ks=k (4) vestu m".kdfVca/kh; o"kkZ ou

104. Introduction of Clarius gariepinus in aquaculture in india is a serious threat to extinction of
(1) Cray fish (2) Cichlid fish (3) Native cat fish (4) Salmon fish

Hkkjr esa Dysfj;l xSjhikbul ds ty lao/kZu esa iqjLFkkiu ls fdlds yqIr gksus dk [krjk iSnk gks x;k gSA

(1) ØsfQ'k (2) fldfyM fQ'k (3) ns'kh; dsV fQ'k (4) lkYeu fQ'k

105. What is ‘Bioprospecting’
(1) Increasing production of useful products by using Bioresources
(2) Monitoring the loss of Biodiversity in different geographical areas
(3) Exploring molecular genetics and species level diversity for products of economic importance
(4) Selecting useful species for commercial utilizaiton of them or their products.

Þck;ksçksLisfDVaxß ¼tSo vUosa"k.k½ D;k gS &

(1) tSo lalk/kuksa ds mi;ksx }kjk mi;ksxh mRiknksa ds mRiknu esa c<+ksrjh djukA

(2) fofHké HkkSxksfyd {ks=kksa eas tSo fofo/krk dh gkfu dk fujh{k.k djuk

(3) vkfFkZd egRo ds mRinksa ds fy, vk.kfod vkuqokaf'kdh rFkk tkfr Lrjh; fofo/krk dk vUos"k.k djuk

(4) mi;ksxh tkfr;ksa dks muds vFkok muls fufeZr mRiknksa ds O;olkf;d mi;ksx ds fy, p;fur djuk

106. Khasian jantia hills in meghalaya, aravali hills of Rajasthan, western ghat regions of karnataka and maharashtra
and the sarguja, chanda & baster areas of Madhya pradesh represent
(1) National Parks (2) Biosphere reserves
(3) Wild life sanctuaries (4) Sacred grooves

es?kky; esa [kkfl;k tkfUr;k igkM+] jktLFkku esa vjkoyh ioZr] dukZVd] egkjk"Vª rFkk ljxqtk esa if'peh ?kkV rFkk e/; çns'k

esa pank rFkk cLrj {ks=k fdls n'kkZrk gS &

(1) jk"Vªh; m|ku (2) tSo e.My fjtoZ

(3) oU; tho vH;kj.; (4) ifo=k miou (Sacred grooves)
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107. Among the following, which compound links glycolysis and Kreb’s cycle –
(1)  Acetyl  -  Co.A (2)  Pyruvic acid (3) Glucose (4)  Oxaloacetic acid

fuEufyf[kr esa ls dkSu lk ;kSfxd Xykbdksfyfll rFkk ØsCl pØ dks tksM+rk gS \

(1)  ,flfVy Co.A (2)  ik;:fod vEy (3) Xywdkst (4) vkWDtsyks,flfVd vEy

108. The amazon rain forest harbouring probably millions of species is being cut and cleared for cultivating ........
(a)........... or for conversion to........... (b).........beef cattle. Here (a) and (b) are –
(1) (a) Wheat (b) Fodder
(2) (a) Bajra (b) Agriculture land
(3) (a) Soyabean (b) Grassland
(4) (a) Maize (b) Dairy industry

fo'kky vestu o"kkZ&ou] ftleas laHkor% djksM+kas tkfr;k¡¡ (Lih'kht) fuokl djrh gSaA bl ou dks ........ (a)........... dh [ksrh

rFkk........ (b)...........ds fy, dkVdj lkQ fd;k tk jgk gSA

(1) (a) xsagw¡ (b) pkjk

(2) (a) cktjk (b) Ñf"k {ks=k

(3) (a) lks;kchu (b) i'kqvksa ds pkjkxkg

(4) (a) eDdk (b) Msjh m|ksx

109. Which of the following is final acceptor of hydrogen in electron transport system.

(1) F0 – F1 complex (2) Cyta-a3 (3) Nascent oxygen (4) UbQ

fuEu esa ls dkSulk bysDVªkWu ifjogu ra=k esa gkbMªkstu dk vafre xzkgh gSA

(1 ) F0 – F1 complex (2) Cyta-a3 (3) uotkr vkWDlhtu (4) UbQ

110. The number of hot spots have discovered in different parts of world is -

(1) 12 (2) 34 (3) 25 (4) 46

fo'o ds fofHkUu Hkkxksa esa [kksth tk pqdh gkWV LikWV~l dh la[;k gS -
(1) 12 (2) 34 (3) 25 (4) 46

111. Given below the following statements
(a) Soyabean, Tomato and Tobacco are short day plants
(b) plasticity in plants is usually caused due to effect of enviromment
(c) ABA initiates the dormancy of Buds & seed & the former also acts as stress hormone. (d) In plants the
growth is open type while differentiation is close type
(e) Effect of cold treatment can be overcome by gibberellin that is called Devernalization.
Select the option having correct statement-
(1) a, c, d (2) b,c,e (3) a,b,c,e (4) a,c,d,e

uhps fuEu dFku fn;s x;s gSa \

(a) lks;kchu] VekVj rFkk rEckdw y?kq fnolh; ikni gSaA

(b) okrkoj.k ds izHkko ds dkj.k lkekU;r% IykfLVflVh ikniksa esa gksrh gSA

(c) ABA dfydkvksa rFkk chtksa esa izlqfIr dks izsfjr djrk gS rFkk ;g ruko gkekZsu ds :i esa dk;Z djrk gSaA

(d) ikniksa esa o`f) [kqys izdkj dh gksrh gS tcfd foHksnu can izdkj dk gksrk gSa

(e) 'khru mipkj dk izHkko ftcjsfyu }kjk gVk;k tk ldrk gS tks fd volarhdj.k dgykrk gSA

ml fodYi dks pqfu;s ftlesa lgh dFku gSaA

(1) a, c, d (2) b, c, e (3) a, b, c, e (4) a, c, d, e



RESONANCE Page # 97Page # 97

STPXIII1718

 

112. Polyadelphous stamens are found in
(1) Cotton (2) Sunflower (3) Grain (4) Lemon

cgqla?kh iaqdslj fdlesa ik;s tkrs gSa \

(1) dikl (2) lwjteq[kh (3) puk (4) uhacw

113. 4C, 5C and 6C compounds are synthesized in kreb cycle select
The correct option of these compounds
(1) Succinic acid, succinyl CO-A, Isocitric acid
(2) Malic acid, -ketogluteric acid, Fumeric acid
(3) - ketogluteric acid, oxalosuccinic acid, citric acid
(4) succinic acid, - ketogluteric acid, citric acid

ØsCl pØ esa 4C, 5C vkSj 6C ;ksfxdksa dk l'ysa"k.k gksrk gS bu ;kSfxdksa ds lgh fodYi dk pquko dhft,sA

(1) lfDlfud vEy] lfDlukby CO~A] vkblksflfVªd vEy

(2) esfyd vEy] -dhVksXywVsfjd vEy] ¶;wesfjd vEy

(3) -dhVksXywVsfjd vEy] vkWDlsykslfDlfud vEy lhVªhd vEy

(4) lfDlfud vEy] -dhVksXywVsfjd vEy] lhVªhd vEy

114. For fixing one molecule of CO2 in C4 cycle, are required
(1) 3 ATP + 2 NADPH2 (2) 5 ATP + 2 NADPH2

(3) 2 ATP + 3 NADPH2 (4) 3 ATP + 3 NADPH2

C4 pØ esa CO2 ds ,d v.kq dks fLFkj djus ds fy, vko';d gksrs gSA

(1) 3 ATP + 2 NADPH2 (2) 5 ATP + 2 NADPH2

(3) 2 ATP + 3 NADPH2 (4) 3 ATP + 3 NADPH2

115. The % global species diversity in india is –
(1) 2.4 % (2) 12 % (3) 9 % (4) 8.1 %

Hkkjr esa fdrus % oSf'od tkfr fofo/krk ik;h tkrh gS &

(1) 2.4 % (2) 12 % (3) 9 % (4) 8.1 %

116. One of the ex situ conservation method for endangered species is
(1) Wildlife sanctuaries (2) Biosphere reserves

(3) Cryoprservation (4) National parks

ladVxzLr tkfr ds fy, dkSulh ,d mLFkkus laj{k.k fof/k (ex situ conservation method) gS

(1) oU;tho vH;kj.; (2) tSo e.My fjtoZ

(3) Øk;ks laj{k.k (4) jk"Vªh; m|ku

117. Assimilatory roots are found in
(1) Tinospora (2) Ficus (3) Rhizophora (4) Cuscuta

Lokaxhdkjh ewysa fdlesa ik;h tkrh gSaA

(1) fVuksLiksjk (2) Qkbdl (3) jkbtksQksjk (4) dLdqVk

118. If glycerol would enter in the kreb cycle then it will firstly convert into

(1) Acetyl Co~A (2) PGAL (3) DHAP (4) Pyruvic acid

;fn fXyljkWy ØsCl pØ esa izos'k djsxk] rc ;g igys fdlesa ifjofrZr gksxk

(1) ,lhfVy Co~A (2) PGAL (3) DHAP (4) ik;:fod vEy
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119. Given below the following three statement
(a) It is our moral responsibility to take good care of earth's biodiversity
(b) The indirect benefits of ecosystem services are pollination, climate moderation, pestcontrol
(c) The direct benefits of it to obtain pharmaceuticals, firewood, fibre, food
Above statements (a), (b) & (c) represent reasons for conserving biodiversity that are respectively
(1) a – Narrow utilatarian, b–broad utilitarain, c– ethical
(2) a– ethical, b– broad utilitarain, c–Narrow utilatarian
(3) a– broad utilitarain, b–Narrow utilatarian, c–ethical

(4) a– ethical, b– Narrow utilatarian, c–broad utilitarain

uhps rhu dFku fn;s x;s gSa -

(a) ;g gekjh uSfrd ftEesnkjh gS fd ge i`Foh dh tSo fofo/krk dh ns[kHkky vPNh rjg ls djsa

(b) ikjfLFkfrd ra=k lsokvksa ds vizR;{k ykHk ijkx.k] tyok;q leUo;] ihM+d fu;a=k.k gSa

(c) blds izR;{k izHkko esa vkS"kf/k;k¡] tykus dh ydM+h] js'ks] [kk| inkFkks± dh izkfIr gS

mijksDr dFku (a), (b) & (c) tSo fofo/krk laj{k.k ds dkj.kksa dks n'kkZrs gSaA tks Øe'k% gSa

(1) a – ladh.kZ :i, b–O;kid :i , c– uSfrd rdZ

(2) a– uSfrd rdZ, b– O;kid :i, c–ladh.kZ :i

(3) a– O;kid :i, b–ladh.kZ :i, c–uSfrd rdZ

(4) a– uSfrd rdZ, b– ladh.kZ :i, c–O;kid :i

120. The RQ value of Tripalmitin is about

(1) 0.8–0.9 (2) 1 (3) 1.33 (4) 0.7

VªkbZ ikesfVu dk RQ eku yxHkx gksrk gS -
(1) 0.8–0.9 (2) 1 (3) 1.33 (4) 0.7

121. A pappus is modification of
(1) Bract (2) Corolla (3) Stamen (4) Calyx

,d iSil fdldk :ikUrj.k gS

(1) lgi=k (2) nyiqat (3) iqqadslj (4) ckányiaqt

122. National Park associated with Rhinoceros is

(1) Kaziranga (2) Ranthambore (3) Corbett (4) Valley of flowers

xsaMs ls lacaf/kr jk"Vªh; m|ku gS

(1) dkthjaxk (2) j.kFkEHkkSj (3) dkWjcsV (4) Qwyksa dh ?kkVh
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123. Select the correct matching of the characteristics in respect of C3 and C4 plants

C3 rFkk C4 ikniksa ds lEcU/k esa y{k.kksa ds lgh feyku dk p;u dhft,A

Characte ristic C3 plant C4 plant
A Primary CO2 acceptor RUBP PEP
B Occurence of Rubisco Bundle sheath Mesophyll
C Primary CO2 fixation product PGA OAA
D No. of ATP & NADPH·H+ 

required for the synthesis of 
1 molecule of glucose

18 & 12 30 & 12

y{k.k C3 i kni C4 i kni

a i zkFkfed  CO2 xzkgh RUBP PEP
b RUBISCO dh mi fLFkfr i wykPNn eht ksfQy
c CO2 fLFkj hdj .k dk i zkFkfed mRi kn PGA OAA
d 1 v.kq Xywdkst  ds l a’ ys"k.k ds fy,  

vko’ ; d ATP r Fkk NADPH·H+ 

dh l a[ ; kA

18 & 12 30 & 12

(1) b, c, d (2)  a, b,c (3) a, c, d (4) b & d

124. Number of ecological hotspots in India are

(1) 1 (2) 2 (3) 3 (4) 4

Hkkjr esa ikjfLFkfrdh; gkWV LikWV~l dh la[;k gS

(1) 1 (2) 2 (3) 3 (4) 4

125. One of the most important function of botanical gardens is that:
(1) They provide a beautiful area for recreation
(2) One can observe tropical plants there
(3) They allow ex situ conservation of germplasm

(4) They provide the natural habitat for wildlife

okuLifrd m|kuksa dk ,d egRoiw.kZ dk;Z gSA

(1) os euksjatu ds fy, euksgj LFky iznku djrs gSA

(2) dksbZ Hkh ogk¡ ij m".kdfVca/kh; ikni izsf{kr dj ldrk gSA

(3) os teZIykTe ds mLFkkus laj{k.k (ex situ conservation) djrs gaSA

(4) os oU; thoksa ds fy, izkÑfrd vkokl iznku djrs gSaA

126. The "Eyes" of the potato tuber are
(1) root buds (2) flower buds (3) shoot buds (4) axillary buds

vkyw ds dan es ftu lajpukvkas dks "vk¡[ks" dg nsrs gSaA os D;k gksrh gSa

(1) ewy dfydk,¡ (2) iq"i dfydk,¡ (3) izjksg dfydk,¡ (4) d{kh; dfydk,¡
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127. "Evil Quartet" is related with
(1) Loss of biodiversity (2) Loss of alien species

(3) Loss of standing crop (4) Loss of climax community

",foy DokVZsV" fdlls lacaf/kr gS -

(1) tSo fofo/krk dh {kfr (2) cká tkfr;ksa dh {kfr

(3) [kM+h Qly dh {kfr (4) pje leqnk; dh {kfr

128. Oxidative phosphorylation takes place in
(1) Cytosol (2) Inner membrane of mithochondria

(3) Matrix of mitochondria (4) Oxysome

vkWDlhdkjh QkWLQksfjyhdj.k fdlesa gksrk gS -

(1) dksf'kdknzO; esa (2) ekbVksdkWfUMª;k dh vkUrfjd dyk esa

(3) ekbVksdkWfUMª;k dh esfVªDl esa (4) vkWDlhlkse esa

129. On the basis of number, which of the following is correct descending order for species
(1) Insect, Mollusca, Fungi (2) Crustacean, Fish, Fungi

(3) Fungi, Crustacean, Insect (4) Fungi, Mollusca, Fish

la[;k ds vk/kkj ij fuEu esa ls dkSulk tkfr;ksa ds fy;s lgh vojksgh Øe gS

(1) dhV] eksyLdk] dod (2) ØLVsf'k;u] eNyh] dod

(3) dod, ØLVsf'k;u, dhV (4) dod, eksyLdk, eNyh

130. Consider the following four statements A, B, C, and D select the right option for two correct state ments
Statements :
(A)  Z scheme of light reaction takes place in presence of PSI only
(B) Only PS I is functional in cyclic photophosphorylation
(C) Cyclic phophosphorylation results into synthesis of ATP and NADPH2

(D) Stroma lamellae lack PSII as well as NADP
Options :
(1) C and D (2) B and D (3) A and B (4) B and C

fuEufyf[kr pkj dFkuksa (A, B, C, rFkk D) ij fopkj dhft,A buesa ls dkSu ls nks dFku lgh gSa ;g crkus okyk lgh fodYi

pqfu;sA

dFku :

(A) izdk'k vfHkfØ;k dh Z-Ldhe dsoy PSI dh mifLFkfr esa gksrh gSA

(B) pØh; izdk'k QkLQksfjyhdj.k es dsoy PSI fØ;k'khy gksrk gSA

(C) pØh; izdk'k QkLQksfjyhdj.k ds ifj.kke Lo:i  ATP rFkk NADPH2 dk la'ys"k.k gksrk gS

(D) LVªksek ysfeyh PSII o NADP jfgr gksrh gSA

fodYi :

(1) C rFkk D (2) B rFkk D (3) A rFkk B (4) B rFkk C
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131. The different species of a medicinal plant are found in different parts of himalayan region which bear different
concentration of a chemical ......a........ due to ......b...... This plant is ....c....
(1) a = morphine b = species richness c = Papaver somniferum
(2) a = Quinine b =  - diversity c =  Cinchona officinalis
(3) a = Raserpine b = genetic diversity c = Rauwolfia vomitaria
(4) a = Stramonium b = - diversity c = Atropa beladona

,d vkSf"kf/k; ikni dh fofHkUu tkfr;k¡ fgeky; {ks=k ds fofHkUu Hkkxksa esa ik;h tkrh gSa ftUkesa ,d jlk;u......a.......dh fHkUu

fHkUu lkaærk......b...... ds dkj.k gksrh gS ;g ikni ....c.... gS

(1) a = ekWfQZu  b = tkfr cgqyrk c = isioj lksEuhQsje

(2) a = fDouhu b =  - fofo/krk c =  fludksuk vkWQhflusfyl

(3) a = jsfLiZu  b = vkuqokaf'kd fofo/krk c = jkÅokWfYQ;k oksfeVksfj;k

(4) a = LVsªeksfu;e b = - fofo/krk c = ,Vªksik csysMksuk

132. Potato and sweet potato
(1) Have edible parts which are homolgous organs
(2) Have edible parts which are analogous organs
(3) Have been introduced in India from the same place
(4) Are two species of the same genus

vkyw rFkk ehBk vkyw

(1) [kkus ;ksX; Hkkx ;qDr gksrs gSa tks letkr vax gSaA

(2) [kkus ;ksX; Hkkx ;qDr gksrs gSa tks leo`fÙk vax gksrs gSaA

(3) Hkkjr eas ,d gh LFkku ls iqjLFkkfir gq, gSaA

(4) ,d oa'k dh nks tkfr;k¡ gSaA

133. Photorespiration takes place in
(1) Peroxisome, chloroplast (2)  chloroplast & Mitochondria, ER
(3) Peroxisome, Mitochondria & Golgibody (4) Chloroplast, Peroxisome, Mitochondria

çdk'k 'olu fdlessa gksrk gS

(1) ijkWDlhlkse] DyksjksIykLV esa (2) DyksjksIykLV] ekbVksdkWfUMª;k] ER esa

(3) ijkWDlhlkse] ekbVksdkWfUMª;k] xkWYthdk; esa (4) DyksjksIykLV] ijkWDlhlkse] ekbVksdkWfUMª;k

134. Analyse the diagram carefully and choose the correct option –

(1) [A] - Geometric growth in apical meristem
(2) [B] -Geometric growth in apical meristem.
(3) [A] -Geometric growth in early stage of embryonic development.
(4) [B] -Arithmetic growth in early stage of embryonic development.
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fn, x, fp=k dk fo'ys"k.k dhft, vkSj lgh fodYi pqfu,& –

(1)  [A]  -  T;ferh; o`f) 'kh"kZ foHkT;ksRkd esa

(2)  [B]  -  T;ferh; o`f) 'kh"kZ foHkT;ksrd esa

(3)  [A] -  T;ferh; o`f) Hkzw.kh; fodkl dh izkjafHkd voLFkk esa

(4)  [B]  -  vadxf.krh; o`f) Hkzw.kh; fodkl dh izkjafHkd voLFkk esa

135. In Dianthus, placentation is
(1) Basal (2) Free central (3) Axile (4) Marginal

Mkb,UFkl esa chtkaMU;kl fdl çdkj dk gksrk gS \

(1) vk/kkjh (2) eqDr&dsUnzh; (3) LraHkh; (4) lhekarh;

136. The liquid which is collected in the cavity of Bowman's capsule is
(1) Concentrated urine (2) Blood plasma minus blood proteins
(3) Glycogen and water (4) Sulphates and water

ckseUl lEiqV dh xqgk esa tks æo laxzfgr gksrk gS] og gS

(1) lkUæ ew=k (2) jDr IykTek çksVhu jfgr

(3) Xykbdkstu ,oa ty (4) lYQsV ,oa ty

138. The net pressure gradient that causes the fluid to filter out of the glomeruli into the capsule is
(1) 50 mm Hg (2) 75 mm Hg (3) 20 mm Hg (4) 30 mm Hg

og dqy nkc ço.krk (Pressure gradient) tks æo ds XYkkses#yl lEiqV (Glomerular Capsule) esa fuL;Unu dk dkj.k gS

(1) 50 mm Hg (2) 75 mm Hg (3) 20 mm Hg (4) 30 mm Hg

139. Ultrafiltration takes place in
(1) Blood capillaries (2) Tissue fluid (3) Glomerulus (4) Urinary bladder

vYVªkfQYVªs'ku dh çfØ;k dgk¡ gksrh gS

(1) jDr dSfiyjht esa (2) Ård æo esa (3) Xykses#yl esa (4) ;wjhujh CysMj esa

140. Reabsorption of glucose from the glomerular filtrate in the kidney tubule is carried out by
(1) Active transport (2) Osmosis (3) Brownian movement (4) Diffusion

Xykses#yj fuL;Un ls o`Dd ufydkvksa esa Xywdkst dk iqu% vo'kks"k.k gksrk gS

(1) lfØ; ifjogu }kjk (2) ijklj.k }kjk (3) czkmfu;u xfr }kjk (4) folj.k }kjk

141. When a person is suffering from poor renal reabsorption then which of the following will not help in the
maintenance of blood volume
(1) Decreased glomerular filtration (2) Increased ADH secretion
(3) Decreased arterial pressure in kidney (4) Increased arterial pressure in kidney
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;fn dksbZ O;fDr esa] oD̀d iqu%vo'kks"k.k vR;f/kd de gks jgk gS rks fuEu esa ls dkSu jDr ds vk;ru dks cuk;s j[kus esa enn

ugha djrk gS

(1) Xykses#yj fuL;Un esa deh (2) ,UVhMkb;wjsfVd gkWeksZu (ADH) ds òko esa o`f)

(3) o`ô esa /kefud nkc esa deh (4) o`ô esa /kefud nkc esa o`f)

142. Volume of urine is regulated by
(1) Aldosterone (2) Aldosterone, ADH and testosterone
(3) Aldosterone and ADH (4) ADH alone

ew=k dk vk;ru fdlds }kjk fu;fer gksrk gS

(1) ,YMksLVsjkWu (2) ,YMksLVsjkWu] ADH rFkk VsLVksLVsjkWu

(3) ,YMksLVsjkWu rFkk ADH (4) dsoy ADH

143. What will happen if the stretch receptors of the urinary bladder wall are totally removed
(1) Urine will not collect in the bladder (2) Micturition will continue
(3) Urine will continue to collect normally in the bladder
(4) There will be no micturition

ew=kk'k; fHkfÙk esa mifLFkr LVªspxzkgh dks gVk nsus ij

(1) ew=k dk ew=kk'k; esa laxzg ugha gksxk (2) ew=k R;kx gksrk jgsxk

(3) ew=k dk ew=kk'k; esa laxzg gksrk jgsxk (4) ew=k R;kx ugha gksxk

144. Which of these is not a ketone body
(1) Acetoacetic acid (2) Acetone (3) Succinic acid (4) Betahydroxy butyric acid

fuEu esa ls dkSu dhVksu ckWMht ugha gS &

(1) ,flVks,lhfVd vEy (2) ,lhVksu (3) lDlhfud vEy (4) chVk gkbMªksDlh C;wVkbfjd vEy

145. Nissl’s granules are characteristically found in
(1) Nephrons (2) Neurons (3) Cytons (4) Dendrites

fulYl d.k ik;s tkrs gSa

(1) usÝkWUl esa (2) U;wjkWUl esa (3) lkbVksu esa (4) MsUMªkbV~l esa

146. Nerve fibres conduct impulses in
(1) One direction (2) Two direction (3) Multidirection (4) None of the above

rfU=dk rUrq fdruh fn’kkvksa esa vkosx dk laogu djrs gSa

(1) ,d (2) nks (3) vusd (4) mijksä esa ls dksbZ ugha

147. The brain develops from
(1) Ectoderm (2) Mesoderm (3) Endoderm (4) Meso-endoderm

efLr"d dk fodkl gksrk gS

(1) ,DVksMeZ ls (2) ehlksMeZ ls (3) ,UMksMeZ ls (4) ,UMks-ehlksMeZ ls

148. The following hormones are neurotransmitters
(1) Acetylcholine and secretin (2) Cholecystokinin and acetylcholine
(3) Adrenalin and acetylcholine (4) Cholecystokinin and adrenalin

fuEu esa ls dkSulk gkWeksZu U;wjksVªkUlehVj gksrk gS

(1) ,lhVkbydksyhu ,oa lhØhfVu (2) dksyhflLVksdkbfuu ,oa ,lhVkbydksyhu

(3) ,Mªhusfyu ,oa ,lhVkbydksyhu (4) dksyhflLVksdkbfuu ,oa ,Mªhusfyu
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149. When an impulse passes, the membrane is depolarized and the charge of the cells is
(1) Outside positive and inside negative (2) Inside positive and outside negative
(3) Both sides have zero potential (4) Both sides are electronegative

tc ,d vkosx lapfjr gksrk gS rks f>Yyh fo/kzqfor gks tkrh gS rFkk dksf’kdk vkos'k

(1) ckgj /kukRed ,oa vUnj _.kkRed vkos’k gksrk gS (2) vUnj /kukRed rFkk ckgj _.kkRed vkos’k gksrk gS

(3) nksuksa vksj 'kwU; foHko gksrk gS (4) nksuksa vksj _.kkRed vkos’k gksrk gS

150. One of the following does the same work as is done by nephridia in earthworm
(1) Flame cells in liverfluke (2) Myotomes in fish
(3) Statocysts in prawn (4) Parotid gland in toad

og dk;Z tks dsapq, esa usÝhfM;k dk gS] ogh dke gS

(1) ;d`r d`fe esa ¶yse Tokyk dksf'kdk dk (2) eNyh esa ek;ksVksEl dk

(3) >haxk esa LVsVksflLV dk (4) VksM esa iSjksfVM xzfFk dk

151. Fresh water bony fishes maintain water balance by
(1) Excreting a hypotonic urine (2) Excreting salt across their gills
(3) Drinking small amount of water (4) Excreting wastes in the form of uric acid

vyo.k tyh; vfLFky eNfy;k¡ tyh; larqyu fdl çdkj djrh gSa&

(1) gk;iksVksfud ew=k ds mRltZu }kjk (2) fxy ls yo.kksa ds mRltZu }kjk

(3) de ek=kk esa ty dks ihdj (4) ;wfjd vEy ds :i esa vof'k"Vksa ds mRltZu }kjk

152. Which one of the following statements is correct with respect to salt water balance inside the body of
living organisms
(1) When water is not available camels do not produce urine but store urea in tissues
(2) Salmon fish excretes lot of stored salt through gill membrane when in fresh water
(3) Paramecium discharges concentrated salt solution by contractile vacuoles
(4) The body fluids of fresh water animals are generally hypotonic to surrounding water

fuEu esa ls lgh dFku dks pqfu;s ftlesa tUrq ds 'kjhj esa ty yo.k lUrqyu cuk jgrk gS

(1) ty u fey ikus dh fLFkfr esa Å¡V ew=k ugha cukrs vkSj ;wfj;k dks Årdksa esa lafpr djrs gSa

(2) tc lkyekWu eNyh LoPN ty eas gksrh gS rc ;g viuh Dykse f>Yyh }kjk ,df=kr yo.kksa dk vf/kd ek=kk esa mRltZu

djrh gS

(3) iSjkehf'k;e esa lkfUnzr yo.k nzo dks ladqpu'khy fjfDrdk }kjk ckgj fudky ysrk gSA

(4) vf/kdka'k LoPN tyh; tUrqvksa dk 'kkjhfjd nzo ckgjh ek/;e ls çosf'kr ty ds çfr gkbiksVksfud gksrk gSA

153. Excretory waste of birds and reptiles are
(1) Urea (2) Urea and uric acid (3) Uric acid (4) Ammonia and uric acid

if{k;ksa ,oa ljhl`iksa dk mRlthZ oT;Z inkFkZ gksrk gS &

(1) ;wfj;k (2) ;wfj;k ,oa ;wfjd vEy (3) ;wfjd vEy (4) veksfu;k ,oa ;wfjd vEy

154. The most abundant, harmful and universal waste product of metabolism is
(1) CO2 (2) Uric acid (3) H2O (4) None of these

mikip; dk vR;f/kd gkfudkjd ,oa loZO;kIr oT;Z inkFkZ gksrk gS &

(1) CO2 (2) ;wfjd vEy (3) H2O (4) mijksDr esa ls dksbZ ugha
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155. Refer the following diagram and identify the parts of a kidney indicated
A

B

C

D

E

(1) A=cortex, B=nephron, C=pelvis, D=medulla, E=ureter
(2) A=cortex, B=medulla, C=nephron, D=pelvis, E=ureter
(3) A=nephron, B=cortex, C=medulla, D=ureter, E=pelvis
(4) A=nephron, B=cortex, C=medulla, D=pelvis, E=ureter

uhps fn, x, fp=k esa ukekafdr fd, x, Hkkxksa dks igpkfu,

A

B

C

D

E

(1) A = dkWVsZDl] B = usÝkWu] C = isfYol] D = esM~;wyk] E = ew=kokfguh

(2) A = dkWVsZDl] B = esM~;wyk] C = usÝkWu] D = isfYol] E = ew=kokfguh

(3) A = usÝkWu] B = dkWVsZDl] C = esM~;wyk] D = ew=kokfguh] E = isfYol

(4) A = usÝkWu] B = dkWVsZDl] C = esM~;wyk] D = isfYol] E = ew=kokfguh

156. "Columns of Bertini" in the kidney of mammals are formed as the extension of
(1) Medulla into cortex (2) Cortex into medulla (3) Medulla into pelvis (4) Pelvis into ureter

Lrfu;ksa esa cfVZuh ds LrEHk fuEu esa ls ,d ds yEckbZ esa o`f) gks tkus ds dkj.k curs gSa

(1) eMwyk dk dksVsZDl esa (2) dksVsZDl dk esMwyk esa (3) ewMwyk dk isfYol esa (4) isfYol dk ew=k okfguh esa

157. Podocytes are the cells present in
(1) Bowman's capsule (2) Loop of Henle (3) Duct of Bellini (4) Distal convoluted tubule

iksMkslkbV dksf'kdk;sa mifLFkfr gksrh gSa

(1) cksesUl lEiqV esa (2) gsuys ds ywi esa (3) csyhuh dh ufydk esa (4) nwjLFk laofyr ufydk esa

158. If Henle's loop were absent from mammalian nephron, which of the following is to be expected
(1) The urine will be more dilute (2) There will be no urine formation
(3) There will be hardly any change in the quality and quantity of urine formed
(4) The urine will be more concentrated

Lru/kkfj;ksa ds usÝkWu ls ;fn gsuys dk ywi fudky fn;k tk;s rks

(1) ew=k T;knk ruq gks tk;sxk (2) ew=k dk fuekZ.k ugha gksxk

(3) ew=k ds yo.kksa o ek=kk esa dksbZ ifjorZu ugha gksxk (4) ew=k T;knk lkUnz gks tk;sxk
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159. At which stage of ornithine cycle arginase is used
(1) Arginine - Ornithine (2) Ornithine - Citruline (3) Fumaric acid - Arginine (4) Glycolysis - Urea

vkWfuZFkhu pØ fdlesa Øekuqlkj gksus okyh fØ;kvksa ls lEcfU/kr gSa

(1) vkftZfuu & vkWfuZFkhu (2) vkWfuZFkhu & flVªqfyu (3) ¶;wesfjd vEy vkftZfuu  (4) Xykbdksykbfll ;wfj;k

160. The rate of conduction of impulses in motor nerve of a mammal is
(1) 4 m/sec (2) 10 m/sec (3) 50 m/sec (4) 100 m/sec

Lrfu;ksa dh eksVj raf=dk esa vkosx ds lapj.k dh nj gksrh gS

(1) 4 ehVj@lSd.M (2) 10 ehVj@lSd.M (3) 50 ehVj@lSd.M (4) 100 ehVj@lSd.M

161. After the transmission of one impulse from the synapse, it cannot transmit another impulse because one of
the following chemical is active there
(1) Choline (2) Acetic acid (3) Acetylcholine (4) Acetylcholinesterase

,d raf=dk vkosx ds lapj.k ds rqjUr i’pkr~ nwljk raf=dk vkosx lapfjr ugha gks ikrk gS D;ksafd ogk¡ ij fuEu esa ls

,d jlk;fud inkFkZ lfØ; gksrk gS

(1) dksyhu (2) ,lhfVd vEy (3) ,lhVkbydksyhu (4) ,lhVkby dksyhusLVªst

162. Afferent nerve fibres carry impulses from
(1) Effector organs to central nervous system (2) Receptors to central nervous system
(3) Central nervous system to muscles (4) Central nervous system to receptors

vfHkokgh rfU=dk rUrq vkosx ys tkrs gSa

(1) çHkkoh vaxksa ls dsUæh; raf=dk rU= dks (2) xzkgh vaxksa ls dsUæh; raf=dk rU= dks

(3) dsUæh; rfU=dk rU= ls isaf’k;ksa dks (4) dsUæh; rfU=dk rU= ls xzkgh vaxksa dks

163. Foramen of Monro is an aperture between
(1) 2nd and 3rd ventricle (2) Diocoel and metacoel
(3) Rhinocoel and diocoel (4) 3rd and 4th ventricle

eksujks dk fNæ fdlds e/; ik;k tkrk gS

(1) f}rh; ,oa rr̀h; os.Vªhdy ds (2) Mk;kslhy ,oa esVklhy ds

(3) jkbukslhy ,oa Mk;kslhy ds (4) rr̀h; ,oa prqFkZ os.Vªhdy ds

164. The correct sequence of meninges from outer to the inner side is
(1) Arachnoid – piamater – duramater (2) Arachnoid – duramater – piamater
(3) Piamater – arachnoid – duramater (4) Duramater – arachnoid – piamater

ckgj ls vUnj dh vksj esfuUthl dk lgh Øe gSa

(1) vjsduksbM – ik;kesVj – M~;wjkesVj (2) vjsduksbM – M~;wjkesVj – ik;kesVj

(3) ik;kesVj – vjsduksbM – M~;wjkesVj (4) M~;wjkesVj – vjsduksbM – ik;kesVj

165. Metacoel is the cavity in the
(1) Cerebral hemispheres (2) Diencephalon
(3) Cerebellum (4) Medulla oblongata

eSVklhy ………. dh xqgk gS

(1) çefLr"d xksyk)Z (2) Mkb,uflQsykWu

(3) lsjhcsye (4) esM~;qyk vksCyksaxsVk
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166. Ventricles of brain are lined by the cells called
(1) Ependymal cells (2) Neurons cells (3) Neuroglea (4) Schwann’s cells

efLr"d dh xqgkvksa dks vkLrfjr djus okyh dksf’kdkvksa dks dgrs gS

(1) ,iS.Mk;ey dksf’kdk,¡ (2) raf=dk dksf’kdk,¡ (3) U;wjksfXy;k (4) 'oku dksf’kdk,¡

167. Cerebrospinal fluid is produced by
(1) Ependymal cells (2) Choroid plexus
(3) Neuroglial cells (4) Neurons

çefLr"d-es:æo fufeZr gksrk gS

(1) ,iS.Mk;ey dksf’kdkvksa }kjk (2) dksjkWbM tkyd }kjk

(3) U;wjksfXy;k dksf’kdkvksa }kjk (4) raf=dk dksf’kdkvksa }kjk

168. The normal concentration of cholestrol in plasma is-
(1) 100·mg to 150 mg /100 ml (2) 150 mg to 250 mg /100 ml
(3) 250 mg to 500 mg /100 ml (4) 300 mg to 500 mg /100 ml

IykTek esa dksysLVªkWy dh lkekU; lkUnzrk gksrh gS&

(1) 100 mg to 150 mg /100 ml (2) 150 mg to 250 mg /100 ml
(3) 250 mg to 500 mg /100 ml (4) 300 mg to 500 mg /100 ml

169. Callose is polymer of-
(1) Fructose (2) Sucrose (3) Glucose (4) Xylans

dSykst fdldk cgqyd gS&

(1) Fructose (2) Sucrose (3) Glucose (4) Xylans

170. Which of the following sugar is found in ATP -
(1) Deoxyribose (2) Ribose (3) Trehalose (4) Glucose

fuEu esa ls dkSulk 'kdZjk ATP esa ik;h tkrh gS&

(1) Deoxyribose (2) Ribose (3) Trehalose (4) Glucose

171. True statements for cellulose molecule-
(1) -1-4Iinkage, unbranched (2) -1-4Iinkage, branched
(3) -1-4 linkage, branched. (4) -1-6Iinkage,unbranched

lsY;qykst v.kq ds fy;s lR; dFku gS&

(1) -1-4Iinkage, v'kkf[kr (2) -1-4Iinkage, 'kkf[kr

(3) -1-4 linkage, 'kkf[kr (4) -1-6Iinkage,v'kkf[kr

172. Animal starch (glycogen) differs from plant starch in-
(1) Having short chain branched structure (2) Being reserve food of animals mostly
(3) Give no blue colour with iodine (4) All of the above

tUrq LVkpZ ¼Xykbdkstu½ fdl çdkj ikni LVkpZ ls fHké gS&

(1) NksVh Ja`[kyk dh 'kkf[kr lajpuk (2) vf/kdka'kr% tUrqvksa dk lafpr Hkkstu gksrk gSA

(3) vk;ksMhu ds lkFk uhyk jax ugha nsrs gSaA (4) mijksDr lHkh



RESONANCE Page # 108Page # 108

STPXIII1718

 

173. Which of the following is not a mucopolysaccharide-
(1) Heparin (2) Chondroitin sulphate
(3) Hyaluronic acid (4) Inulin

fuEu esa ls dkSulk E;wdksikWyhlsdsjkbM ugha gS&

(1) Heparin (2) Chondroitin sulphate
(3) Hyaluronic acid (4) Inulin

174. In infants of under 6 months of age, deficiency of protein may cause -
(1) Marasmus (2) Kwashiorkar (3) Rickets (4) Galactosemia

6 ekg ls de vk;q okys cPpksa esa çksVhu dh deh ls gks ldrk gS&

(1) Marasmus (2) Kwashiorkar (3) Rickets (4) Galactosemia

175. The simplest amino acid is-
(1) Tyrosine (2) Lysine (3) Glycine (4) Aspartic acid

ljyre vehuks vEy gS&

(1) Tyrosine (2) Lysine (3) Glycine (4) Aspartic acid

176. In most of the Amino acid metabolism the first step is :
(1) Transamination (2) Decarboxylation
(3) Transamidation (4) Deamination.

vf/kdka'k vehuks vEy mikip; esa çFke in gksrk gS

(1) Transamination (2) Decarboxylation
(3) Transamidation (4) Deamination.

177. The catalytic efficiency of two different enzymes can be compared by the
(1) formation of the product (2) pH optimum value
(3) Km value (4) molecular size of the enzyme

nks fofHkUu ,Utkbeksa dh mRizsjd {kerkvksa dh rqyuk dh tk ldrh gS%

(1) mRiknu fuekZ.k }kjk (2)  vuqdwyu pH  eku }kjk

(3)  Km eku }kjk (4) ,Utkbe ds vkf.od vkdkj }kjk

178. In curve of enzyme catalyzed reaction, the value of velocity of enzyme reaction at point A will be

Vmax

A

KM (S)

Ve
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(1) 
2
1

Vmax  and velocity may increase by increasing tempreture

(2) 
2
1

 Vmax and velocity may increase by increasing substrate

(3) 
2
1

 Vmax and velocity may increase by increasing by catalyst

(4) 2
1

 Vmax and velocity remain constant even changing any factor in to the medium.
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,Utkbe ækjk mRçsfjr vfHkfØ;k ds oØ esa] fcanq A ij ,Utkbe vfHkfØ;k dk D;k eku gksxk &

Vmax

A

KM (S)

Ve
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ci
ty

 o
f r

ea
ct

io
n  

(V
)

(1) 
2
1

Vmax  rFkk rkiØe c<+us ls osx c<+ ldrk gS

(2) 2
1

 Vmax rFkk vfHkdkjd lClVsªV c<+us ls osx c<+ ldrk gSA

(3) 
2
1

 Vmax rFkk mRçsjd c<+us ls osx c<+ ldrk gS

(4) 
2
1

 Vmax rFkk ek/;e esa fdlh Hkh dkjd dh ek=kk c<+kus ls Hkh osx LFkkbZ jgsxk 

179. The curve given below shows enzymatic activity with relation to three conditions pH, temperature and
substrate concentration.

What do the two axises (x and y) represent ?
x - axis y-axis

(1) enzymatic activity pH
(2) temperature enzymeactivity
(3) Substrate concentration, enzymatic activity
(4 enzymatic activity temperature

uhps fn[kk;s x;s oØ esa rhu n'kkvksa (pH, rkieku rFk fØ;k/kkj lkanz.k½ ds laca/k ds lkFk ,atkbe&fØ;k n'kkZ;h x;h gS

blesa

nks v{k (x rFkk y) D;k n'kkZrs gSa \

x - v{k y-v{k

(1) ,atkbeh lfØ;rk pH

(2) rkieku ,atkbe lfØ;rk

(3) fØ;k/kkj lkanz.k ,atkbeh lfØ;rk

(4) ,atkbeh lfØ;rk rkieku
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180. Given below is the diagrammatic representation of one of the categories of small molecular weight organic
compounds in the living tissues. Identify the category shown and the one blank component "X" in it.

Category Component
(1) Cholesterol Guanine
(2) Amino acid NH2

(3) Nucleotide Adenine
(4) Nucleoside Uracil

uhps fn;s tk jgs vkjs[kh; fu:i.k esa latho ÅÙkdksa esa ik;s tkus okys ,d izdkj ds NksVs vkf.od Hkkj okys dkcZfud ;kSfxdksa

dh ,d Js.kh fu:fir dh x;h gSA fn[kkbZ x;h Js.kh dh igpkfu, ,oa mlds Hkhrj "X" fy[kk x;k ?kVd D;k gS] og Hkh

igpkfu,A

Js.kh ?kVd

(1) dksysLVsjkWy Xokuhu

(2) ,sehuks vEy NH2

(3) U;wfDyvksVkbM ,sMsuhu

(4) U;wfDyvkslkbM ;wjSfly
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ANSWER KEY

PART–A (CHEMISTRY)

1. (4) 2. (3) 3. (1) 4. (2) 5. (2) 6. (4) 7. (3)
8. (3) 9. (3) 10. (2) 11. (3) 12. (3) 13. (3) 14. (3)
15. (3) 16. (2) 17. (3) 18. (1) 19. (1) 20. (2) 21. (1)
22. (2) 23. (4) 24. (1) 25. (3) 26. (4) 27. (4) 28. (2)
29. (1) 30. (4) 31. (3) 32. (3) 33. (3) 34. (1) 35. (4)
36. (3) 37. (3) 38. (4) 39. (1) 40. (4) 41. (4) 42. (1)
43. (2) 44. (4) 45. (4)

PART-B (PHYSICS)

46. (3) 47. (2) 48. (3) 49. (3) 50. (4) 51. (3) 52. (3)
53. (2) 54. (3) 55. (1) 56. (4) 57. (3) 58. (4) 59. (3)
60. (1) 61. (1) 62. (3) 63. (2) 64. (2) 65. (4) 66. (1)
67. (3) 68. (1) 69. (4) 70. (3) 71. (2) 72. (2) 73. (4)
74. (4) 75. (2) 76. (3) 77. (2) 78. (2) 79. (4) 80. (1)
81. (2) 82. (2) 83. (2) 84. (4) 85. (2) 86. (2) 87. (3)
88. (4) 89. (1) 90. (4)

PART-C (BIOLOGY)

91. (4) 92. (3) 93. (4) 94. (2) 95. (4) 96. (2) 97. (1)
98. (3) 99. (3) 100. (1) 101. (1) 102. (2) 103. (4) 104. (3)
105. (3) 106. (4) 107. (1) 108. (3) 109. (3) 110. (2) 111. (2)
112. (4) 113. (4) 114. (2) 115. (4) 116. (3) 117. (1) 118. (2)
119. (2) 120. (4) 121. (4) 122. (1) 123. (3) 124. (3) 125. (3)
126. (4) 127. (1) 128. (4) 129. (4) 130. (2) 131. (3) 132. (2)
133. (4) 134. (3) 135. (2) 136. (2) 137 (2) 138. (3) 139. (3)
140. (1) 141. (4) 142. (3) 143. (2) 144. (3) 145. (3) 146. (3)
147. (1) 148. (3) 149. (2) 150. (1) 151. (1) 152. (1) 153. (3)
154. (1) 155. (4) 156. (2) 157. (1) 158. (1) 159. (1) 160. (4)
161. (4) 162. (2) 163. (1) 164. (4) 165. (4) 166. (1) 167. (2)
168. (2) 169. (3) 170. (2) 171. (1) 172. (4) 173. (4) 174. (1)
175. (3) 176. (1) 177. (3) 178. (2) 179. (2) 180. (4)
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